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∂q+1(x) =
∑

y∈Cq(f)

n(x, y)y *���+

��� 
(
�' x ∈ Crq+1(f)� �
�
) n(x, y) �� 
 #���
 ��� �(
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 �
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� L2(Ω) ��
�� ��	��(���� )��( �	�������� ����	%�
��� �� ��� ���!�
����
���

*�  ����� ��	��(� ��� '�	��( +�+�� �
� ������ ���� ������ ��� � ,����� ����	����� 
� Lp(Ω)�

1 < p < ∞�
-������������� ��� %���� �� ���� ������	 ���� �����
�� �� ����� ��
� �� ����� 
� 
���	%�����

�� ��� ��
�� ����

�� ��� �����)
�� ��

���� 

"�����
�� �#���
�� �� R2.

ẋ = 1− x2

ẏ = x2y.

(−1, 0) ��
 (1, 0) ��� ��%�����
� ��
�
��� %�
��� ��
 ����� 
� � �����
�� (u(t), 0) �������
��

(−1, 0) ��
 (1, 0)� /� 
� ���� �� ��� ���� {(x, y) ∈ R2 : x < 1} 
� ��� �������� 	��
���
 ��
(−1, 0) ��
 {(x, 0) ∈ R2 : x > −1} 
� ��� ������ 	��
���
 �� (1, 0)� ��� �������
�� �%����
�� ���� 	��
���
� 
�������� ������������� 
� ����� %�
�� (u(t), 0)� t ∈ R� *����

�� �� ���

%���� �� ���� ������	 ����� ����� 
� � ����
����
�� ��

ẋ = 1− x2

ẏ = 02y.

0�

������ [−1, 1] × {0} 
� ��� ���� �� 
������
 
����
��� ��� �����
�� �� ��
� 1�)� 2��

	
��� ���3������ ���� ��
� %�����	 ����
 �� �������
 �� �� ���
����
�� �	��� %��������
���

4�)����� ����� ��� ���� �&�	%��� )�
�� ���) ���� ��
� 
� ��������� ��� %���
���� ��� %����

��� ���� ������	 ����� ���
�� �� ��� ����	%�
�� ���� 0 
� �� 
������
 ���� %�
�� )
�� ���%���

�� ẏ = A(x)y ��� ����� x ∈ [−1, 1]� 5�) ��� ε > 0 ��
 ����

�� ��� �����)
�� %��������
��

�� ��� ��
�
��� �#���
��

ẋ = 1− x2

ẏ = (x2 − ε2)y =: A(x)y.

��
� 	���� ���� 0 
� ��� 
������
 )
�� ���%��� �� ẏ = A(±ε)y ��
 ����� ��6�
����� �	���

%��������
�� )
�� ����
� ����� %�����	��
� %�
���� 7������	���� ��� ��	���%� 
�
�& �� 0

�����
�� �� ẏ = −ε2y 
� ��� Σ1 �� �����
 ��� Σ0�

 ����� ����� 
� ��� ���� 8
� �����
 �� %���
��� �� �
�� � 	��� ������� 

���� %���� ����� �� �����


� ��� C1 ����9� /� ��
� %�%�� )� %���

� � ����
���� 
�$�
��!

	���
���� %���� ��� � ������	

)�
�� 
� ������� ������
 ��  �����:� ������ 
� ��� C1 ����� /� 
� %���
��� �� ��	%��� ���

��	���%� ������ 
�
�& 
� Lp(Ω) ���� ���� ��� ����	������ 

������� %���

�
 ��� �����
��


� ��6�
����� �������� ;� ���� ������� �����
��� 

6����
�� 
�� �� ��� 
�
$�
��!

	���
����

�
����
��� )�
��� ������������ ��� ��� ������	��

;� ��� ��) 
� � %��
�
�� �� ����� ��� $��� ������� <�� Ω ⊂ RN �� � ����
�
 
�	�
�

��
 ��� ∂Ω �� �� ����� C2� <�� 2 ≤ p < ∞ ��
 f : Ω × R → R� =�%%��� ���� ���

��	��� ��� x ∈ Ω ����� 
� � %���
�� 
��
���
�� fu(x, u) )�
�� 
� ����
����� 
� u ��
 ����

ess supx∈Ω sup|u|≤r |fu(x, u)| < ∞ ��� ��� r ∈ R+� *���	� ������� ���� f ��
 (x, u) �→
fu(x, u) ��� ������>�
��� �����
����
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����	 
���� ����� ������
�
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 �����
���
�� �

�� �������	 
�� �	�
���

ut(x, t) = Δu(x, t) + f(x, u(x, t)) t > 0, x ∈ Ω

u(x, t) = 0 t > 0, x ∈ ∂Ω.
�����

��
 Ap ����
� 
�� �����	� �� −Δ : {u ∈ C2(Ω) : u|∂Ω = 0} → Lp(Ω) =: X �� W 2,p(Ω) ���

����� 
�� ����
���� �����	����
���� ���	�
�	 f̂ ∈ C1(C(Ω̄), Lp(Ω)) 
�

(f̂(u))(x) := f(x, u(x)) x ∈ Ω

�� 
��
 (Df̂(ξ)η)(x) = fu(x, ξ(x))η(x) �����

��	 k �������
�� ��	�� Ap + kI �� � ����
�!� ���	�
�	 ��!��� ������
 	����!��
� ��

���

ξ ∈ Xα �
 �����"� 
��
 ��� �����!����� �� A−Df̂(ξ) �	� 	����

��
 p ≥ max{2, N} A := Ap ��� v : R → Xα 
� � ��
�	������� ���� ����
��� ��

ẋ+Ax = f̂(x) ���#�

��� ������� 
��
 v(t) → e± �� t → ±∞ �� Xα �	���� C(Ω̄)�� $
 �����"� 
��
 v ∈
C1(R, Lp(Ω))� %������� 0 < α < 1 ��	�� ������ "� ��� ��	
��	 ������ 
��
 
��	� ��

� ���
������ ��������� Xα ⊂ C(Ω̄) ���� &�� '���	�� ��(��)��

$� 
�� �����"��� 
���	�� "� "��� 	������ 
	���!�	����
� 
� "����	 ������
���� "���� ��!�


�� ��!��
��� �� ��
 	������ �� 
�� �*��
���� �� ���
�� �
�
�� ��������� ���� ���� &�)��

������� ���� ��� u �� � ������	
���	 
�
� ��
����� �� ���#� ���� u(t) → e± �� t → ∞ ��

Xα ������ C(Ω̄)� ��� ������� ����

��� e+, e− ��� �������
�	 ����
������

��� ��� ����� ����	�� ������� m(e−) = m(e+) + 1�

�#� �

 �������
��� �� A−Df(e±) ��� ��
�
��

�+� eλt(u(t)− e+) 	→ 0 ��� ��
� λ ∈ R� ���

�,� ����� ��

 ������� ��� C(Ω̄)� 
�
� ��
����� ��

ẏ +Ay = Df̂(u(t))y

�� � 
�
���
� �� u̇�

���� ��� ��
����� ���
�� ����� h(π, ū) �� ū := cl{u(t) : t ∈ R} �� ��

 ��!��� ��� ������
�

���� ��� h(π, ū) = 0̄� ����� π ������� ��� ��
�"�� ���	� �� ����	�� �� 
�
� ��
������ ��

���#��

%����
���� ����	��� 
��
 
�� ������
���� �� '���	�� ��� ���� ��	 �!�	� ��
�	������� ����

����
��� �� ���#� �	� ��������� �� 
�� �����"��� ���
���� $� !��" �� 
�� �	�"
� �����
��� ��

'���	�� ��� �
 ������ 
� ��
�� 
��
 �� &��) -�����! ��!�� �� �*����� �� �� �.��
���

Δu = q(x, t)u

�� 
�� 
�	��/����������� 
�	�� "���� ��� � ���/
	�!��� ����
��� u(x, t) "�
� |u(x, t)| ≤ Ce−ct2

��	 ���� 	��� ����
��
� c, C�

'���	�� ��� �� �	�!�� 
� 	������� 
�� ����	�� �	�
��� ��
��.���
�� 
� � ������� ���� 
��

����
��� ����* �� "���� ��� 
� �������
���

$
 �����"� �	�� '���	�� #�� 
��
 u(t) ��
����� 
�� ����
����� �� 0	�����
��� +�+� '��	���	� 

"� ��� ����� '���	�� ,��� "���� �� 
�� ���� 	����
 �� 1��
��� , ��� �
�
�� 
��
 
��
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����	� 
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 �
�� �������

�������� ��	
� �� ū 

�����
 �� π 
����� ��
 �������� ��	
� �� � �������
 ���
�
 ��
�

�
�	��� �
������

��
 ��
����

 �� � �

���� ����� �� ���
�
 ��
� �
�	��� �
������� ����� �
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	 �� �

�
����� ���	�
� �� 	������
	 �� �
����� �� ��
�

� ��� �� ��
 ���� 

���� �� ���� �
����� ��	

�����
�
� ��
 �
��� �� ��
�

�  � �

�� �� �����	
	��� ��� ������	��
 ����	�

!
 �������
 ��
���" ���� ��
 �
����� π ���
�	��
	 �� ��
 �

����� �
������ ������
 ����

u �� � �������� �� π ��
 ����� ��
 ����������� �� ��
�

�  � ���	� #�
 
��� �� ��
 
������
��

e− ��	 e+� ��


 �

 A − Df(e−)$����
���� %

��� A − Df(e+)& �������
� E−(e−) %

���

E−(e+)& ��������
	 ���� {Reσ(A−Df(e−)) < 0} %

��� {Reσ(A−Df(e+)) < 0}&�
'� E = E1 ⊕E2� �
 �
�� ���� E1 ��	 E2 �

 ����
	 ���
�
 �������
� �� � ��
�
	 ����
 E

���� E1 ∩E2 = {0} ��	 E = E1 +E2� ��
 ��������� �
�(
����� P : E1 ⊕E2 → E1 �� "��
�

�� P (e1 ⊕ e2) := e1�

)
���	
	 ���� ��
 ����������� �� ��
�

�  � ���	� �
 ������ ���� dimE−(e−) = dimE−(e+)+

1 =: n+1 ��
 ���
 n ∈ N� *
� {x1, . . . , xn+1} �
 � ����� ��
 E−(e−) ���������" �� 
�"
��
���
�

�� A−Df(e−) ��	 �
� {y1, . . . yn} 	
���
 �� %�
���
�
�& ����� ��
 E−(e+)� ��
�
 ���
� 	
��


������
�
 �����
������ Φ−1 : Rn+1 → E−(e−)� Φ̂−1 : Rn → span{x1, . . . , xi−1, xi+1, . . . , xn+1}�
��	 Φ1 : Rn → E−(e+)� ��


 �
 �
�

Φ−1(μ1, . . . , μn+1) :=
n+1∑
k=1

μkxk

Φ̂(μ1, . . . , μn) := Φ−1(μ1, . . . , μi−1, μi+1, . . . , μn+1)

Φ1(μ1, . . . , μn) :=
n∑

k=1

μkyk.

Φ−1 ��	 Φ1 ��	��
 �
�
��������� ���� ��� ��
� ��	��
 �����
������ �� ����
��
	 �����


����
��� 〈o−1〉 : Sn+1 → C(π, {e−}) %

��� 〈o1〉 : Sn → C(π, {e+})&�
+�	

 ��
 ����������� �� ��
�

�  � � �� ���	� ���� ‖u(t)− e−‖−1

α (u(t) − e−) ����

"
�

�� �� 
�"
��
���
 ±xi �� A − Df(e−) �� t → −∞� !
 ��� ��
��

 �����
 ���� ��


 ��

�� 
�"
��
���
 η �� A − Df(e+) ���� ‖u(t)− e+‖−1
α (u(t) − e+) → η �� t → ∞� η �
���"�

�� �� 
�"
�����
 λ > 0� ,� ��


 �� �� A − Df(e+) ����
���� �������
 F �� X ���� ����

X = E−(e+)⊕span{η}⊕F � ��
�� ��
 ��
"
 t ∈ R� ��


 �� � 	
����������� �� X� ����� 	
��
�

� ������ P (t) : E−(e+)⊕ span{u̇(t)}⊕F → E−(e+) �� ��������� �
�(
������� #�
��

��

�

�
� Πt 	
���
 ��
 �
��"
��� ��������
	 ���� ��
 �
����� π� ���� ��� Πt(x) = xπt� t ∈ R+�

,� ������� �
�� ��
 ����������� ����� ��
 
�

� t ∈ R+� Πt �� ������������ 	�-


������
�

!
 ��� �����	

 � ���
�
 ��

���
 Rn → Rn.

C(t,Δ, u) := Φ−1
1 ◦ P (t+Δ) ◦DΠΔ(u(t)) ◦ Φ̂.

,� 	
��
��
� ��
 "
��
�
���� ����
����� �
�� E−(e−) �� E−(e+) "��
� �� ���
�
�/����� �� π

����" u� *
� δ(u) := lim(t,t+Δ)→(−∞,∞) sgn detC(t,Δ, u)�

�������  �0� ������� ��	� e− 	
� e+ 	�� �
�������� ���������	� ���
� ��� ����
 ���������
��

�������
 u(t) ����� �	������

% & u(t) → e± 	� t → ±∞�



�� ����� ����	�
� �



��� ‖u(t)‖−1
α u(t) → νxi �� t → −∞� ν ∈ {−1, 1}� ���

��� ��� ���	
���
�� 
� ���
��
 ���

�� �
��� ���� δ(u) �� ���� ������ ���

∂q ◦Hq〈o−1〉 ◦ μq = ν · (−1)1+i · δ(u) ·Hq−1〈o1〉 ◦ μq−1.

����� ∂q : Hq〈π, {e−}〉 → Hq−1〈π, {e+}〉 ���
��� ��� q��� �
�������� �




�����
 ���
���

���� ���� u� ����� �� ��� �
�������� �




�����
 ���
������ ���� (u(R)∪{e−, e+}, {e+}, {e−})�

��� ���	
�� �	

	�� ���������
� �
	� ���	
�� �����

�� ����� ��	�
���

��� K �� �� ��	
���� π�����
���� ��� ��������� � ��
	��
� ��������
� ��	
����� ������	
�		��

���� K �	������ �����
� ���� �� ��
��
��� ! ""	�� ���� �	
 ���
� � 

 �	
 ��	� u : R → K

	�� 	� ��� �	

	���� �
��
������� �	
��#

�$� u ≡ e% e �� � ��"�
�	
�� �� �
��
� �

��� ���
� �
� �� �
��
�� e± � �� ���� ��� &	
�� ������� ������� m(e+) < m(e−)− 1 ���

u(t) → e± �� t → ±∞
��� ��� ��� �"��	�� 	� ���	
�� $�$ �
� �������� �	
 u

'� ���
���
�% �� �	 
� ��� �� ���� ��� ��� �"��	�� �� ��� ��������� 	� !����	� � �� (��"��


) �	
��

*	
 ���
� �� �
��
� � e% ��		�� �� �	
��
��� ����� B(e) 	� ���������	
� �� "	����
��� ��� ���
�
�� ����� � �	�������� 	
���� Γ% ��� 
�� u �� � �	
 ��	� 	� π ��	�� �
��� �� ��� �	�������� 	
����

��� sgnu := ν(−1)1+iδ(u) ���
� ��  �� ��� �	����	� 	� ���	
�� $��� +�,�
��� ��	���� 	�

u �	
 ��� ���� �	�������� 	
��� ���
� ��� ���� � ���
% �	 �� ��� ����� sgn(Γ) := sgn(u)�

-	�� ���� sgn(u) ��"���� 	� ��� ����� B(e) ��	��� ��	���

-	�% 
�� e, f ∈ K �� �� �
��
��% ��� 
�� C(e, f) ���	�� ��� ��� 	� �

 	
���� �	�������� �����

.���� ��	 �� �
��
�� e, f ∈ K% ��� ��� 	� 	
���� �	�������� ���� �� ����� ������ )�$���

/����% ��� �������	� n(x, y) :=
∑

Γ∈C(x,y) sgn(Γ) ��0�� ������ 1� ��� �	� "
	���� �� ��

��� �������	� 	� ��� &	
���!��
��1����� ����� �	�"
�2% ����� �� "
������� �� ��� ���������

	� ���� ���"��
# 
�� Cq% q ∈ Z% ���	�� ��� �
�� ���
��� �
	 " ����
���� �� ��� ��� 	� �� 
��
��

���� &	
�� ����2 q% ��� 
��

∂q+1(x) =
∑
y∈Cq

n(x, y)y.

3
	"	����	� )�� ��� 3
	"	����	� )�$) ��"
� ���� ��� ����� �	�"
�2 WN ������ �� ���"��


) �� ��	�	
"��� �	 (Cq, ∂q)q∈Z� 1� ��� �� � �""
� 3
	"	����	� )�$4 �	 	����� ���� ���

�	�	
	�� 	� WN �� ��	�	
"��� �	 ��� ���� 
�
 �	�	
	�� 	� ��� (	�
�� ����2 	� K� �	 � �

��  "#

������� $��� �
� ����� q ∈ Z� ����� �� �� ��


�����


Hq((Cq̃, ∂q̃)q̃∈Z) ≈ Hq〈π,K〉.

���� �������	
�� �������

 ��
 
�	��
��
 
� ���� � ���	� �
� �� 
��	�	��	�� e 
��� 	� ��
�
 	� � �
�
�
��	�	�

�
���	
� u : R → K �	�� u(t) → e �� t → ∞ 
� t → −∞�
��

 �
��	�	
� ����





������� �

������������	

�� ��� ����	��
�	�


	
� �
� ���� 
� �
����������� �� ���� ���� ��

�� �
� �
� ��
������� 
� �
� ��������� 
�����
�

���� � 
��!

����� �!"� ��� 1 ≤ p < ∞� f̂ ∈ C1(C(Ω̄), Lp(Ω)) ����

(Df̂(u)v)(x) = fu(u(x))v(x) #�!"$

�����	�
 fu(u(x)) �� ��
����

����	� %� �� ����� �
�� f̂ �� ����&��'��� ����� Ω ��  
�����! (�� u,Δ ∈ C(Ω̄) ���

h ∈ [0, 1]! %� �
��
�� �
�� M := suph∈[0,1] ‖u+ hΔ‖ < ∞ ���  ) �
� ��������
�� 
� �
��

�����

C := sup
x∈Ω |u|≤M

|fu(x)| < ∞.

	
� ����) n ∈ N ��� ���
�� ����) x ∈ Ω� �
��� �� � θ = θ(x, n) ∈ [0, 1] ���
 �
��

h−1(f(x, u(x) + hΔ(x))− f(x, u(x))) = fu(x, u(x) + θhΔ)Δ(x) → fu(x, u(x))Δ(x)

�� h → 0!

*
��
���� �� 
���
∣∣∣h−1(f̂(u(x) + hΔ(x))− f̂(u(x)))

∣∣∣ ≤ C‖Δ‖C(Ω̄) �
� ���
�� ��� x ∈ Ω �


�
�� (� �����+� �
�
��� 
� �
������� �
��������� ������� �
�� h−1(f̂(u+ hΔ)− f̂(u)) →
Df̂(u)Δ� �
��� Df̂ �� �����  ) #�!"$! 	
� ����) u ∈ C(Ω̄)� �� 

��� �
�� Df̂(u)v ∈
L(C(Ω̄), Lp(Ω)) ���
 ∥∥∥Df̂(u)

∥∥∥ ≤ C.

	
� v, u1, u2 ∈ C(Ω̄) ���
 ‖v‖ ≤ 1� �� 
���

∥∥∥Df̂(u1)v −Df̂(u2)v
∥∥∥ =

⎛
⎝∫

Ω

|(fu(u1(x))− fu(u2(x)))v(x)|p dx

⎞
⎠1/p

≤

⎛
⎝∫

Ω

|fu(u1(x))− fu(u2(x))|p dx

⎞
⎠1/p

.

�
� ��� ũn → u �� C(Ω̄)! %� �
��
�� ��  ��
�� �
�� �
��� �� � ���� �
������ C ′ ���
 �
��

|fu(ũn(x))| < C ′ �
� ��� n ∈ N ��� ���
�� ����) x ∈ Ω! ������
∫
Ω

|fu(ũn(x))− fu(u(x))| dx →

0 �� n → ∞  ) �
������� �
���������! �
�� �

�� �
�� Df̂(ũn) → Df̂(u)� ��
���� �
�

�
�������) 
� u �→ Df̂(u)! �

�



� �� �������	
����

����� ���� �� �������� �� ��	 �

��
����
 �� �	��� ���� 
�

�
	 ���� ��� 	�	�� r ∈ R

��	�	 	��
� ���
����
 δ > 0 ��� C ∈ R+ 
��� ����

ess supx∈Ω sup
|u1|,|u2|≤r

|fu(x, u1)− fu(x, u2)| ≤ C|u1 − u2|δ.

��	� ��� 	�	�� 1 ≤ q ≤ ∞� Df̂ : C(Ω̄) → L(Lq(Ω), Lq(Ω)) �
 ������� ����	� ���������
�

����� �� �	
��
 ������ Df̂ �� Lq(Ω) �
 ����	��

(Df̂(u)v)(x) := fu(x, u(x))v(x) x ∈ Ω u ∈ C(Ω̄) v ∈ Lq(Ω).

����	� ��� ����
 u ∈ C(Ω̄)� �� ����∥∥∥Df̂(u)v
∥∥∥
Lq

≤ sup
x∈Ω

|fu(x, u(x))|‖v‖Lq

��� ��� v ∈ Lq(Ω)� ��� r > ‖u‖C(Ω̄) ��� ũ ∈ C(Ω̄) �	�� ‖ũ‖ < r� �
 ��� ����
��	���� �����

��� δ > 0 ��� C ∈ R+ ���� ���� ��� ����
 x ∈ Ω�

|fu(x, u(x))− fu(x, ũ(x))| ≤ C|u(x)− ũ(x)|δ.

�� ������� ���� ∥∥∥(Df̂(u)−Df̂(ũ))v
∥∥∥
Lq

≤ C‖u− ũ‖δC(Ω̄)‖v‖Lq .

�

�� ��������

�������� 
��� �� ��� �����	�� 	� 
��� �� ���� ��������� � ������ �� �

���� ������ �� �����

�� 
���	����� R+  ����� R−! ������� ��� ��� �� ��� ���"�����	��  ����� ���"�����	��! ����

��
����� Wu ��� W s ������ �������� �������	���
 ������ 
��	������ ��� ����	�� 
���	��

	� �	��� ���� ���
 ��� ����� σ 	� ���� �� ���	����� ��� �������
 �� �� ��������� #�� ����

 ����� ������! ���� �	�� ���	�� r ��� ������ x 	� ������� �
 Br(x)  ����� Br[x]!� �� X 	� �

���� ���� #X ������� ��� ����	���	�
 �� X�

$� �	�� ���%�����
 ���� �	�� ��	�	�� ������ �������� #��
 ��� ����	����� �� ����	�����

��
	�	�� U(x)� x ∈ [a, b]� �� ������ ����� ��
�
����	�
�� $��� �� ������	�� ��� ��	��� ��

�	�� 	����	�
 U �	�� 	�� 	
���� &��� �	'� ��� �����	�� �� ��� �������
 	� ������
 �����������

� 
��� ����	��� �����	�	�� �� ��	� ���
	�����
 ��� �� ����� 	� ��� ������	��

(	��� ���
�� ������ X ��� Y � ��� � ����	����� �	���� �������� F ∈ L(X,Y )� ‖F‖X,Y

	� ���� ��
��	
�� �� 
�'� ��� ���
 ���
�	������ ISO(X,Y ) ������� ��� ��� �� ��� F ∈
L(X,Y ) ��	�� ��� ����	���� 	��
����	�
�� #�� ���	�� �� �����	���� ����� ������ �������

)	
*� �� F ∈ L(Xα, Xβ)� ���� ‖F‖α,β ������� ��� �������� ���
�

�	����
� 	� X� Y ��� �������	��� ������� f : X → Y 	� � ��
��
����	�
� ��� π 	� �  �����!

��
	+�� �� X� ���� f [π] 	� ��� ��
	+�� �� Y ��	�� 	� ����	��� �
 ���&����
� ���� 	�� u 	�

� �����	�� �� π 	� ��� ���
 	� f ◦ u 	� � �����	�� �� f [π]�


� ��
�������� �����

,������ ���� ��� ����
��	��� �� ��

� ��� ���� �� ���� Df̂ : C(Ω̄) → L(L2(Ω), L2(Ω)) 	�

������
 �-���� ����	������

��� u(t) �� � 
	�� �����	�� ��  .�/! ��0��� ��� ��� t ∈ R+ �	�� u(0) 	= e+ ��� u(t) → e+

	� C(Ω̄) �� t → ∞� u(t) ��� � ����	����� ���	���	�� u̇ : R+ → X = Lp(Ω)� ,������ ����



�� ������	
���
�� 
���������
�
�� ��� ����
� �������
��� �

λ(u) := sup{μ ∈ R+ : eμt‖u(t)− e+‖α → 0 �� t → ∞} = ∞� ���� ��� eλt‖u(t)− e+‖α → 0

�� t → ∞ ��	 �

 λ ∈ R+�

�
��
 B(t) ∈ C(R+,L(L2(Ω), L2(Ω))) �� (B(t)y)(x) := fu(x, u(x))y(x) ���

B(∞) ∈ L(L2(Ω), L2(Ω)) �� B(∞)y(x) := fu(x, e
+(x))y(x)� ��
 �� ��
 ��
�
	�����������

�� Df̂ � ��
	
 �� � 	
�
 ��������� C̃ ���� ‖B(t)−B(∞)‖ ≤ C̃e−t ��	 �

 t ∈ R+�

���� u̇(t) �� � ��
� ��
����� ��

ẏ +A2y = B(t)y,

��
	
 �
 ���
 X := H := L2(Ω)� ��� α = 0�

����� ��
 ���������� �� ��
 ���
����� Lp(Ω) ⊂ L2(Ω) ��� �
��� �� � �� ��

��� ����

eλt‖u̇(t)‖2 → 0 �� t → ∞ ��	 �

 λ ∈ R+�

!
 ��� �""
� #	�"������� ��$� ��� ������ �� ε > 0 ���� ���� u̇(t) = 0 ��	 �

 t ∈ R+ ����

sup
s≥t

‖B(s)−B(∞)‖ ≤ ε2.

�
�

t0 := inf{t ∈ R+ : u̇(t) = 0}
��� �����
 ���� 0 < t0� %�	 �

 t̃ ≥ t0� �� ��

��� ���� u(t̃) = e+ ��� B(t̃) = B(∞)� ��� ��

��
 ���������� �� u(t)� ��
	
 �� �� 0 ≤ t̃0 < t0 ���� sups≥t̃0
‖B(s)−B(∞)‖ ≤ ε2� !
 ����

��&
 u̇(t) = 0 ��	 �

 t ≥ t̃0� � ����	�������� �� ��
 ������
��� �� t0�

�
��� �� ��� ��"
�
� ���� λ(u) = λ(u̇) < ∞�

�� ������	
���
�� 
���������
�
�� ��� ����
� �������
���

'� ��� �

� ����� �� (�) ���� �
�
	���

� *���� 	
�"
�� �� ��
 ���
��
�	���+ �

 
,��
��	�� �	


��"
	��
��� ��
 
��
�&�
�
� �� ��
�	 
��
�	�-������ �	
 ���"

� ��� ��
�	 	
�"
���&
 ����

 ���

������

 ������
�� ���
	�
�� �	���&
	��

��

.� �
	
��� ���
� �� (�)� �� �� ��� �
�
���	� �� �����
 ��
 
/���
��
 �� �
���
 ����

 ������
���

'��

�� � ��0��
�� ��������� ��� �
 ��	��
��
� ��


� �� �
	�� �� ��
 
��
�	 
,�������

1� ���� ���� ��
 �����"����� �� 1�
�	
� $�$ ��
� �� ��
 ���
 �� �	���&
	��
���� 

� e+, e− ∈
Xα �
 ��"
	��
�� 
,�
��	�� ���� 2�	�
 �����
� m(e+) = n ��� m(e−) = n + 1 ��	 ���


n ∈ N� ��� 

� u(t) �
 � ��
� ��
����� �� *$��+ ���� u(t) → e± �� t → ±∞�

1�
 ����
����
 �"��
� �	
 ���	���
	�-
� �� (�� �
��� 3���$)� 1	���
��
� �� ��	 �������� *�



�
������� 4�4+� �
 ��&


Tu(t)W
s(e+) = B+(Tπ, u(t))

Tu(t)W
u(e−) = B−(Tπ, u(t)).

5���
 codimTu(t)W
s(e+) = dimTu(t)W

u(e−) − 1 *����� ��
 2�	�
 �����
� �� e±+� ��
 ���

dim(B+(Tπ, u(t))∩B−(Tπ, u(t))) = 1� ���� ��� 
&
	� ��

 �����
� *�� Xα+ ��
� ��
����� ��

ẏ +Ay = Df̂(u(t))y *6�6+

�� � ��
��"

 �� u̇ �� ����
� �� ��
 �����"����� �� 1�
�	
� $�$� 7� ���	�
� �� v : R → X =

Lp(Ω) �� � ��
� ��
����� �� *6�6+� ��
� v(t) ∈ Xα ��	 �

 t ∈ R ��� supt∈R ‖v(t)‖α < ∞�



� �� �����	�
�����

�� ������ 	�
��

��� ������� �	 
��� ���
��
 �� 
� ���� � ����
 �������� ���� 
�� ���
 �����
�

 ��
���
�

�	 ��
��� �
��� 
����� 	�� �������� �
 ��
��� ������� � ���� ��
����� ������
��
 ��
 ��

	��
� �
 ��� �
� �
���

��
 B �� � 
���������� ����� �
� A ⊂ B� ��
 (Ã, B̃) := (A,B) �	 B 	= ∅ �
� (Ã, B̃) :=

(A ∪ {∗}, {∗}) ��
����� ��
� 
�� ��� 
������� �
�������� !���" �� ������ 
��
 ∗ 	∈ A�

#�� ��
 A/B ��
�
� 
�� ��
 �	 �$������
�� ������� �
 Ã ����� a, ã ∈ Ã ��� ����
�� �	 
���

��� �$��� �� {a, ã} ⊂ B̃� A/B �� �$������ ��
� 
�� $��
��

 
��������

��
 π �� � ����� ������� ��%
�� �
 � ��
��� ����� X� � �����
 S ⊂ X �� ������ ���������

�	 	�� ����� x ∈ S 
���� ����
� � 	��� ����
��
 u : R → S �	 π 
������ x 
��
 ��" u(0) = x�

��
 Y ⊂ X" (xn)n � ��$��
�� �
 Y " �
� (tn)n � ��$��
�� �
 R+ ���� 
��
 tn → ∞ �
�

xnπ[0, tn] ⊂ Y � Y �� ������ ����		�
�� �	 
�� ��$��
�� �	 �
����

� xnπtn �� ���������


	�� ����� ���� ���� �	 ��$��
���� &� ��� 
��
 π �
�	 �
� ����
�� �� Y �	 	�� ����� x ∈ X

��
��� xπt �� ��%
�� 	�� ��� t ∈ R+ �� 
���� �� � t0 ∈ R+ ���� 
��
 xπ[0, t0] �� ��%
�� �
�

xπt0 	∈ Y � Y �� ������ 	��
���� π�����		�
�� �	 �
 �� ���������� �
� π ���� 
�
 ������� �
 Y �

#�� ��
 Z ⊂ Y ⊂ X� Z �� ������ Y ��
	������� ��������� �	 �
 ����� 
��
 xπ[0, t] ⊂ Y ���
����

xπ[0, t] �� ��%
�� �
� xπ[0, t] ⊂ Z�

Z �� ������ �
 ���� ���� 	�� Y �	 	�� ����� x ∈ Y ��
� xπ[0, t] ��%
�� �
� 	⊂ Z" 
���� �� �

t0 ∈ [0, t0] ���� 
��
 xπ[0, t0] ⊂ Y �
� xπt0 ∈ Z�

���������� '�( �)�%
�
��
 '�* �
 ��� � � ���� (N1, N2) �� ������ �
 �������� ���� 	�� (π, S)

�	+

�, N1 �
� N2 ��� ������ �����
� �	 X ��
� N2 ⊂ N1 �
� N2 �� N1-����
����� �
�����

.

�' N2 �� �
 ���
 ���� 	�� N1.

�( S �� ������" S ⊂ intX(N1 \N2) �
� S �� 
�� ������
 �
�����

 ��
 �
 clX(N1 \N2)�

������ 
��
 
���� ����
� � �
��
��� π-���������� �����
�
� 
����������� N 	�� S" 
��
 ��"

N ⊂ X �� � ������ �
� �
��
��� π-���������� 
����������� �	 S ���� 
��
 S �� 
�� ������


�
�����

 ��
 �
 N � ���
 
�� ����
��� ��
��� �
��� h(π, S) �� ��%
�� 
� �� 
�� ����
���


��� �	 (N1/N2, {[N2]}) ����� (N1, N2) �� �
 /0-�
��� ���� 	�� (π, S) ���� 
��
 clX(N1\N2)

�� �
��
��� π-�����������

��
 u(t) ��
��	� 
�� ������
��
� �	 ������� ,�, �
� ��
 π ��
�
� 
�� ������� �
 Xα �
�����

�� ���� ����
��
� �	 �,�( � ���
 S := ū �� �
 �����
�� �
�����

 ��
 ����

�
� � �
��
���

π-���������� �����
�
� 
������������ 1
 ���
������" 
�� ����
��� ��
��� �
��� h(π, ū) ��

����-��%
�� �
��� 
���� ������
��
��

/��
�������" {π, ū, e+, e−) �� �
 �

���
��-�������� ���������
��
 �	 ū� 2������ �� ��� ����


�
 ����
���� �

���
��-�������� ���������
��
 (π, S,A,A∗)� � 
����� (N1, N2, N3) �� �
 ���

����� ������ 	�� (π, ū, A,A∗) �	 (N1, N3) �� �
 /0-�
��� ���� 	�� (π, ū) �
� �	 (N2, N2) �� �


/0-�
��� ���� 	�� e+� �� � ��
��$��
��" 
�� ��$��
��

Δ(N2/N3)/Δ{[N3]}
i ��Δ(N1/N3)/Δ{[N3]}

p ��Δ(N1/N2)/Δ{[N2]} �'�( 

�� ���3�� ����
� !���" Δ ��
�
�� 
�� ��
����� ����
 	�
�
��" ����� ������ � 
���������� �����


� �
� ��
����� ����
 �������� 4�
������" � ��$��
�� �	 ����
 ����

C1
i ��C2

p ��C3



�� ������ 	�
�� �

�� ������ ���	�
 ����� �
 p ◦ i = 0� ker i = 0� ��� [x] �→ p(x) ������� �� �����������

Hq(C2/ im i) → Hq(C3)� ����� �� � ��������� 
������ ����� ������ ���	�
 ����� ���������

�
 ����� ���� �� ���� ����� ��������� �� �������� �������
� ����
��� ���� 
������ �� ������

��� � ����� � ���� ����� ��������

��Hq+1(N1/N2, {[N2]})
∂q+1 ��Hq(N2/N3, {[N3]}) ��Hq(N1/N3, {[N3]}) �� .

!���� ����� ��������� ��� ������ ������
� �� ���� �  ������� ���� ���������  


��Hq+1[N1/N2]
∂q+1 ��Hq[N2/N3] ��Hq[N1/N3] �� .

���  ������
 �������� (∂q)q∈Z �� ������ ��� ���������� ������������ ���������� ����

��� ���	�
 ����� �������� ��� �
 ������������ ��� ���������"�������� �������������� #� ���

������� �
 � ������������ �������� u� ��� ���������� ������������ ���������� ���� u ����

������ ��� ���������� ������������ �
 ū = cl{u(t) : t ∈ R}�
$� ���� 
��������
 ��� ��� ������ �
 S"���������
� #� ���  ��� ��%��� �� &��� '�%������

#�(��()� *�� Λ  � � ������ ����� ��� (πλ,Kλ)λ∈Λ  � � 
����
 
�� ����� ��� 
�������� �����+

�(� πλ �� � ����� ����,�� �� X-

��� ����� �� � �������
 πλ"������� �� ��������� ����� ������ Nλ 
�� Kλ �������� �� πλ-

��� �������� λn → λ �� Λ� ���� πλn → πλ� Nλ �� � �������
 πλn "������� �� ���������

����� ������ 
�� Kλn �������� �� πλn � ��� Nλ �� (πλn)n"������� ���

����� ���������� ��� ���������� �� ��� �������� ��%�������





������� �

�������� ��	
�
���� 
������
� �����
���

	
� H �
 
 �

� ����
�� ��
�
� 
�� �
� AH : D(AH) ⊂ H → H �
 
 �
�����
� ��
�
��� ����

��
�

��� AH �
� ����
�� �
����
���

� � AH �� �
��
�! �
"�
��

��� Reλ > 0 #�� 
�� λ ∈ σ(AH)$

	
� X �
 
 �

� %
�
�� ��
�
 &��� ���������� ��������� X ⊂ H� 
�� �
�

A : D(A) ⊂ X → X

�
 
 �
�����
� ��
�
��� ���� ��
�

��� A �� �
��
�! �
"�
��

� � A �
� ����
�� �
����
���

��� Ax = AHx #�� 
�� x ∈ D(A)$

'�( α ∈ [0, 1[� �
�Xα �
���
 ��
 α)�� #�
�����
� ��&
� ��
�
 ��

 *��+�� 
�� �
� f ∈ C1(U , X0)

&�
�
 U ⊂ Xα �� ��
�$

,
 ������
� ���� ��������� �# ��
 �
���! �����
�

ẋ(t) +Ax(t) = f(x(t))

x(0) = x0, ��$��

&���� �����
 
 ���
� �
��-�& �� Xα � *��� ��
��
� �$�$�+� *�� ��
��
� �$�+�$ ���� �
��-�&

�� �
���
� �! πf � �
��
����
�! π &�
�
�
� ��
 �

���. �� ��

�$

���������� �$�� '�� u : [0,∞[ → Xα� �
�

λ(u) := sup{γ ∈ R : eγt‖u(t)‖α → 0 
� t → ∞}.

	
����� �$ � ��� u : R → Xα �� � ������	
���	 
�
����� �� ��$�� ����

u(t) → e− t → −∞
u(t) → e+ t → ∞.

��� ��	� e ∈ {e−, e+}� �

��� ���� A − Df(e) �
 �������
�	 ��� ���� ��� 
��	���� σ(A −
Df(e)) 	��
�
�
 �� �
�
���� 
���
� �������
��
� �

 �� ���	� ��� ���
� �

��� ������� ����

λ(u− e+) < ∞ ���������� ��� �

������� ρ+(v, t) :=
∞∫
t

‖v̇(s)‖α ds� ��� ��

����� ��
�
!

��� "���� �
 � 0 < λ+ ∈ σ(A − Df(e+)) ��� �� �

�	����� �������	��� η+ 
�	� ����

ρ+(u, t)−1u(t) → η+ �
 t → ∞
��� ����� �
 ������� 
�
����� v+ �� ��$�� ������ ��� �

 t ≥ 0 
�	� ����

�



� �� ������	� �
��
��
�� ������
�	 
��������

��� ρ+(v+, t)−1v+(t) → −η+ �� Xα �� t → ∞�

���	�
	�� ��
� ρ−(v, t) :=
t∫

−∞
‖v̇(s)‖α ds�

��� 
�	�	 �� � 0 < λ− ∈ σ(A − Df(e−)) ��� �� �������
	� 	��	�
	�
�� η− ���� 
��


ρ−(u, t)−1u(t) → η− �� Xα �� t → −∞
��� 
�	�	 �� ���
�	� ����
��� v− �� ����� �	��	� ��� ��� t ≤ 0 ���� 
��


��� ρ−(v−, t)−1v−(t) → η− �� Xα �� t → −∞�

������ �	
 L+ := A − Df(e+)� g+(x) := f(x) − Df(e+)x �
� u+(t) := u(t) − e+�

u+(t) �� � ����
��
 ��

ẋ(t) + L+x(t) = g+(x(t) + e+)− g+(e+).

�
 ������� ���� �	��� ��� 
��
 λ(u̇) < ∞ �
� ���� �	��� ��� 
��
 ‖u̇+(t)‖−1
α u̇+(t) ��
�

�	��	� 
� �
 	��	
�	�
�� η �� L+�  �	�	���	� ����� ��� �� � ��
�	!�	
�	 �� �	��� ��"� v+ ��

�#
��
	� ���� $��%���
��
 ��&' �	 ���	 ‖v+(t)‖−1
α v+(t)− η → 0 �� t → ∞� �
 ������� ����

�	��� ��� 
��
 
�	�	 �� �
 	��	
����	 η̃ �� L+ ���� 
��
 ‖v̇+(t)‖−1
α v̇+(t) → η̃ �� t → ∞�

(��
� �	��� ��"� �	 ��
����	 η̃ = η� ����� %���	� ����

)
��������*� u−(t) := u(t)− e− �� � ����
��
 ��

ẋ(t) + L−x(t) = g−(x(t) + e−)− g−(e−)

��
� L− := A−Df(e−) �
� g−(x) := f(x)−Df(e−)x�

 �	 ��
�	��	
�	 �
 ��� 
�� ������� ���� +�������* ���� �
� 
�	 	,��
	
�	 �� v− ������� ����

$��%���
��
 ���� �
� +�������* ����� �

�� �������	�

)����	 
��
 f(0) = 0 �
� �	
 u : [0,∞[ → Xα #	 � ����
��
 �� ����� ��
� u(t) → 0 ∈ Xα

�� t → ∞� -	
 L := A−Df(0) �
� g(x) := f(x)−Df(0)x� x ∈ Xα�  �	
 L �� � �	�
�����

�%	��
��� g(0) = 0� �
� u(t) �� ���� � ����
��
 ��

ẋ(t) + Lx(t) = g(x(t)) �����

��
� u(t) → 0 �� t → ∞ �
� �	 ���	

L(Xα, X) � Dg(0) = 0. �����

)����	 
��
 σ(L) ��
���
� �� � �	!�	
�	 �� ���%�	 	��	
����	� (λn)n∈N ��
� λn → ∞ ��

n → ∞�
.�� 	��� γ ∈ R \Reσ(L) 
�	�	 ��	 ��
	�� %��/	�
��
� P±(γ) : X → X ���� 
��
 P+(γ)x+

P−(γ)x = x ��� ��� x ∈ X �
� ��� ���	 �	�� ��
�
�

 M > 0 �	 ���	∥∥e−LtP−(γ)x
∥∥
α
≤ Me−γt‖x‖0 t ≤ 0∥∥e−LtP+(γ)x

∥∥
α
≤ Me−γt‖x‖α t ≥ 0∥∥e−LtP+(γ)x

∥∥
α
≤ Me−γtt−α‖x‖ t > 0 �����

��		 0�
�  �	��	� �����1��

2* 0�
� �	��� �����1� u �� ��3	�	

��#�	 �
 ��� t > 0 �
� u̇ : ]0,∞[ → X0 �� ��

�
���� ��
�

u̇(t) ∈ Xα ��� ��� 0 < t ∈ R+�



�� ��������	
� ��

� �

��� Cμ(R
+, Xα) ������ ��� ��� �	 
�� f ∈ C(R+, Xα) �
�� λ(f) > μ� ��
�� 
� ���
���� �
��

��� ���� ‖f‖Cμ
:= sups∈R+ ‖eμsf(s)‖α�

����� ���� ��� μ ∈ R+ \ Reσ(L) ���

P−(μ)Kμ(x0, f)(t) := −
∞∫
t

e−L(t−s)P−(μ)f(s) ds

P+(μ)Kμ(x0, f)(t) := e−LtP+(μ)x0 +

t∫
0

e−L(t−s)P+(μ)f(s) ds.

���� Kμ ∈ L(Xα × Cμ(R
+, X0), Cμ(R

+, Xα))	

����	� ��� 0 < δ ∈ R+ ���� ��
� [μ− δ, μ+ δ] ⊂ R \ Reσ(L)� �� ���� �
�� P−(μ−
δ) = P−(μ) 
�� P+(μ+δ) = P+(μ)� �� �� ����� ����� 
� 
� M > 0 ���� ��
� 	�� 
�� s, t ∈ R+∥∥∥e−L(t−s)P−(μ)f(s)

∥∥∥
α
≤ Me−(μ−δ)(t−s)‖f(s)‖0 t− s ≤ 0∥∥∥e−L(t−s)P+(μ)f(s)

∥∥∥
α
≤ Me−(μ+δ)(t−s)(t− s)−α‖f(s)‖0 t− s > 0∥∥e−LtP+(μ)x0

∥∥
α
≤ Me−μt‖x0‖α.

�� 	������ ��
�∥∥∥e−L(t−s)P−(μ)f(s)
∥∥∥
α
≤ Me−μteδ(t−s)‖f‖Cμ

t− s ≤ 0∥∥∥e−L(t−s)P+(μ)f(s)
∥∥∥
α
≤ Me−μt(t− s)−αe−δ(t−s)‖f‖Cμ

t− s > 0

����
�� ��
� Kμ 
� ���� ��!��� 
��

‖Kμ(x0, f)‖Cμ
≤ M‖x0‖α +

⎛
⎝M

∞∫
0

e−δs ds+M

∞∫
0

s−αe−δs ds

⎞
⎠ ‖f‖Cμ

.

�

����� ���� ��� 0 	= x ∈ X0	 ���� ���
� ���
�
 � μ ∈ R \ Reσ(L) ���� P−(μ)x 	= 0	

����	� ��� (ηi)i∈N ������ 
� ���������
� �
�
� 	�� H 
�� ��� (λi)i∈N ������ ���


����

��� �
����
����� "��� ����� 
� 
� �
��������� ηi �
�� 〈x, ηi〉 	= 0� ����
�� x(t) :=

e−Ltx� t ∈ R+� 
�� μ ∈ R \ Reσ(L) �
�� μ > λi� 
� 	������ ��
� eμt‖x(t)‖H 	→ 0� �� ��

��� ����
��
�� �	 ��� 
�����
�� X ⊂ H� ��� �
� eμt‖x(t)‖X0 	→ 0 
� t → ∞� �� �
��

x(t) = P−(μ)x(t) + P+(μ)x(t) �
�� eμt‖P+(μ)x(t)‖X0 → 0 
� t → ∞� "�
� ����� ��
�

P−(μ)x(0) = P−(μ)x 	= 0 �������� μ > λi� �

�� �������	
�� 
����

����� ��#� �

��� ���� σ(L) ⊂ R ��� ��� v ∈ {u, u̇} ���� 0 ≤ λ(v) < ∞	

����

�$� λ(v) ∈ Reσ(L) = σ(L)�



�� �� ������	� �
��
��
�� ������
�	 
��������

��� ����� �� �� ��	��
����� η �
 L ����� �����	� �� ��� ��	��
���� λ(v) ����� �� η ∈ D(L)

��� Lη = λ(v)η� ���� ����∥∥∥∥ v(t)

‖v(t)‖α
− η

∥∥∥∥
α

→ 0 �� t → ∞.

������ �������	
 ��� 
������ ��� B(t) :=
1∫
0

Dg(su(t)) ds �� v = u �	� B(t) := Dg(u(t))

�� v = u̇� �	 ������ ���� �� ���� B(t) → 0 �	 L(Xα, X) �� t → 0� �	� v �� � ���� �������	 ��

ẋ(t) + Lx(t) = B(t)x(t).

���� ����� ��� ������� ���� ���  ������ 
��!��  �� ����	� ����� �� � ��	�"��	�� �� ���

#�������$ 
���� �	� ��� �����%���	� �	 σ(L)� �

�� L �� �$%��&����� ���	 � %��������� ��	��"��	�� �� '���� ��( �� ���� u(t) ∈ Wloc �����

�� λ(u) > 0� ��� ��� t ���
� �	��
�� ����� Wloc ��	���� ��� ����� ���&�� ��	����� 
���	

&$ ���  ������ 
����� )	��� ������� 	������ �� ���� ������ ���� L �� �$%��&�����

����	 ��*� λ(u̇) = λ(u) ��� 
�� ��� t ∈ R+

u(t) = −
∞∫
t

u̇(s) ds

������ +� ����� ���� ��� �	��
��� �,%������	� '����	
 t1, t2 ∈ R ���� t1 < t2� �	� ���

u(t2) = u(t1) +

t2∫
t1

u̇(s) ds.

 �-�	
 t2 → ∞� �� �&���	 ��� t ∈ R

u(t) = −
∞∫
t

u̇(s) ds. ���(�

 �� ��
�� ���� �� �	��
��&�� ��	�� &$ ��� �����%���	� ����� ��� M ∈ R �	� 0 < μ ∈ R ����

���� ‖u̇(t)‖α ≤ Me−μt ��� ��� t ≥ 0�

�� ������� ���� ���  ������ 
��� ��� ���� λ(u̇) ≥ λ(u)� #�	������$� ��� 0 < μ ∈ R� ���� ����

eμt‖u̇(t)‖α → 0 �� t → ∞� '����	
 C := sups∈R+ eμs‖u̇(s)‖α < ∞� �� ������� ����

‖u(t)‖α ≤
∞∫
t

‖u̇(s)‖ ds ≤ C

∞∫
t

e−μs ds ≤ Cμ−1e−μt

�����	
 ���� λ(u) ≥ λ(u̇)� �

����	 ��.� ������ ���� ‖u̇(t)‖−1
α u̇(t) → −x0 �� Xα �� t → ∞� ���� ρ(t)−1u(t) → x0 ��

Xα �� t → ∞� ����� ρ(t) :=
∞∫
t

‖u̇(s)‖α ds�

�����
��� ρ(t)−1‖u(t)‖α → 1 �� t → ∞�

������ /$ '���� ��*� �� ���� ��� ��� t ∈ R+

u(t) = −
∞∫
t

u̇(s) ds



�� ������	���� 
� t → ∞ ��

��� ����

u(t) =

∞∫
t

‖u̇(s)‖αx0 ds−
∞∫
t

‖u̇(s)‖x0 + u̇(s) ds,

��	
	 ∥∥∥∥∥∥
∞∫
t

‖u̇(s)‖αx0 + u̇(s) ds

∥∥∥∥∥∥
α

≤ sup
s≥t

∥∥∥∥ u̇(s)

‖u̇(s)‖α
+ x0

∥∥∥∥
α

∞∫
t

‖u̇(s)‖α ds

= ρ(t) sup
s≥t

∥∥∥∥ u̇(s)

‖u̇(s)‖α
+ x0

∥∥∥∥
α

������
 ���� ∥∥∥∥u(t)ρ(t)
− x0

∥∥∥∥
α

→ 0 �� t → ∞.

��
 ����������� ����� ���� ‖x0‖α = 1� �� ρ(t)−1‖u(t)‖α → ‖x0‖α = 1 �� t → ∞� �����	��
��
 ��	 �
���� �

�� ������	��
� �� t → ∞

�	� ��	 ����������� �� f �� ��	 �	
�����
 �� �	����� � ����� ��� �	� u : R+ → Xα �	 �

���� �������� �� ����� ���� u(t) → 0 �� t → ∞�  ����	 ���� ��	 ��	��
�� �� L = A−Df(0)

�������� �� �����	� 
	��� ��� ������	� 	�
	�!���	� (λi)i ∈ I ���� 0 	= λi ��
 ��� i ∈ I�

"	 ��!	 ��
	��� �	�����	� ���� ��	 ��
�	 u(t)
‖u(t)‖α

���!	

	�� #�	 ��!	
�	 $�	����� �� ��	��	


��	
	 	%���� � �������� v ����� ���!	

	� �� � 
�!	� 	�
	�!	���
 �� L�

#�	 �
��� �
���
��� 
	&�	� � ��
� �� '
� #�	�
	�  ���(� )��	!	
� �	 �		� ��
	 ����
�� �!	


��	 ��������� ��!��!	�� *� ��	 ���	 �� �
����
� ��+	
	����� 	$������� �� &���	 ���	������

��� ���	
 ���
���� ��
	 
	��
����!	 ����������� �� ��	 ������	�
���� ,
��������� ��- ��� ����

�	 �	���	� �
�� '�� #�	�
	� ���.�/(�

����������� ��-	 ��� 0 < λ �� �� �����	�
�� �
 L ��� 
�� η ������ �� ���������� �����	�����

���� ‖η‖α = 1� ���� ����� �� � ��
����� u : [0,∞[ → Xα �
 ����� ����∥∥∥‖u(t)‖−1
α u(t)− η

∥∥∥
α
→ 0 �� t → ∞. ���0�

�	� B(t) ∈ C([0,∞[ ,L(Xα, X0)) ��� ������	
 ��	 ��������
 �	
��
������ �� �����

u̇(t) + Lu(t) = g(u(t)) +B(t)u(t), ���1�

����� ��� ���� �	 �
���	� ��

u̇+ Lu = ĝ(u) ���-�

���� ĝ : C(R+, Xα) → C(R+, X0)� ĝ(u)(t) := g(u(t)) +B(t)u(t)� #�	 ��
���	 �� ���
�����

��
 B �� �� ��!	
 ��� !�
����� �� ��	 ��������
 �	��� ��������	������


���
 ��2	 ��� μ ∈ R \ Reσ(L) ��� 
�� Kμ �� ��	�� �� ����� ���� ��� M = M(μ) :=

max{2‖Kμ‖, 1} ��� 0 < ρ ≤ ∞�

���	���� ����

κ(ρ) := sup
‖x‖α≤ρ, ‖y‖α≤ρ

‖g(x)− g(y)‖
‖x− y‖α

≤ 1

2M
���2�

���

sup
t∈R+

‖B(t)‖α,0 ≤ 1

2M
, ����3�



�� �� ������	� �
��
��
�� ������
�	 
��������

��� �������	
 �����


��� �� u : R+ → Xα �� � �������	 �� ����� ���� λ(u) ≥ μ� ���	 λ(u) > μ �	�

u = Kμ(P
+(μ)u(0), ĝ(u))�

��� �� u ∈ Cμ(R
+, Xα) �� � �������	 ��

u = Kμ(P
+(μ)u(0), ĝ(u)), ������

���	 u �� � ���� �������	 �� ������

��� �� u1, u2 ∈ Cμ(R
+, Xα) ��� �������	� �� ������ ���� supt∈R+ ‖ui(t)‖α ≤ ρ ���

i ∈ {1, 2}� ���	 ‖u1 − u2‖Cμ
≤ M‖P−(μ)(u1(0)− u2(0))‖α�

�	� ����� ������ � ��	��	���� ��� S = Sμ : B ρ
M
[0] ⊂ Xα → Cμ(R

+, Xα) ����

���� ��� ��� x ∈ D(S) �	� ��� S(x) = Kμ(x, ĝ(S(x))) = Kμ(P
+(μ)x, ĝ(S(x))) �	�

P+(μ)S(x)(0) = P+(μ)x�

������ �� ��	�� Dg(0) = 0 �� ��� ������������������� ����� ������ ������ � ρ ���� ����

���
� ������

��		
� ��

��� Cμ := Cμ(R
+, Xα)� �� ����

‖Kμ(x1, ĝ(u))−Kμ(x2, ĝ(v))‖Cμ
≤ M

2
(‖x1 − x2‖α + κ(ρ)‖u− v‖Cμ

) +
1

4
‖u− v‖Cμ

��� ��� x1, x2 ∈ Xα ��� ��� ��� u, v ∈ C(R+, Xα) ��
� ‖u‖C(R+,Xα) ≤ ρ ��� ‖v‖C(R+,Xα) ≤ ρ�

�� ���� �� ���
��

‖Kμ(x1, ĝ(u))−Kμ(x2, ĝ(v))‖Cμ
≤ M

2
‖x1 − x2‖α +

1

2
‖u− v‖Cμ

������

��� ��� x1, x2 ∈ Xα� ��� ��� u, v ∈ Cμ(R
+, Xα) ���	 ‖u‖C(R+,Xα) ≤ ρ ��� ‖v‖C(R+,Xα) ≤ ρ


��
 ��� u �� � �������� �� ��
�
 ���	 λ(u) ≥ μ
 �� ����� �
�� �� 	��� λ(u) > μ� ��

��� ��� t ≥ r ≥ 0�

e−L(−t)P−(μ)u(t) = eLrP−(μ)u(r) +

t∫
r

e−L(−s)P−(μ)ĝ(u)(s) ds → 0

�� t → ∞ ������� ��� (−t) < 0 �� 	���
∥∥e−L(−t)P−(μ)u(t)

∥∥
α
≤ Meμt‖u(t)‖α → 0

�� t → ∞
 �	�� �	��� �	�� u �� � �������� �� ��
��



��
 ��� Y := Bρ[0] ⊂ Cμ(R
+, Xα) ��� ��� x0 ∈ P+(μ)Xα ���	 ‖x0‖α ≤ ρ

M 
 K̃y :=

Kμ(x0, ĝ(y)) �� ��� � ����������� ��!!��" �� Y ����� �� ��
�#
∥∥∥K̃y
∥∥∥
Cμ

≤ ρ

2
+

1

2
‖y‖Cμ

≤ ρ.

$����� �	��� �� � ���%��  &�� !���� ��� ����� x0


��
 �� ��
�#
� �� 	���

‖u1 − u2‖Cμ
= ‖Kμ(x0, ĝ(u1))−Kμ(x0, ĝ(u2))‖Cμ

≤ M

2

∥∥P+(μ)(u1(0)− u2(0))
∥∥
α
+

1

2
‖u1 − u2‖Cμ

,

��

‖u1 − u2‖Cμ
≤ M

∥∥P+(μ)(u1(0)− u2(0))
∥∥
α
.



�� ������	���� 
� t → ∞ ��

��� u �� � ���	 �
����

 
� ����� ��
�� �
� ��� t1, t2 ∈ R+ ���� t1 ≤ t2�

P−(μ)u(t2)− P−(μ)e−L(t2−t1)u(t1) = −
∞∫

t2

e−L(t2−s)P−(μ)ĝ(u)(s) ds

+ e−L(t2−t1)

∞∫
t1

e−L(t1−s)P−(μ)ĝ(u(s)) ds

=

t2∫
t1

e−L(t2−s)P−(μ)ĝ(u(s)) ds.

�

����� �� ����������	 
��� ��� μ1 < λ < μ2 �� ���� 
������ ���� ����

[μ1, μ2] ∩ σ(L) = {λ},

��� 1 ≤ M(μi)� i ∈ {1, 2} �� ����
 �� ����� ���� ��� M := max{M(μ1),M(μ2)}� �
	 ��

��
ρ > 0 ����� �

��� ���� κ(ρ) < 1

2M �

��� 0 < ε ≤ ρ
M2 � �
	 ��� u 	�

�� ��� �
���� �
����

 
�

u = Kμ1
(εη, g ◦ u).

�� �
��
�� ���� supt∈R+ ‖u(t)‖α ≤ M‖εη‖α ≤ ρ
M �

 �!!
�� ���� λ(u) > λ� �
 �� ����� ��"� λ(u) ≥ μ2� ����� ��!���� ���� u �� � �
����

 
�

u = Kμ2
(P+(μ2)εη, g ◦ u).

�� �
��
�� ���� ‖u‖Cμ
≤ M‖P+(μ2)εη‖α = 0� � �

���	����

 �
 P+(μ1)u(0) = εη� ��!���
�

���� λ(u) = λ�

�� �� �

���� �

�����
�� 
� ����� ��" ���� ������ ‖u(t)‖−1
α u(t) → η 
� ‖u(t)‖−1

α u(t) → −η

�� t → ∞� �
 �
 ������ ���� �� �
�	� ���� ‖u(t)‖−1
α P+(μ2)u(t) → 0 �� t → ∞�

 �!!
�� ���� ‖u(t)‖−1
α u(t) → −η �� t → ∞ �
	 ��� w : R+ → Xα �� ����
 �� w(t) :=

Sμ2(P
+(μ2)u(t))(0) = Sμ2(u(t))(0)� #� ���
 ����

• w(0) = 0 ��
�� P+(μ2)u(0) = 0�

• ‖u(t)‖−1
α ‖w(t)‖α ≤ M‖u(t)‖−1

α ‖P+(μ2)u(t)‖α → 0 �� t → ∞ �� ��� �
�
	�	
���


� S�

• P+(μ2)w(t) = P+(μ2)u(t) �
� ��� t ∈ R+�

�� 

� �
��
�� ���� ‖u(t)‖−1
α (u(t) − w(t)) → −η �� t → ∞� $� ��� �
�����	���� �����

���
���� ����� �%���� � t0 ∈ R+ ���� ����

(P+(μ1)− P+(μ2))(u(t0)− w(t0)) = 0,

�
	 �
 P+(μ1)u(t0) = P+(μ1)w(t0)�

v := Sμ2
(P+(μ2)w(t0)) = Sμ2

(w(t0)) �� � �
����

 
�

v = Kμ1
(P+(μ1)w(t0), g ◦ v), ���&��

�
	 �� �
�	� ���� supt∈R+ ‖v(t)‖α ≤ M‖u(t0)‖α ≤ ρ� '���� �� �

���� �
����

 
� ���&���


�����

ut0 = Kμ1(P
+(μ1)w(t0), g ◦ ut0),



�� �� ������	� �
��
��
�� ������
�	 
��������

����� ut0(t) := u(t0 + t)� t ∈ R+� ����	�
 	�� 	���
t0

���	�� 
���	����

�	 ������
 	��	 v = ut0 � ��� 
� λ(u) = λ(v) ≥ μ2 > λ� � ���	�����	���� �

�� ����� �	
����
 ��	�����

����������� ����	 ��� 0 < ν� σ(L) = σ1 ∪ σ2 ���� σ1 := {λ ∈ σ(L) : λ < −ν < 0} �	


σ2 := {λ ∈ σ(L) : λ > ν > 0}� �	
 σ1 � �	��� ���


���	 ����� ������ � �����	����
 Wu
loc �� Xα ���� ����

��� v(t) ∈ Wu
loc ��� ��� t ∈ R− ������	��� ����� ���	���� v : R− → Xα �� � ���


�������	 �� ����� ���� v(t) → 0 �� t → −∞�

��� ��� ����������	

P : Wu
loc → P−(0)Wu

loc

�� P−(0) : Xα → P−(0)Xα �� � ������������� �������	 ��������� �� Xα� �	


��� �	����� P−1 ��� � ��	��	���� �� ����!
��������� DP−1�

��� DP−1(0)y = y ��� ��� y ∈ P−(0)Xα


���
 �
 �� �������	��� �� ������� ���� ������� ����	 ������	 � �� !��"� #��	��� ���������

�
 ������� $���� �� !��"� ��� ��%����	��&���	 �� P−1 ��� &� ����� �� !��� ������� ���"�

�� ��	�
��
	�
 �
 t → −∞

'�� ���(� t ∈ R� u(−t) ��� &� ��
���&�� & �� ������� ��%����	��� �)��	��� �� *��	� �����



���
 �
�� !��� ������� ����"� !��� ������� $����"� !��� ������� ���"�� +� ��� 	��� ��,��
�

	�� 	��� ��� �&	��� �����(��
 
	�	����	
 ��� t → −∞�

-�	 	�� �

���	���
 �� f �	 	�� &�(�����( �� ���	��� ��� ����� ��� ��	 u : R− → Xα &� �


���	��� �� ����� ��	� u(t) → 0 ∈ Xα �
 t → −∞�

��	 L := A −Df(0) ��� g := f −Df(0)� ���� L �
 � 
��	����� �����	�� ��� u(t) �
 ��
� �


���	��� ��

ẋ(t) + Lx(t) = g(x(t)) ����.�

��	� u(t) → 0 �
 t → ∞ ��� �� ��,�

L(Xα, X) � Dg(0) = 0. ����$�

/ !��� -���� �����"� u �
 ��%����	��&�� �� ��� t > 0 ��� u̇ : ]−∞, 0[ → X0 �
 ���	�����


��	� u̇(t) ∈ Xα ��� ��� 0 > t ∈ R− ��� α ∈ [0, 1[�

#

��� 	��	 u(0) ∈ Wu
loc ��� ��	 P = P−(0) ����	� 	�� ���0��	���� 1�*�� L̃− ∈ L(PXα, PXα)

& 

L̃−x := −PLx ����2�

���

g̃−(x) := −Pg(P−1(x)). ������

��		��( v(t) := Pu(−t)� t ∈ R+� �� ��,� ��� ��� t > 0

v̇(t) = −u̇(−t)

= −(−PLPu(−t) + Pg(u(−t))

= −L̃−v(t) + g̃−(v(t)), ����3�



�� ������	���� 
� t → −∞ ��

���� ��� v(t) �� � ���	���
 �� ��� 
����
���� ������
���� ��	����


v̇(t) + L̃−v(t) = g̃−(v(t)).

��
�� σ1 �� �
���� �� �� ����� ���� λ(v) < ∞ 
��� ��� ������� ���������

��������� ����� ��� ρ−(t) :=
t∫

−∞
‖u̇(s)‖α ds ���� ���� ��		� 
��
� ����� �� �� �����������

η �� L� ����� ������� �� ��� ���������� λ� ���� ���� �� Xα

(ρ−(t))−1u(t) → η 
�����

ρ̇−(t)−1u̇(t) = ‖u̇(t)‖−1
α u̇(t) → η 
�� !�

�� t → −∞�

����	� "� #���� ��$� ����� �%���� �
 ��&�
'��	� η ∈ X1 (��� ‖v̇(t)‖−1
α v̇(t) → −η ��

t → ∞�

)��*������
 ���! ��*���� ����

u̇(−t) = −v̇(t) + P+(0)u̇(−t) = −v̇(t)− P+(0)DP−1(u(−t))v̇(t)

�
� �� ‖v̇(t)‖−1
α (P+(0)u̇(t)) → 0 �
 Xα �� t → ∞�

+�
���

‖v̇(t)‖−1
α u̇(−t) = ‖v̇(t)‖−1

α (P−(0)u̇(−t) + P+(0)u̇(−t))

= ‖v̇(t)‖−1
α (−v̇(t) + P+(0)u̇(−t)) → η + 0

�
� *�����	����� ‖v̇(t)‖−1
α ‖u̇(−t)‖α → 1 �� t → ∞�

,����'��� (� ��'� ρ̇−(t) = ‖u̇(t)‖α� (���� ���(� 
�� !��

-�
����� �� �����(� �� �
 ��� *���� �� #���� ��. 

��� ��� ������
� ��&
 /����� ��� �
��&����

����

u(t) =

t∫
−∞

u̇(s) ds t ≤ 0

�
� ��
���	�
��� (ρ−(t))−1u(t) → η� �

���
���
��� ��� � ��� λ < 0 �� �� ���������� �� L ��� ��� η ������ �� ���������� ������

������ ���� ‖η‖α = 1� ���� ����� �� � 	��� �������� u : ]−∞, 0] → Xα �� 
���� ����∥∥∥‖u(t)‖−1
α u(t)− η

∥∥∥
α
→ 0 �� t → −∞. 
�� ��

����	� 0� �����(� ���� )��*������
 ��1 ���� ����� �%���� � ���	���
 v(t) �� 
���1�� ���
��

��� ��� t ∈ R+� �	�� ���� ‖v(t)‖−1
α v(t) → η �
 Xα� +�
��� u(−t) := P−1(v(t)) ��� ��� �������

*��*������ ��
��

‖v(t)‖−1
α u(−t) = ‖v(t)‖−1

α P−1(v(t)) → DP−1(0)η = η �
 Xα

�
� ��	�

‖u(t)‖−1
α u(t) =

‖v(t)‖α
‖u(t)‖α

u(t)

‖v(t)‖α
→ ‖η‖−1

α η �
 Xα

�� t → ∞� �



�� �� ������	� �
��
��
�� ������
�	 
��������

�� � ������	
 ��	��
��	 
�� �	 ����	�	
��� ����� ��
�

����������� ����	 ��� δ > 0� B ∈ C([0,∞],L(H,H)) �������	
 �	�� e2δt(B(t)−B(∞)) →
0 ∈ L(H,H) 
� t → ∞� (ηi)i∈N 
� ���������
� �
�	� ��� H ��	
� 
���	��� �� �	����
����

�� L := AH −B(∞)� AH �� �������	
� (ηi)i∈N 
� ���������
� �
�	� ��� H ��	
� 
���	���

�� �	�����
���� �� L := AH −B(∞)� 
�� ��� u : R+ → Xα �� 
 �	�� �����	�� ��

u̇(t) +AHu(t) = B(t)u(t) ������

�	�� λ(u) = ∞�

���� ����� 	� 
� ε > 0 ��
� ��
� u(t) = 0 ��� 
�� t ∈ R+ �	�� sups≥t ‖B(s)−B(∞)‖H,H ≤ ε2�


���
 ����	 ��� ��� 
������	��� �� ������	�	�� ���� ���� 
�� ���

Kμ ∈ L(H × Cμ+δ(R
+, H), Cμ(R

+, H)) �� ������ 
� 	� ����
 ����

���� Kμ 	� ����������� 
�� CK := supμ∈R+\σ(L) ‖Kμ‖ < ∞� ��������� ��� 
�� x ∈ H ���

�
� ‖P+(μ)x‖H → 0 
� μ → ∞�

Cμ �	 
��
�
 �	 ������ ��� ���� ��	���� �� X = H �

 α = 0� ���� �	� ��� 
��� �
 H �	

��
	�
���
�

�����	 ��� ���� i ∈ N� ��� λi 
�
��� ��� ����
����� �		������
 ���� ηi� ��� ����
�����	

��� �
�� �� ��� 	 ����� �� AH −B(∞)� ����� !� ���	 ����

〈e−Ltx, ηi〉 = e−λit〈x, ηi〉 x ∈ H i ∈ N. ������

"��� x ∈ H �� 
�� �� ������
 �	 x =
∑

i∈N 〈x, ηi〉ηi �

 �
� ��	

‖x‖2H =
∑
i∈N

〈x, ηi〉2. ������

#�
�� ��� ���� μ ∈ R\σ(L) ��� ���$�����
	 P−(μ) �

 P+(μ) ��� ��� �������
�� ���$�����
	

�
 H� ���� �	�

P−(μ)x =
∑

i∈N: λi<μ

〈x, ηi〉ηi �



P+(μ)x =
∑

i∈N: λi>μ

〈x, ηi〉ηi,

�� ������	 ���� P+(μ)x → 0 �
 L(H,H) �	 μ → ∞�

������������ ��� ���� i ∈ N �� ���� e−Ltηi = e−λitηi� ����� 	���	 ���� ��� ��� μ ∈ R\σ(L)∥∥e−LtP−(μ)x
∥∥
H

≤ e−μt‖x‖H t ≤ 0∥∥e−LtP+(μ)x
∥∥
H

≤ e−μt‖x‖H t > 0.

%� ������	 ���� Kμ �	 ����&
��
�
 �



‖Kμ(x0, f)‖Cμ
≤ ‖x0‖H + 2

∞∫
0

e−δs ds‖f‖Cμ+δ
.

�

����� �� ����������� �	��	 '�� CK �� ����
 � '���� ����� 	����	� ����

‖B(t)−B(∞)‖H,H ≤ e−2δtM,



�� � �������	
� ��

����
 ��� �
 	���
	
���� 
	��� ���	 ��

��� ������ ε := 1
2CK

��� τ ∈ R+ �	�� 
��


‖B(t)−B(∞)‖H,H ≤ ε2

M

��� �

 t ≥ τ � �� ��� ����

‖B(t)−B(∞)‖2H,H ≤ ε2e−2δt.

��
 0 < μ ∈ R+ \ σ(L) �� ����
����� v := u(τ + t) �� � ��
� ��
	
��� ��

ẋ+ Lx = B̃(t)x := (B(t+ τ)−B(∞))x ������

��
� λ(u) = λ(v) = ∞�
�
 ��

��� ���� ����� ��� 
��
 v = Kμ(P

+(μ)v(0), B̂v)� ����� �� ��
 (B̂u)(t) := B̃(t)u(t)�

�� 
�	� ����

‖v‖Cμ
≤ CK

(∥∥P+(μ)v(0)
∥∥
H
+

∥∥∥B̂v
∥∥∥
Cμ+δ

)
≤ CK

∥∥P+(μ)v(0)
∥∥
H
+ CKε‖v‖Cμ

≤ CK

∥∥P+(μ)v(0)
∥∥
H
+

1

2
‖v‖Cμ

��� ������	��

�

‖v‖Cμ
≤ 2CK

∥∥P+(μ)v(0)
∥∥
H
.

 ��� ��
���
� ��
�� ��� ����
���� μ ∈ R \ σ(L)� 
��
 ���

‖u(τ)‖H ≤ 2CK

∥∥P+(μ)u(τ)
∥∥
H

→ 0 �� μ → ∞,

!�����" 
��
 u(τ) = 0� �





������� �

���������	�� �
 ��� 
	��������	��

�	
��� 
�	 ������
���� �
 
�	 �	������� �� 
���
	� �� �	 
�����	� 
�	 �	����� ����
	� � 

���� ����
���� ��

u̇(t) +Au(t) = f(u(t)). !��"#

$� ���
�
����% �	 �����	 
��
 f ∈ C1(U , X)% ��	�	 U �� �� ��	� �	
 �� Xα� &�' �� 	��	�(���	

η ∈ X1 �� A% �	
 F := span{η}% ��� �	
 E ⊂ X �	 ���
�	� ������
	 ��
� X = F ⊕ E� &��

α ∈ [0, 1]% �	
 Eα := E ∩Xα �	 	����	� ��
� ‖.‖α�
)���� L := A% �	
 
�	 ���*	

���� P− ��� P+ �	 �	+�	� �� �� 
���
	� ��

,�����	 
��
 u �� � �	
	��
����
 ���� ����
��� ��� ū := cl{u(t) : t ∈ R} �� �� �����
	�

��(�����
 �	
� $� ���	� 
� 
��
���
	 �
� ����
�� ���	' �
 �� �	����� 
� �����	 
��
 ū ��	�

	�
��	� �� � ��	-���	������� ������
	 �� 
�	 
�����	�	� ����	 ���
	 Xα� ��	�	���	% �	


���
��

 � ��.	��������� ���
� ���� 
�	 ����	 �� ū ��
� � ��	-���	������� ������
	�

��	�	 �� � �����	 /���
�
 ��
��0 ��
��
��� ��	�	 
�	 
���
��

��� �� ��(����% ���	� �� ��	

�����	� 
��
 u ��� � /���� ���	

���0% 
��
 ��% 
�	�	 �� � ��	-���	������� ������
	 ��� ��

����
��
	� ���*	

��� ��
� 
��
 
�	 ����	 �� u̇ ���	� 
��� ���*	

��� ��	� ��
 (����� ��� �� 

t ∈ R� $� 
��� 
��	% ��	 
���� 
�����	� � ������� (t, e) �→ u(t) + e% e ∈ E% ��	�	 E �	��
	�


�	 
����	�	�
�� ������
	� ��	 ��������� 
�	��	� �� � �	�	����1�
��� �� 
��� ����
 ��	��

2�(����� % 
�	 ����
��	�� �� ��
� � ������� �� 3 �
 �	��
 �� 
�	 ���	

��� �� t 3 ����
	�

� 
�	 ����
��	�� �� u� ��	�	 ��	 �
�	� �����	�� ���
� ��(	 ��
 �		� 
�����	�	� �� 
���

�������� ��
����

���4 
�	 ��.	��������� ������ �	 �	+�	� �� � �	���������� �� ū ��� 
�	

�	����� ��
���	� � ���� ��� 
�	 ��.	��������� ������ �
��� �	 ����
	� � ���� ����
����

�� � �	�����	�� ��������
 	5��
��� ��6	 !��"#�

��	��	�� �� 
��� 6��� ��	 ��
	� �	�	��	� 
� �� ������� ��	
�������
 ��������% ��
 !�� ��� ��

6���� 
� 
�	 ��
���# 
�	 ��	 	�
�	� �
�
	� �� � +��
	-���	������� �	

��� �� 
�	 �	5���	

���	 ����
��	�� 
��� C1 ��� ����� 
��� �����	 ����
����� �	�
��

���� �� 
�	 ���-���	���
 

f �� !��"#�

������� ��"� ��� γ ∈ C1([0, 1], X0) ���� ���� 0 	= γ̇(t) ��� ��� t ∈ [0, 1]� Ξ ⊂ [0, 1] �� ��	���

��
 ξ ∈ [0, 1] �	�� γ̇(ξ) 	∈ E�

���� ����� ��	�� � ��	
�������
 U �� [0, 1]×{0} 	� [0, 1]×E ��
 � 
	��������	�� ϕ : U →
ϕ(U) ⊂ X ���� ����

!"# ����� ��	��� � μ ∈ R \Re (σ(A)) ���� ���� ϕ(x, y) = γ(x)+Φ(x)P−(μ)y+P+(μ)y�

����� Φ : [0, 1] → L(P−(μ)E,P−(μ)X) 	� ����	������

!7# Φ(ξ) = id�

!�# Φ(x) 	� ������� �������� 	� � ��	
�������
 �� Ξ�

!�# ��� ��� (x0, y0) 	� U ����� ��� ����	����� �������� !
��	"��	"�� DyDϕ(x0, y0) ��


Dy(Dϕ(x0, y0)
−1)�

��



�� �� ����	
��	��� �
 	�� ��

����
�����

����� ���� ��� ��� �����	�
��� �
 ������� ��� ����� ���� ����� ��
��� � μ ∈ R \ σ(A)

�
�� P−(μ)γ̇(t) 	= 0 
�� ��� t ∈ [0, 1]�

����	� �� �����	
 ���� 
���� ��� ���� ��� ����� t ∈ [0, 1] ����� �
 � μt ∈ R \ σ(A)

	��� P−(μt)γ̇(t) 	= 0� ��� ���������� �� γ̇(t) ������
 ���� ����� �
 �� ���� ������������ Ut

�� t 
��� ���� P−(μt)γ̇(s) 	= 0 ��� ��� s ∈ Ut� {Ut}t∈[0,1] �
 �� ���� �������� �� [0, 1]� �����

�� ���������

� ����� �
 � ����� 
���������� {Utk}k∈{1,...,n}� n ∈ N� 
�� μ := max{μtk :

k ∈ {1, . . . , n}}� �� ���� ���� ��� ��� k ∈ {1, . . . , n} ��� ��� s ∈ Utk P−(μt)P
−(μ)γ̇(s) =

P−(μt)γ̇(s) 	= 0 
� ���� P−(μ)γ̇(s) 	= 0 ��� ��� s ∈ [0, 1]� �

����� ���� ��� k ∈ N� Ξ ⊂ [0, 1] ��
��� ξ ∈ Ξ� ��� Φ ∈ C([0, 1], ISO(Rk,Rk)) ∩
C1([0, 1],L(Rk,Rk))� ���� ����� 
� � �������� Φn ∈ C([0, 1], ISO(Rk,Rk))∩C1([0, 1],L(Rk,Rk))

���� ����

 !" Φn → Φ 
� C([0, 1], ISO(Rk,Rk))�

 �" Φn 
� ������� �������� 
� � ��
��������� �
 Ξ�

 �" Φn(ξ) = Φ(ξ) 
�� ��� n ∈ N�

����	� #
��� ��� ��$������������� �� Φ� 	� ��� 	����

Φ(x) = Φ(ξ) +

x∫
ξ

F (s) ds

	��� F ∈ C([0, 1],L(Rk,Rk))�

%���� Fn �� L∞([0, 1],L(Rk,Rk)) ��

Fn(x) :=

⎧⎨
⎩0 dist(x,Ξ) ≤ 1

2n

F (x) �����	�
�.

�� �����	
 ���� Fn �
 	���&������ ��� ���� ‖Fn − F‖∞ ≤ ‖F‖∞ < ∞�

'������� ����
� F̃n ∈ C([0, 1], ISO(Rk,Rk))∩C1([0, 1],L(Rk,Rk)) 	���
∥∥∥F̃n − Fn

∥∥∥
∞

≤ 1/n�

��� ��� Φn �� ������ ��

Φn(x) = Φ(ξ) +

x∫
ξ

Fn(s) ds.

�� ����

‖Φn − Φ‖∞ ≤ ‖F‖∞
#Ξ

n
+

1

n
→ 0 �
 n → ∞.

Φn �
 �� �
�������
� ��� ��� n 
�(������� ������ �

����	 �	 
������ ��
� 
�� μ0 �� ����� �� 
���� ���� μ0 ≤ μ ∈ R \ σ(A)� P :=

P−(μ)� ��� E0 := PX ⊂ X1  dimE0 < ∞"� )� ����
��� μ ����� ������� 	� ��� �

���

���� η ∈ E0  η �
 ��� ����������� ������� F "�

P γ̇ : [0, 1] → E0 ������
 � ����������
� U : [0, 1] × F → [0, 1] × E0 �� ������
 ��

��� 
��
� �� *������+ *� 	���� U(t)(rη) := rP γ̇(t)� )� ��� �

������� ���� Pη = η�

��� ��
 E0 = F ⊕ PE� )� ,�������� *�!!� ����� �+�
�
 �� �
�������
� Φ0 = (U ⊕ S0) ∈
C([0, 1],L(E0, E0)) 
��� ���� S0(ξ)y = y ��� Φ0(t)η = P γ̇(t) ��� ��� t ∈ [0, 1]�

)� ��� �����
���

 �����+������� �������� ����� �
 ������� 
�-����� (Φn = (U ⊕ Sn))n∈N

�� C([0, 1],L(E0, E0) 
��� ���� ��� ���� n ∈ N� Sn �
 ���������
�� '�.����&��$�����������

Sn(ξ) = id� ��� Φn → Φ0 ��������� �� t 	��� ��
���� �� ��� ���� �� L(E0, E0)� #
���



�� ������	��
�� �� ��
 �
��
������
�� ��

����� ���� 	� 
�� ���
�� ���� Φn �� ��
���� 
������� �� � ������������ ���������� �� n�

�� Ξ ��� ��� n ∈ N�

��� t ∈ [0, 1] ��� ����� Hn,t ��

Φ0(t)
−1Φn(t) = Φ0(t)

−1(Φ0(t) + (Φn(t)− Φ0(t)))

= 1 + Φ0(t)
−1(Φn(t)− Φ0(t))

= 1 +Hn,t.

����� ��� ��
���� ������� ����� ������ �� �� ���� �� Φ0(t)
−1Φn(t) 	���� �� ‖Hn,t‖ < 1�

!� �� �

‖Hn,t‖ ≤
∥∥Φ−1

0 (t)
∥∥‖Φn(t)− Φ0(t)‖ ≤ sup

t∈[0,1]

∥∥Φ−1
0 (t)

∥∥ sup
t∈[0,1]

‖Φn(t)− Φ0(t)‖

��� ��� t ∈ [0, 1]� 	���� supt∈[0,1]

∥∥Φ−1
0 (t)

∥∥ < ∞ �� "�������� #�� ���

supt∈[0,1] ‖Φn(t)− Φ0(t)‖ → 0 �� n → ∞ �� ��� 
������ �������������� $��
�� ����� ������

�� n0 ∈ N �

� ���� ��� ��� n ≥ n0 ��� ��� ��� t ∈ [0, 1]� Φn(t) = (Φ0 ◦ Φ−1
0 ◦ Φn)(t) �� ��

����������� �� L(E0, E0)� ��� �����

����� � ������������� �� "�������� #���

��� Φ := Φn0 ��� ����� ϕ : [0, 1]× E → X ��

ϕ(t, y) := γ(t) + Φ(t)Py + (1− P )y.

��� (t0, y0) ∈ [0, 1]× E� ��� (t, y) ∈ R× E ��� ��� h ∈ R+� !� �� � ��� h ����� ���
��

1

h
(ϕ(t0 + ht, y0 + hy)− ϕ(t0, y0))

=
1

h
(γ(t0 + ht)− γ(t0) + Φ(t0 + ht)(Py0 + hPy)− Φ(t0)Py0) + (1− P )y

=
1

h
(γ(t0 + ht)− γ(t0) + Φ(t0 + ht)hPy +Φ(t0 + ht)Py0 − Φ(t0)Py0) + (1− P )y

→ tγ̇(t0) + Φ(t0)Py + (DΦ(t0)t)Py0 + (1− P )y �� h → 0.

%� �����

���� (t0, y0) �→ (DΦ(t0)1)Py0 �� 
�����
�
�� �� ����� �� � 
�����
�
� &�'
��� ���� (

��� �� ������

Dϕ(t0, y0)(t, y) = (Dγ(t0) + (DΦ(t0)1)Py0)t+Φ(t0)Py + (1− P )y. ���)�

!� �� � ��� (t, y) ∈ R× E ��� t0 ∈ [0, 1]

PDϕ(t0, 0)(t, y) = P γ̇(t0)t+ PΦ(t0)Py

= Φ(t0)(ηt+ Py),

���	��� ���� PDϕ(t0, 0) : R × PE → PX = E0 �� �� ����������� ��� ��� t0 ∈ [0, 1]�

*��������� �� �����	� ����

Dϕ(t0, 0)(t, y) = PΦ(t0)(ηt+ Py) + (1− P )(γ̇(t0)t+ y)

�� �� ������������ ��� �� ���� �� �� �� ��

(t, y1) = (PDϕ(t0, 0))
−1Py

Dϕ(t0, 0)
−1y = (t, y1 + (1− P )(y − γ̇(t0)t)).

*�� �� ���� ������� ������� ��	 ������� ���� ϕ �� � ��
�� ��+�����������



�� �� �����	
����� �� �
� ��������	�
���

������� ��	� ���
� ���� ��� �
��� 	� ���� �������
���� U �� [0, 1]×{0} �� [0, 1]×E ���� ��	�

ϕ|U �� ���������� ���� ���
� 	
� ��������� (tn, yn) → (t0, 0) �� [0, 1]×E 	�� (t̃n, ỹn) → (t̃0, 0)

�� [0, 1]×E ��� ��� ����	������ �� [0, 1]� ���� ��	� tn 	= t̃n 	�� ϕ(tn, yn) = ϕ(t̃n, ỹn) ��
 	��

n ∈ N� �� ������� �
�� ��� ���������� �� ϕ ��	� γ(t0) = ϕ(t0, 0) = ϕ(t̃0, 0) = γ(t̃0) 	�� �����

γ �� ���������� �� �	�� t0 = t̃0� ���� �� 	 ����
	������� ����� ϕ �� 	 ���	� �������
������  �

�	�� ����� ��	� ���
� �
���� 	� ���� �������
���� U �� [0, 1]×E ���� ��	� ϕ|U : U → ϕ(U)

�� 	 �������
������

!��	���� �� �	�� DyDϕ(x0, y0)y = (DΦ(x0)1)Py · px� ���
� px : R× E → R� px(x, y) = x

��
 	�� (x, y) ∈ R× E� "���� DyDϕ(x0, y0)
−1 �
��� 	�� �� ����� ��

DyDϕ(x0, y0)
−1y = −Dϕ(x0, y0)

−1 ◦DyDϕ(x0, y0)y ◦Dϕ(x0, y0)
−1.

�

����������� #�#	 ��� u �� � ���	�
�� �� �#�$� 

�� u(t) → 0 =: e+� u(−t) → e−� ���

‖u(t)‖−1
α u(t) → η �� t → ∞�

���� ����� ��
�� �� ���� ��
��������� U ⊂ [0, 1] × Eα �� [0, 1] × {0}� � ��
��������� V ��

K := cl{u(t) : t ∈ R}� ��� � �
��������
�� ϕ : U → V �	�� ����

�$� ϕ(x, y) = γ(x)+Φ(x)P−(μ)y+P+(μ)y� 
���� μ ∈ R\Re (σ(A))� γ ∈ C1([0, 1], Xα)�

��� Φ ∈ C([0, 1],L(P−(μ)E,P−(μ)X) 
� ������� �������� 
� � ��
��������� ��

ϕ−1({e−, e+})�
�%� Φ(γ−1(e+)) = idE�

�&� ��� ��� (x0, y0) 
� U ����� ��� ����
�	�	� ��������� ���
!��
!�� DyDϕ(x0, y0) ���

Dy(Dϕ(x0, y0)
−1)�

�#� ϕ(R × {0} ∩ U) 
� 
�!��
��� 	���� ��� �����
��
�� �� π �� V ��� 
� ��!� K ⊂
γ(]0, 1[)�

�'� x �→ Aϕ(x, 0) 
� ����
�	�	��


���
 #�'	 ��� u, v+ : R → Xα �� �
!�� �� ������� "�#� ���� ����� 
� � ������ ��
���

������� [a, b] �� 0 ��� � ����������
�� p+ : [a, b] → {u(t) : t ∈ [0,∞[} ∪ {v+(t) : t ∈
[0,∞[} ∪ {e+} ⊂ Xα �	�� ����

�$� p+ ∈ C1([a, b], Xα)�

�%� ṗ+(t) 	= 0 ��� ��� t ∈ [a, b]�

�&� (p+, ṗ+)(a) = (u(0), ‖u̇(0)‖−1
α u̇(0))� p+(0) = e+� p+(b) = v+(0)�

�#� Ap+ 
� ����
�	�	��

�����	 (�� λ+� η+ 	�� ρ(t) := ρ(u, t) �� ����� �� ����
�� &�%� (�� ρ−1(u, .) ������

��� ����
�� �	������ ��	� ���
∞∫

ρ−1(u,t)

‖u̇(s)‖α ds = t.

)�*�� ��
���


p+(t) :=

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
u(ρ−1(u,−t)) t ∈ [−ρ(u, 0), 0[

e+ t = 0

v+(ρ−1(v+, t)) t ∈ ]0, ρ(v+, 0)] .



�� ������	��
�� �� ��
 �
��
������
�� ��

�� ��� ����

ṗ+(t) = −
(

d

dt
ρ−1(−t)

)
u̇(ρ−1(−t))

= − 1

ρ̇(ρ−1(−t))
u̇(ρ−1(−t))

=
1

‖u̇(ρ−1(−t))‖α
u̇(ρ−1(−t))

��	 
��

�
�
��� t = ρ(s) ��� ��
���
 ṗ+(ρ(s)) = −‖u̇(s)‖−1
α u̇(s) ��� ��� s ∈ [0,∞[� �� ����

ṗ+(t) → η+ �
 t → 0 ��	 Ap+(ρ(t)) = Au(t) = f(u(t))− u̇(t)� ��� ��

 
��� �
 ���
�����


�� t ��	 �
 ���	
 
��
 f(u(t))− u̇(t) → f(e+) = Ap+(0) �
 t → ∞�

��� 
����	 ������ �� p+� 
��
 �
� 
�� ��
� t > 0� ��� �� 
���
�	 ��������
��� �

����� �
 �� ���������
 ��� ����
��� 
���
 
� 
�� �������
 ������ �

 ����� �
 ���

�	�

����� ���� ��� u, v− : R → Xα �� ����� �	 
���
�� ���� 
��� ���
� �� � ������ ������

��
���� [a, b] �� 0 ��� � �������
����� p− : [a, b] → {u(t) : t ∈ ]−∞, 0]} ∪ {v−(t) : t ∈
]−∞, 0]} ∪ {e−} ⊂ Xα ���� ����

�� p− ∈ C1([a, b], Xα)�

�! ṗ−(t) 	= 0 ��
 ��� t ∈ [a, b]�

�" (p−, ṗ−)(a) = (u(0), ‖u̇(0)‖−1
α u̇(0))� p−(0) = e−� p−(b) = v−(0)�

�� Ap− �� �����������

e−
e+

p− p+

u(0) = p−(a1) = p+(a2)
v− v+

u

���	
� ���� #��

���
��� �� γ



��� �� 

��������� ���� $�
 p− : [a1, b1] → Xα ��	 p+ : [a2, b2] → Xα �� �����

�� $���� ��% ��	 $���� ��� ��	 ��


γ̃(x) :=

⎧⎨
⎩p−(a1 − x) x ∈ [a1 − b1, 0]

p+(a2 + x) x ∈ [0, b2 − a2].

&� ���� �� $���� ��% ��	 $���� ���� �� ���� ���
�������� p−(a1 − 0) = p+(a2 +0) = u(0)

��	 ṗ−(a1) = ṗ+(a2) = ‖u̇(0)‖−1
α u̇(0)� ���������� γ : [0, 1] → Xα�

γ(t) := γ̃(t(b2 − a2) + (1− t)(a1 − b1)),

�
 ����'	�(��	 ��	 ���
�����
�� 	�)����
������

*���� ‖u(t)‖−1
α u(t) → η �
 t → ∞� �
 �
 ����� 
��
 γ̇(γ−1(e+)) = η� +����� �� ��� �����

������� ��� 
� γ ��	 ��
��� � ������� ϕ ��� ����� �� � �! � ��	 �" ���	�

�� ��	 �% ������ ���� 
�� ������ �� γ �
�� ��
� ,����� � ��	 
�� 
�� �����
- $���� ��%

��	 $���� ���� �





������� �

��������� ��	 
������
 �����������
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��� �� �� � ����� ���
����� �
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����� ���



�
�
�� ���� �� �
������� �
� 

�
�
�� ���� 
! ��� �������"���
�# $�%�� �&
 �������'

��� ��� �� 
���� �
�������� �
��� �
� ��������
� �
�� �
� ��������%� ������ ��� ��������

����!
��� ��������� �����%������� �� � ���������� !
� �
� 
�����
������ ��������
� �� �
�

"��
'�������
��� ���� 
! � ������ �����������# �
&�%��� �� �� �
� ����������� ����� &
��

�������"���
� �
��� ����# (����� ������� �
 �
� ���������� ����� �� �
� �
������� ����� �� ��

� 
��'�������
��� ��������� 
! �
� !��� ���������� ������ &
��
 �
�����
��� �
 �
� ��%��


����� �
�� ��� ��%�� � 
����
������ �
����
� u 
! � ��)���������� ����*
& π� �
� ���� (u, λu̇)

�� � �
����
� 
! Tπ ������ +�,����
� �#-� !
� �%��� λ ∈ R# ������ K := cl{(u(t), 0) : t ∈ R}
�� �
� �� ��
����� ��%������ ���� ��� K̃ := cl{(u(t), λu̇(t)) : λ, t ∈ R} �� �
� �
������ &
��


����� �
�� �
��� �
�� �
� � ��� � Tπ'���������� ��
������ ����
�
�


� 
! K̃#

�� ������ �	�
 ���
��� ������
�

(��� ��� .
� ��� �� /��0 �
� �
��
� 
! ������ ���	 
���
�� ������	�# 1� &��� �
��
& �
�

�
����� ����� �� �� � �������� ���������
� !
� 
�� �
���� ���� ���������
��#

���������� �#2� 3�� F �� � 4����
 ����� ��� ��� a < b �� ���� �������# � ������ ���	


���
�� ������	 
� (]a, b[, F ) �� � ����*
& π = (ξ,Φ) 
� ]a, b[×F � &
���

(x, y)πt = (xξt,Φ(x, t)y) ∀(t, x, y) ∈ D(π).

����� ξ �� � *
& 
� ]a, b[ ��� !
� �%��� (x, t) ∈ D(ξ) &� 
�%� Φ(x, t) ∈ L(F, F )#

3�� SK(]a, b[, F ) ���
�� �
� ��� 
! ��� ������ �5�& ��
���� ����*
&� 
� (]a, b[, F ) ��� ���

π ∈ SK := SK([a, b], F ) ⊂ SK(]a, b[, F ) �! �
��� � ���� �� ε > 0 ��� � π̃ ∈ SK(]a−ε, b+ε[, F )

&��
 (x, y)πt = (x, y)π̃t &
���%�� �
� ��!� ���� �� ��,���#

$�%�� � ���
��
����
� F = F1 ⊕ F2 ���
 ��
��� ��������� ��� ����*
&� π1 = (ξ,Φ1) ∈
SK([a, b], F1)� π2 = (ξ,Φ2) ∈ SK(ξ,Φ2)� ��,�� π1 ⊕ π2 ∈ SK([a, b], E) �� π1 ⊕ π2 = (ξ,Φ1 ⊕
Φ2)� &
��� (Φ1 ⊕ Φ2)(t, x)(y1 ⊕ y2) = Φ1(t, x)y1 ⊕ Φ2(t, x)y2#

3�� M �� �� 
��� ������ 
! � 4����
 ����� F ��� ��� γ : [0, 1] → Γ �� � ��)�
�
��
���#

6�� ��� ������ TM ��M×F � ��� [0, 1]×F �� ��)�
�
��
�� �
 Γ×Xα# U : [0, 1]×R → TM �

U(x)y := γ̇(x) · y �� � ��������� �� �
� ����� 
! ������� �# 7� ����������� �� !
��
&� !�
�

�
�
����� �#22 �
�� TM/TΓ �� � ������ ����� ��
� ��,����
� ���
����� �
 ������� � ���

�
� ��,����
� ���
& �
��������#

���������� �#-� 3�� M �� �� 
��� ������ 
! � 4����
 ����� F ��� ��� Γ �� � C1'

�������!
�� 
! M # 	
� x ∈ Γ ��,��

TxM/TxΓ := {{η + η′ : η′ ∈ TxΓ} : η ∈ TxM}
��



�� �� ����	
��� 	�� 
���
��� �����	�����

���

TM/TΓ := {(x, η) : x ∈ Γ ��� η ∈ TxM/TxΓ}.
��� π �� � C1�	�
��
� 
� M ��� ��� Γ �� ��������� ����� π� ���� π ������	 � �������

	�
��
� Tπ 
� TM ����� �	 ������ ��

Tπ(t, (x, η)) := (xπt,D(π(t, .))(x)η) .

�� ��� ���������� 	�
��
� π′(Γ) ��
�� Γ �� 
��� ��� ������ 	��� ��
���� 	�
��
� 
�

TM/TΓ ����� �	 ������ ��

π′(t, (x, η)) := p (Tπ(t, (x, η)))

����� p : {(x, η) ∈ TM : x ∈ Γ} =: TM(Γ) → TM/TΓ ���
��	 ��� ���
����� ��
�����
�

���� �	� p(x, η) = (x, [η])�

��� TM/TΓ �� � ������ ���� ���  �
����� �
�
�
�� ��� ��� ���� ���� �� � ������ ����

��� �
�
 ‖[y]‖ξ := ‖[y]‖TξM/TξΓ
:= inf{‖y − y′‖ : y′ ∈ TΓ}� ξ ∈ Γ�

����� !�"� ��� M ��� Γ �����	
 ��� ����
������ �	 ��������� ���� ���� π′ := π′(Γ) �� �

��
�����

����	� #��	�� 
�� ��	 �
 	�
� ���� π′ �	 ������������ $���� Tπ �	 � ������ 	��� ��
����

	�
��
�� �� 
�� �� ���

�
	�� ���
 ��	 �

�
����	% ��� Tπ = (ξ,Φ)� &
�� ��� y1, y2 ∈ F

���� [y1]F/TxΓ = [y2]F/TxΓ� ��� x ∈ [a, b] ��� ��� t ∈ R+ 	��� ���� Φ(t, x) �	 ������� '�

���� ���� y1 − y2 ∈ TΓ 	
 ���� Φ(t, x)y1 − Φ(t, x)y2 = Φ(t, x)(y1 − y2) ∈ TΓ ��� �
 ���

���������� 
( TΓ� �
������ ���� [Φ(t, x)y1]F/TxξtΓ = [Φ(t, x)y2]F/TxξtΓ�

&
�� π′ �������	 ��	 ��
������	 (�

 Tπ� )� ����������� �� �	 �
�����
�	 ��� �
 ��� ��
��� 
(

���  �
����� �
�
�
�� ���

[x, y]π′(t1 + t2) = [(xξ(t1 + t2),Φ(x, t1 + t2)y]

= [(xξt1)ξt2,Φ(xξt1, t2)Φ(x, t1)y]

= ([x, y]π′t1)π
′t2 (t1 + t2, (x, y)) ∈ D(Tπ).

�

����� !�*� ��� M ��� Γ �����	
 ��� ����
������ �	 ��������� ��� ��� dimΓ = n ∈ N�

�������� ��� Tπ = (ξ,Φ) ��� ������� ���� Φ(t, x)y 	= 0 	�� ��� (t, x) ∈ D(Φ) ��� ��� 0 	= y ∈
TxΓ�

������
� ��� [u(t), v(t)] �� � �������� �	 π′ ����� �� ������ 	�� ��� t ∈ [−t0, 0]� ���� ����� ��

� ������ �������� (u(t), ṽ(t)) �	 Tπ �����	
��� [u(t), v(t)] = [u(t), ṽ(t)] ��� v(0) = ṽ(0)�

����	� '� ���� [Φ(t0, u(−t0))v(−t0)] = [v(0)]� 	
 ����� �	 � 	
����
� (u(t), w(t)) 
( Tπ

���� w(t)− v(t) ∈ Tu(0)Γ (
� ��� t ∈ [−t0, 0]�

+
��
���� ��� ��	������
� Φ(t0, u(−t0)) : Tu(−t0)Γ → Tu(0)Γ �	 �� �	


����	
 	���� �� �	

���������� ��� 	
 ����� �,�	�	 � ��� �� η ∈ Tu(−t0)Γ ���� Φ(t0, u(−t0))η = v(0)− w(0)�

��� ��������� 
( Φ(t0, u(−t0)) �
� �
����	 ���� Φ(t0, u(−t0))(v(−t0)+η) = w(0)+Φ(t0, u(−t0))η =

v(0)� �� ��� ���������� 
( TΓ� �� ���� [u(t), ṽ(t)]π′t = [u(t), w(t)] (
� ��� t ∈ [−t0, 0]� �����

�� 	�� ṽ(t) := w(t) + Φ(t+ t0)η� �


�	���
��� !�!� ��� M ��� π 	���	(� ��� �		�
���
�	 
( -������
� !�.�



�� ��������	 �


��� ����� x ∈ Γ ��� y ∈ B−(Tπ, x) 	
 ����� 	� 
 �����	�� (u, v) : R− → TM �� Tπ ����

��
� (u(0), v(0)) = (x, y) 
�� supt∈R− ‖v(t)‖ < ∞� 
�� ��� y ∈ B+(Tπ, x) 	
 ����� ��	��� 


�����	�� (u, v) : R+ → TM �� Tπ �	�� (u(0), v(0)) = (x, y) 
�� supt∈R+ ‖v(t)‖ < ∞�

��� 
���� ���	�� �� 
 ������� �����	�� �
� �� ��
���
��� �� TM/TΓ�

���������� ���� ��� M � Γ� 
�� π �
�	��� ��� 
������	��� ��  �!�	�	�� ��"�

��� ����� x ∈ Γ ��� y ∈ B−(π′, x) 	
 ����� 	� 
 �����	�� (u, v) : R− → TM/TΓ �� π′

���� ��
� (u(0), v(0)) = (x, y) 
�� supt∈R− ‖v(t)‖Tu(t)M/Tu(t)Γ
< ∞� 
�� ��� y ∈ B+(π′, x)

	
 ����� ��	��� 
 �����	�� (u, v) : R+ → TM/TΓ �� π′ �	�� (u(0), v(0)) = (x, y) 
��

supt∈R+ ‖v(t)‖Tu(t)M/Tu(t)Γ
< ∞�

��� ��
������
� 	��������	�� �� ��� �������	�� ��
��� 
�� ����
��� �
�	����� #�� ��
$��� �� ���

�������	�� ���
� ��
��� �
�	���� 
�� ��� ����
��� �
�	����% �
� ��� 	���	�
�	�� �������	�&

Tπ ��	�� 	� ����	
� #
�� ��'�	���% ��� ��� ������	�& �	��
�	(
�	�� ���������� �
�����

���������� ��)� ��� M �� 
� ���� ������ �� 
 *
�
�� ��
�� F � 
�� ��� π �� 
 ���	+��

�� M � ��� e+, e− ∈ M �� ��������	� �,�	�	��	
� 
�� ��� u(t) �� 
 ��������	�	� �����	�� �	��

u(t) → e− 
� t → −∞ 
�� u(t) → e+ 
� t → ∞ #��� ������
�	�� e− 	= e+%�

u 	� �
	� �� �� ������ 	� ��� 
�� t ∈ R

dim(B−(Tπ, u(t)) ∩B+(Tπ, u(t))) = 1. #��-%

�� ������	�


.��
�� ��� 
������	��� �� �
�� 	� ��
���� /� 0� �
��	���
�� ��� ���	+�� π 	� 	������ ��

�	�� �����	��� ��

u̇(t) +Au(t) = f(u(t)), #��"%

����� f ∈ C1(U , X)� U ⊂ Xα 	� ����� 
�� A �
� ����
�� ���������� 1� �	�� ��� F = Xα


�� Tπ 	� ��� ���	+�� 	������ �� �	�� �����	��� ��

u̇(t) +Au(t) = f(u(t))

v̇(t) +Av(t) = Df(u(t))v(t).

��� u(t) �� 
 �����	�� �� #��"% ���� ��
� 2�����	�	�� 3�3 �
� �� 
���	��� 
�� ��� ϕ : U → V


�� E �� &	��� �� ��
� ������	�	��� ���� ��� 
������	��� 	�  �!�	�	�� ��" 
�� �
�	�!�� ���

F = Xα� M = V � 
�� Γ = ϕ(]0, 1[× {0})�
0� ��� �,�	�	��	
 e−� e+ 
�� ��������	��

B+(Tπ, u(t)) +B−(Tπ, u(t)) = Tu(t)M ��� 
�� t ∈ R� 
�� #��/%

dimB−(Tπ, u(t)) = codimB+(Tπ, u(t)) + 1,

#��3%

���� #��-% ������

1� 
�� ��� 	� 
 ���	�	�� �� ��
�� ��� �
	� ������ �� ��	� ����	��� .��
�� ��
� K := cl{u(t) :
t ∈ R}�

	
��������� ��4� ��		�
� �
�� u �
 ������� K0 := [K×{0}]TM/TΓ �
 �� �
������ ���������


�� �������� �� π′� �
�� �
� �
��� ���
�
 �� �
������� ����
���
��� N �� K0 �� TM/TΓ�



�� �� ����	
��� 	�� 
���
��� �����	�����

��� ����� �� �����	
�
�� 
�� ���
�	 ��

����� 
��� ��� �������	
 ����� ��
 ��� x0 ∈ K0

B+(π′, x0) ⊂ [B+(Tπ, x0)]

B−(π′, x0) ⊂ [B−(Tπ, x0)]

����	� �� ��� �		��� �������� ���� u(0) = x0 �� x0 ∈ {e−, e+}�
��� [y] ∈ B+(π′, x0) ��� ��� (u, v) : R+ → TM �� � 	����
�� �� Tπ �
�� v(0) = y�

�� ���� u(t) → e ∈ {e+, e−} ��� ‖u(t)‖−1
α u(t) → η �	 t → ∞� ����� η 
	 �� �
��������� ��

L := A −Df(e)� ��� 0 < λ �� ��� �		��
���� �
��������� ��� ��� Pη ������ ��� �������
��

���� ��� �
���	���� 	������ �� η ���� 
	� Pη = lim0 
=δ→0 P
−(λ+ δ)− P−(λ− δ)�

 � ����� !�"#� ����� �$
	�	 � ��
��������� V0 �� e 
� Γ 	��� ���� ��� ��� x ∈ V0 ���

�����
��� �������
�� Q(x) : (1− Pη)X
α → Xα/TxΓ �
�	 
� ISO((1− Pη)X

α, Xα/TxΓ) ���

����� ��� ���	����	 0 	= m,M ∈ R+ 	��� ����

m‖x‖α ≤ ‖x‖Xα/TxΓ
≤ M‖x‖α ∀x ∈ V0. %
�
&

��� t0 ∈ R+ 	��� ���� u(t) ∈ V0 ��� ��� t ≥ t0� ��� 	�� w(t) := Q−1(u(t))([v(t)])� t ≥ t0�

'
��� supt∈R+ ‖[v(t)]‖Xα/Tu(t)Γ
< ∞� %
�
& 
���
�	 ����

sup
t∈R+

‖w(t)‖α < ∞. %
�(&

)�������� 
� ����	 ��� ��� t ≥ t0 ���� [w(t)− v(t)]Xα/Tu(t)Γ = 0 ��� 	� v(t)− w(t) ∈ Tu(t)Γ�

����� !�* 
���
�	 ���� ����� 
	 � ��
��������� V1 ⊂ V0 �� e 	��� ���� P (x) := Pη ∈
ISO(Tu(t)Γ, PηX

α) ��� ��� x ∈ V1� ����� 
	 � t1 ∈ R+ 	��� ���� t1 ≥ t0 ��� u(t) ∈ V1 ��� ���

t ≥ t1� ����
�� F (t) := Df(u(t))−Df(e)� �� ����

PηF (t)v(t) = PηF (t)(v(t)− w(t)) + PηF (t)w(t)

= PηF (t)P (u(t))−1︸ ︷︷ ︸
→0 �� t→∞

Pηv(t)︸ ︷︷ ︸
Pη(v(t)−w(t))

+PηF (t)w(t)︸ ︷︷ ︸
→0 �� t→∞

.

���	� Pη(v(t)− w(t)) = Pηv(t)� t ≥ t1� 
	 � 	����
�� �� �� ���
���� �
+�����
�� �,���
�� %
�

��� �
���	
��&

ẋ+ PηLx︸ ︷︷ ︸
λx

= G(x, t)

�� ��� ����� -�� ������� ".�.�"/� ��
�� 	����	 ���� Pη(v(t) − w(t)) 
	 �������� �� ���

�
�������� 0 < λ� ���� 
	� supt∈R+ ‖Pη(v(t)− w(t))‖α < ∞� 0� ������	 ����

sup
t∈R+

‖v(t)‖α ≤ sup
t∈R+

‖w(t)‖α + sup
t∈R+

∥∥P (u(t))−1
∥∥
α,α

‖Pη(v(t)− w(t))‖α < ∞,

��� ��������� y ∈ B+(Tπ, x0)� 
����
�� ���� B
+(π′, x0) ⊂ [B+(Tπ, x0)]�

!�������	��� ��� [y] ∈ B−(π′, x0) ��� ��� (u, v) : R− → TM �� � 	����
�� �� Tπ �
��

v(0) = y %
�	 �$
	����� ������	 ���� ����� 
�1&�

�� ���� u(t) → e− ��� ‖u(t)‖−1
α u(t) → η̃ �	 t → −∞� ����� η̃ 
	 �� �
��������� ��

L̃ := A−Df(e−)� ��� 0 < λ̃ �� ��� �		��
���� �
�������� ��� ��� Pη̃ ������ ��� �������
��

���� ��� �
���	���� 	������ �� η̃�



�� �������	�
��� ����� � 
���
��� ��

�� ������� 	
��� ����	� 
 ����
���
��� Ṽ ⊂ Γ �� e− ���
 	

	 P̃ (x) := Pη̃ ∈ ISO(TxΓ, PηX
α)


�� 	
� �
�����
� ������	��� Q̃(x) ∈ ISO((1 − Pη)X
α, Xα/TxΓ) ��� 
�� x ∈ Ṽ � ���� 	
���

�� 
 t̃0 ∈ R− ��	
 u(t) ∈ Ṽ ��� 
�� t ≤ t̃0� ��		��� w̃(t) := Q̃−1(u(t))([v(t)])� �� 

��

supt≤t̃0
‖w̃(t)‖α < ∞.

�
�������� �	 ������� 
� ������ 	

	 Pη̃(v(t) − w̃(t))� t ≤ t̃0� �� 
 ����	��� �� 
� �����
��

�������	�
� ���
	���� �
����

ẋ+ Pη̃L̃x = Pη̃((G̃ ◦ P̃−1)(u(t))x) + Pη̃(G̃(u(t))w̃(t))

�
��� G̃(x)y := Df(x)y−Df(e−)y� �������� 	

	 supt≤t̃0
‖Pη̃v(t)‖α < ∞ 
�� ���������	��

supt∈R− ‖v(t)‖α < ∞� �
�� �
��� 	

	 y ∈ B−(Tπ, x0) 
�� 	

	

B−(π′, x0) ⊂ [B−(Tπ, x0)]� �

����� �� ����������	 
��� ��	 N0 �� 
� ����
	��� ����
���
��� ��� K ���
	��� 	�

	
� ���	���	��� �� π 	� Γ 
�� �� ��

N := {[x, y] ∈ TM/TΓ : x ∈ N0 
�� y ∈ Eα ��	
 ‖[y]‖Xα/Tu(t)Γ
≤ 1}.

!��	
��� ��	 (ũ, ṽ) : R → N �� 
 ���� ����	��� �� π′� "	 ������� ���� ����
 #�$ 	

	

	
��� ����	� 
 ���� ����	��� (ũ, v) �� Tπ ���
 	

	 (ũ, [v]) = (ũ, ṽ)� v �� �������� 	

	 ��

sups∈R ‖v(s)‖α < ∞ �� ����
 #�%�

���� 	
��� 
�� 	�� �
���& ��	
�� ũ(t) ∈ {e−, e+} ��� 
�� t ∈ R� �������� 	

	 v ≡ 0 �� 	
�


����������	� 
�����	���� �� ũ(t) = u(t+ τ) ��� ���� τ ∈ R� '� �
� 
����� �������� 	

	

τ = 0�

"� 	
� ������ �
��� �� 

�� ��� 
�� t ∈ R v(t) ∈ TΓ = B+(Tπ, u(t)) ∩ B−(Tπ, u(t))� �
��


�� �����
���	 	� ṽ(t) = 0 
�� �� ṽ ≡ 0� �

�� �������	�
��� ����
 � ����
���

�� �� 	
� �������� ���	���� �� 
�� ����� 
 ����
� �����
�� E ⊂ X� "	 �� ���������	 	� 
�����

	

	 AE1 = A(E ∩ D(A)) ⊂ E� ��	 ϕ : U → V � 
�� μ ∈ R �� ����� �� (������	��� $�$�


�� ��	 ϕ(x(t), y(t)) �� 
 ����	��� �� )#�*+ �
��
 �� �� ��� �� [0, T [� �
�� ��� 
�� t ∈ ]0, T [

ϕ(x(t), y(t)) ∈ X1� (x(t), y(t)) �� �������	�
���� 
��

Dϕ(x(t), y(t))(ẋ(t), ẏ(t)) +Aϕ(x(t), y(t)) = f ◦ ϕ(x(t), y(t)). )#�,+

��		��� P := P−(μ) 
�� Q := P+(μ)� �� �
� ����	 )#�,+ ��	� 
� ���
	��� �� PX 
�� 
��	
��

��� �� QX� '� ���� ���	 	
� ��	
	��� �� t �� ����� 	� ������� 	
� ��
�
����	��

-� PX� �� 

��

PDϕ(x, y)(ẋ, ẏ) = Pf ◦ ϕ(x, y)− PAϕ(x, y)

=: P f̃(ϕ(x, y)),

�
��� 	
� ���
	 ���� �� 
�
�� ���	�������� !�.�
�	/�������	�
��� ����� PX ⊂ X1 ��  ��	�/

���������
��



�� �� ����	
��� 	�� 
���
��� �����	�����

�� QX� ��� ����	�


QDϕ(x, y)(ẋ, ẏ) +A Qy︸︷︷︸
Q(ϕ(x,y)−ϕ(x,0))

= Qf(ϕ(x, y))−AQϕ(x, 0)

=: Qf̃(ϕ(x, y)).

f̃ 	
 ����
������� ����	����
� ��� f̃ ◦ ϕ ��
 � ����	����
 �������
���	���	�� Dy f̃ � �������


����� (x(t), y(t)) 	
 � 
����	�� ��

ẋ(t) = g1(x(t), y(t))

ẏ(t) + Ãy(t) = g2(x(t), y(t)),

����� �� 
��

g(x, y) := (g1, g2)(x, y) := Dϕ(x, y)−1 ◦ f̃ ◦ ϕ(x, y)
��� Ã := AQ� ��	�� 	
 ���	� � 
�����	�� �������� 
	��� ��� ��� y ∈ X1 �� ���� Ay−Ãy = APy

�	�� AP ∈ L(Xα, X0)� ��� 
�����	��	�� ��� ������
 ���� ���� ���������  �!�"#� $��������

�� ���� �������  �!�%#� ��� ����
 	������ �� A ��� Ã ��� �&�	�������

'
	�� (����
	�	�� !�!� ��� ��� 
���

����� "� )� g2 : U ∩ Eα → E0 �� �����������	 
���
���������������� �� y ����
 Dyg2 ∈
L(Eα, E0)��

����	� *������ �� �	�� 
��� ���� g = (g1, g2) 	
 ����	����
��

�������
�	+�����	���� 	� y� ,���	�� (x0, y0) ∈ U � y ∈ Eα ��� h ∈ R+� �� ���� ��� h


���� ������

h−1(g(x0, y0 + hy)− g(x0, y0))

= Dϕ(x0, y0)
−1h−1(f̃ ◦ ϕ(x0, y0 + hy)− f̃ ◦ ϕ(x0, y0))

+ h−1
(
Dϕ(x0, y0 + hy)−1 −Dϕ(x0, y0)

−1
)
(f̃ ◦ ϕ(x0, y0 + hy))

→ Dϕ(x0, y0)
−1D(f̃ ◦ ϕ(x0, y0))y +

(
DyDϕ−1(x0, y0)y

)
(f̃ ◦ ϕ)(x0, y0)

�
 h → 0� ��� �	�	� ������
 ����	����
�� �� (x0, y0) ��� ���


Dyg(x0, y0)y = Dϕ(x0, y0)
−1D(f ◦ ϕ)(x0, y0)y +

(
DyDϕ(x0, y0)

−1y
)
(f̃ ◦ ϕ)(x0, y0)

�	�� y ∈ Eα� �

,�� ��� ���	�� �� 
��	-��
 (πλ)λ∈[0,1] �� R× Eα .Eα = E ∩Xα/ �� ������ �
 ������
0


�	���
��� "�  � (x(t), y(t)) 	
 � 
����	�� �� πλ 	� ϕ(x(t), λy(t)) 	
 � �	�� 
����	�� �� ."�1/

��� y(t) 	
 � �	�� 
����	�� ��

ẏ(t) + Ãy(t) = g̃λ(x(t), y(t)), ."�2/

����� �� 
��

g̃λ(x, y) :=

⎧⎨
⎩λ−1g2(x, λy) λ > 0

Dyg2(x, 0)y λ = 0.

3	��� λ ∈ ]0, 1] ��� � 
����	�� ϕ(x(t), λy(t)) �� ."�1/� 	� ������
 ���� ."�2/ ����
� ���� 	
� y(t)

	
 � 
����	�� �� ."�2/�

��� ��� ������� ����� 	
 ��� ��	� ��
��� �� ��	
 
���	���



�� �������	�
��� ����� � 
���
��� ��

������� ����� ��� ��� �����	�
��� �� ��� 
��
��
�� �� ����
�� � ����� ��� ��		��� ���� u


� �������

����

��� K := ϕ−1(clu(R)) 
� �� 
������� 
����
��� ��� �����
�� �� πλ ��� ��� λ ∈ [0, 1]�

��� h(π1,K) = h(π0,K)�

�� 	
��
 
	 �
	�� 
�� 
��	
��� �� ��� ���� 
�� �	��	���� ����
�	��� ������
�	�� ����	����

��� U ∩ (R× {0}) = ]0, 1[× {0}�
��� ‖y‖α ≤ 1 �	
 ��� (x, y) ∈ U �

��� U �� �	��� �� y� 
��
 ��� �	
 ��� ξ ∈ [0, 1] 	�� ��� (x, ξy1+(1− ξ)y2) ∈ U �������


(x, y1) ��� (x, y2) ∈ U �

�!� sup(x,y)∈U ‖g2(x, y)‖α < ∞�

��� sup(x,y)∈U ‖Dyg2(x, y)‖α,0 < ∞�

����	 ����� ����� ��
��� � �������� L ∈ R+ ���� ����

‖g̃λ(x, y1)− g̃λ(x, y2)‖0 ≤ L‖y1 − y2‖α
��� ��� (x, y1), (x, y2) ∈ U ��� ��� λ ∈ [0, 1]�


����� "�
 λ ∈ [0, 1] ��� (x, y1), (x, y2) ∈ U � #� ���� �	
 ��� ξ ∈ [0, 1]

‖g̃λ(x, y1)− g̃λ(x, y2)‖0 ≤ sup
ξ∈[0,1]

‖Dy g̃λ(x, ξy1 + (1− ξ)y2)‖α,0‖y1 − y2‖α

≤ sup
(x,y)∈U

‖Dyg2(x, y)‖α,0‖y1 − y2‖α.

�

����	 ���!� ��� λn → 0 
� [0, 1]� T ∈ R+� γn → γ0 
� C([0, T ], ]0, 1[)� ��� hn(t, y) :=

g̃λn(γn(t), y) ��� n ∈ N ∪ {0}�
���� hn(t, y) 
� ����
����� 
� (t, y) ��� ��� n ∈ N ∪ {0} ��� ��� ����� 0 < ρ ∈ R+ ��� ���

sup{‖hn(t, y)− h0(t, y)‖0 : t ∈ [0, T ] y ∈ Eα ‖y‖α ≤ ρ} → 0

�� n → ∞�


����� #� ���� �	
 ��� (x1, y), (x2, y) ∈ U

‖g̃λn
(x1, y)− g̃0(x2, y)‖0 ≤ ‖(g̃λn

(x1, y)− g̃λn
(x1, 0))− (g̃0(x2, y)− g̃0(x2, 0))‖0

+ ‖g̃λn
(x1, 0)− g̃0(x2, 0)‖0

≤ sup
ξ∈[0,1]

‖Dyg2(x1, ξλny)−Dyg2(x2, ξλny)‖α,0‖y‖α

+ ‖g2(x1, 0)− g2(x2, 0)‖0.

$���	�� 
��
 	�
 ����� �� �	
 

�� �	
 �	�� ρ ∈ R+� %��� 
��
� �
� ��&������ tn → t0 ��

[0, T ]� yn �� Eα� k(n) → ∞ �� N ��� �� ε > 0 ���� 
��

∥∥hk(n)(tn, yn)− h0(tn, yn)

∥∥ > ε �	




�� �� ����	
��� 	�� 
���
��� �����	�����

��� n ∈ N� �� ���	 
� �
� ��
�� ���������
�� 	� 
��� �
� xn := γk(n)(tn) ��� x̃n := γ0(tn)∥∥hk(n)(tn, yn)− h0(tn, yn)
∥∥
0
≤ sup

ξ∈[0,1]

‖Dyg2(xn, ξλny)−Dyg2(x̃n, ξλny)‖α,0ρ

+ ‖g2(xn, 0)− g2(x̃n, 0)‖0
→ 0 �� n → ∞,

� �
���������
�� �

����� �
� �����
�� ������� 	� ��� �
	 ���� �
 ��
��

����������� ����	 ��� [a, b] ⊂ V ���� ���� K := [a, b] × {0} 	� �
 	������
 	
���	�
� ���

�����	�� �� π0�

���
 (πλ)λ∈[0,1] 	� �
 S���
�	
���� ���	�� �� ���	���� 	
 ��� ��
�� �� ���� ���
	�	�


������ ���� 	�� ��� ����� λ ∈ [0, 1]� K 	� �
 	������
 	
���	�
� ��� �����	�� �� πλ �

 ����� 	�

� 
�	�� �����
 W �� λ 	
 [0, 1] �

 � �����
 ��� N ⊂ V ���� ����

��� ��� ����� λ ∈ W � N 	� � ����
��� πλ��
�	��	 �� 	�����	
� 
�	�� �����
 �� Kλ

�����	�� �� πλ!

��� ���
���� λn → λ0 	
 [0, 1]� ���
 xnπλntn → x0πλ0t0 �� n → ∞ ��� ����� ��"��
��

((xn, yn), tn) → ((x0, y0), t0) 	
 U ×R+� �

 N 	� (πλn)n��
�	��	 ���

����
	 ��� λn → λ0 �� [0, 1]� �� 
��� �
 �

	 �
�� πn := πλn
→ πλ0

:= π0�  
�

����! n ∈ N ��� (un(t), vn(t))� 0 ≤ t ≤ tn ���
�� �
� �
����
� 
� π �
� 	
��
 (un(0), vn(0)) =

(xn, λnyn)�

"���
�� �
�� λ0 	= 0� �� �
��
	� �
�� (xn, λnyn) → (x0, λ0y0)� �
 �! �
� �
�������! 
� π1 �
���

�� � �
����
� (u0(t), v0(t)) 
� π 	��
 (u0(0), v0(0)) = (x0, y0) 	
��
 �� ��#��� �
� ��� t ∈ [0, t0]

��� 	� 
��� (un(tn), vn(tn)) → (u0(t0), v0(t0)) �� n → ∞� $
����
��� (xn, yn)πntn =

(un(tn), λ
−1
n vn(tn)) → (u0(t0), λ

−1
0 v0(t0)) = (x0, y0)π0t0 �
�� ��� πn → π0�

%
	 ����
�� �
�� λ0 = 0� &! �
� �
�������! 
� π1� �
��� �� � �
����
� (u0(t), 0) 
� π1 ��#���

�
� ��� t ∈ [0, t0] 	��
 (u0(t), 0) = limn→∞(un(t), λnvn(t)) �
� ��� t ∈ [0, t0]�

 
� ����! τ ∈ [0, t0]� 	� 
��� supt∈[0,τ ] |un(t)− u0(t)| → 0 �� n → ∞� �� �
��
	� ��
� �����

���' �
�� �
� ��� n ∈ N

Gn(t, y) := g̃λn(un(t), λny) t ∈ [0, τ ]

�� �����
��( �
�����
�� �� y ��� ��
� ����� ���) �
��

sup
‖y‖α≤ρ t∈[0,τ ]

‖Gn(t, y)−G0(t, y)‖ → 0

�� n → ∞� ��
����� �
�� ρ > 0 �� ��*������! ������

+
��
���� �
� ���
 n ∈ N� vn(t) �� � ���� �
����
� 
�

ẏ + Ãy = Gn(t, y).

��� v0(t) ���
�� �
� ��,�����! ��#��� ���� �
����
� 
�

ẏ + Ãy = G0(t, y)

	��
 v0(0) = y0� -��� $
�
��� ).��/ ������� �
�� vn(t) → v0(t) ����
���! 
� [0, τ ] ��
�����

�
�� v0(t) �� ��#��� 
� [0, τ ]� &������ vn(t) ∈ U � 	� 
��� ‖vn(t)‖α ≤ 1 �
� ��� t ∈ [0, tn] ���



�� �������	�
��� ����� � 
���
��� ��

��� n ∈ N �� �� ������� �	�
 ��

� 
��� ��� ���� ��

� ����� ���� v0(t) �� ������ ��	 ���

t ∈ [0, t0]� ���� ����� ����� ���� πn → π0�

�� �	��	 �� ��	��� ��� ��	��� ��
����������� ��� 0 < ε ∈ R+� ��� N0 ⊂ U �� �� ���������

�������	���� ��	 K ���� 	�� �!� �� π1 ��� �����

N := N(ε) := {(x, y) ∈ [0, 1]× Eα : (x, 0) ∈ N0 ��� y ∈ Eα ���� ‖y‖α ≤ ε}.

"� !������� ε0 �
��� ���#��� N(ε0) ⊂ U � ��� ��

� 
��� ��� ���� ��

� ����� �
 ��

���� πλ ���� ��� �$ ���� �� N(ε) ��	 ��� ε ∈ [0, ε0[ ��� ��� λ ∈ [0, 1]�

%�� ��� ���	� �� ����� ��&#��!�� (xn, yn) �� N � λn → λ0 �� [0, 1] ��� tn → ∞ �� R+ �#!�

���� ��	 ���	� n ∈ N ��� ��	 ��� s ∈ [0, tn] xnπns ∈ N � ���	� �� ��� πn := πλn
� '�


�� ���#
� ���� xn → x0� ��� (un(s), vn(s)) := (xn, yn)πns� s ∈ [0, tn]� vn(t) �� � 
���

���#���� �� (
�)*� +��!�� �� ������� �$�!��� �� �� ���  	��� �� ���� ����	�
 ������ ���� �����

β ∈ ]α, 1[ ���	� �� � !������� b ∈ R+ �#!� ���� ‖vn(tn)‖β ≤ b ��	 ��� n ∈ N �#,!������ ��	���

"� ���� ����	�
 ����)� (A ��� !�
 �!� 	��������*� ��� ��!�#���� Xβ ⊂ Xα �� !�
 �!�� ��

���	� �$���� � !����	���� (�� Xα* �#���&#��!� �� vn(tn)� ����  	���� ��� !���
� !��!�	����

��� ��
����������  	� �	�����

-#  ��� ���� N(ε0) �� �� ��������� �������	���� ��	 (K,π0) (���� !�� ������ �� �!������

�� !������� ε0 �
��� ���#��* ��� ���� ���	� ���� ��� �$��� �� ε ∈ ]0, ε0[ �#!� ���� ��	

��� λ ∈ [0, 1]� N(ε) �� �� ��������� �������	���� ��	 (K,πλ)� ���� ���	� �� � ��&#��!�

λn ∈ [0, 1] ��� ��	 ���	� n ∈ N � �#�� ���#���� (un(t), vn(t)) �� πn := πλn ���� 0 < cn :=

supt∈R ‖vn(t)‖α → 0 �� n → ∞�

�� ������� ���� ���� (un(t), c
−1
n vn(t)) �� � ���#���� �� πλncn � '� 
�� ���#
� ���� 2‖vn(0)‖α ≥

cn ��� �� ��
���������� ���� (un(0), vn(0)) → (x0, y0)� '� ����

‖vn(0)‖α
cn

≥ ‖vn(0)‖α
2‖vn(0)‖α

=
1

2
,

������� ���� y0 	= 0� "� ���� ����	�
 ����
� ��� ���!� cnλn ≤ cn → 0 �� n → ∞�

(x0, y0) ∈ Invπ0
(N) = K� � !���	���!���� �� y0 	= 0� '� ���� ����� ���� ���	� �� �� ε0 > 0

�#!� ���� ��	 ��� ε ∈ ]0, ε0] ��� ��� λ ∈ [0, 1] N(ε) �� �� ��������� �������	���� ��	 K 	�������

�� πλ� �

����� 
��.�

p2 ◦DΠ1,t(x0, 0) = Φ(x0, t) ◦ p2 (x0, 0) ∈ ]0, 1[ ∩ U,

����� p2 : R × E → E� p2(x, y) := y� ����	�
 	�� �����
��� ������	
��� Πλ,tx := xπλt ���

π0 = (ξ,Φ) ∈ SK([0, 1], E)�



�� �� ����	
��� 	�� 
���
��� �����	�����

������ ��������� 	� 
����	��� 
��� ��� �������	��� 
��
� ��� ��� ��� ��� x0 ∈ ]0, 1[×
{0} ∩ U ��� (x, y) ∈ R× Eα

Φ(x0, t) ◦ p2(x, y) = Φ(x0, t)y

= lim
λ→0+

p2 ◦Πλ,t(x0, y)

= lim
λ→0+

p2(λ
−1(Π1,t(x0, λy)−Π1,t(x0, 0)))

= p2 ◦DΠ1,t(x0, 0)(0, y)

= p2 ◦DΠ1,t(x0, 0)(x, 0)︸ ︷︷ ︸
0

+p2 ◦DΠ1,t(x0, 0)(0, y)

= p2DΠ1,t(x, 0)(x, y),

����� �� ���� ���� 	�� ���������� �� Γ ����� π ������ ]0, 1[ ∩ U ����� π1�� �

����� �� ������	 
���� ��� ������ ������ ���� �������	��� 
��
 ��� ����  ������

!��"�"# �� �� ���� 	��	 K = ϕ−1(cl{u(t) : t ∈ R}) �� �����	�� ����	��� 	� π0�

$�	 M̃ =]0, 1[×Eα ��� Γ̃ =]0, 1[×{0}�

TM̃ ×R+
Tπ1 ��

id×p2×id

��

TM̃

id×p2

��
]0, 1[×Eα ×R+

π0 �� ]0, 1[×Eα

�� �����	�	��� %& $���� 
��' ���

TM̃ ×R+
Tπ1 ��

id×p2×id

��

TM̃

id×p2

��
]0, 1[×Eα ×R+

k×id

��

]0, 1[×Eα

k

��
TM̃/T Γ̃×R+

π′
1 �� TM̃/T Γ̃,

����� �� ��	 k(x, y) := [x, (0, y)]� %& 	�� �����	��� �� π′
1� (��%����� 	�� �������� 	��

�������� �p2 �� �� ������������ ����� 	��	

]0, 1[×Eα ×R+
π0 ��

k×id

��

]0, 1[×Eα

k

��
TM̃/T Γ̃×R+

π′
1 �� TM̃/T Γ̃,

�����	���

)& �������	��� 
�*� [K × {(0, 0)}] �� �� �����	�� ��������	 ��	 ����	��� 	� π′
1� k : ]0, 1[ ×

Eα → TM̃/T Γ̃ �� � ������������� �� ���	������ %�+��	���, 	�� ���	����	& �� 	�� �������

[x, (y1, y2)] �→ (x, (0, y2)) ������� ���� 	�� ������ �� 	�� -��	���	 	������& �� TM̃/T Γ̃��

.����� K �� �����	�� ����	��� 	� π0� �
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�������� ��	
� �� 
��
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� ���	��� �
������

�	
� �	
���� 
� ��������� �
�	 �	� 	������� 
���� �� �
��
� ���� ������� ���
���� ���

���


� �	� ����
��� �	
���� !� ����
��� �
��
� ���� ������� ���
���� �	
�	 
�� "����
��� ��

���
�
��
� �
�
���
� �#�
�
��� 
�� 
�� ����
�
$�� �� �	� $���%����
��& �	
� 
�& �	� ���
���

π = π(A,F ) ∈ SK([−2, 2], Xα) 
� 
������ �� �
�� �����
��� ��

ẋ = 1− x2 '� ()

ẏ +Ay = F (x)y.

*�������
����& �	� �
"	� �
�� �� �	� 
���� �#�
�
�� 
� ��� ������
�
�� ���
��� +
���	
�$ ���%

�
����� 
� ��� 
������ ���� �	
� F 
� 
 ����
����� �
�
�� �� �
��
� ����
���� �	�������&

�	� ���� ���� �������	 
� ���� 
� �������, (u(t), v(t)) 
� �
���� 
 �
�� �����
�� �� '� () 
� u(t)


� 
 �����
�� �� �	� -��� �#�
�
��& �	
� 
�& u̇(t) = 1 − u(t)2& 
�� v(t) 
� 
 �
�� �����
�� ��

ẏ +Ay = F (u(t))y 

+�� [a, b] �� 
� 
��
��
�� 
�����
� 
�� ��� π̃ ∈ SK([a, b], Xα) �� 
������ �� �
�� �����
��� ��

ẋ = f(x)

ẏ +Ay = F (x)y

���	 �	
� �	��� ��
��� 
 	��������	
�� ϕ : [a, b] → [−2, 2] ���	 �	
� ϕ ◦ u(t) 
� 
 �����
��

�� ẋ = 1− x2 �	������ (u(t), v(t)) 
� 
 �����
�� �� π̃ �	�� (ϕ ◦ u(t), v(t)) 
� 
 �
�� �����
��

��

ẋ = 1− x2

ẏ +Ay = F (ϕ−1(x))y


�� (F̃ (x) := F (ϕ−1(x)))x∈[a,b] 
� 
 
"

� 
 ����
����� �
�
�� �� ���
���� �	
� .���
-��

�	� �����
��
�� �� ���
���� "
��� �� '� () 

�� �������	�
 	��������� 
����
��	� �� ���������
 ��
 �
�����������

/������ �	
�

• X 
� 
 0
�
�	 ��
��1

• A 
� ������

� �
��
� ����
��� �	
�	 
� ������� ��-��� �� X 
�� 	
� ����
��

���������1

• Xα ������� �	� α%�	 ��
��
��
� ����� ��
�� '��� 2��3)1


��

'() F : [−2, 2] → L(Xα, X0) 
� ��
���	��
 ��	��	����& �	
� 
�& �	��� 
�� −2 = x0 ≤
· · · ≤ xn = 2 ∈ [−2, 2] ���	 �	
� ��� ����� 
�����
� [xi, xi+1]& i ∈ {0, . . . , n−1}& �	���


� 
� F̃ ∈ C([xi, xi+1],L(Xα, X0)) ���	 �	
� F (x) = F̃ (x) ��� ����� x ∈ ]xi, xi+1[ 

��



�� �� �������	 
��
� �� �
�
�� ��
� ������� �
�
�����

��� −1, 1 	∈ {x0, . . . , xn}�

����� ���� ��� Fn ∈ L∞([0, τ ],L(Xα, X))� n ∈ N ∪ {0}� ��� �	

��� ���� Fn(t) → F0(t)

�
�
 �� [0, τ ]


��� ����� �	����� ����� �� M ∈ R+ ����

2‖Fn‖∞ ≤ M

��� ��� n ∈ N ∪ {0}

�����

Knv(t) =

t∫
0

e−A(t−s)(Fn − F0)(s)v(s) ds t ∈ [0, τ ]

������ � ���	���� �� �
������� �� L(C([0, τ ], Xα), C([0, τ ], Xα)) ���� ‖Kn‖ → 0 �� n → ∞


����	� �� 	
��

Knv(t) =

t∫
0

e−A(t−s)(Fn − F0)(s)v(s) ds t ∈ [0, τ ].

�
��� 
�
��
�� �
���
��
 �
�� ������ �	��� ���
� 1 ≤ M̃, ˜̃M ∈ R+ 
�� μ ∈ R 
��	 �	
�

Reσ(A) > μ 
��∥∥e−At
∥∥
α,0

≤ ˜̃Mt−αe−μt ≤ t−αM̃ t ∈ ]0, τ ]∥∥e−At
∥∥
0,0

≤ ˜̃Me−μt ≤ M̃ t ∈ [0, τ ] .

��� ε > 0 
�� v ∈ C([0, τ ], Xα)� �	��� ���
�
 
 δ = δ(ε) > 0 ���	

M̃

t∫
0

s−α ds < ε ��� 
  t ∈ [0, δ].

!��
�"���� #� �� �$�
�� �	
�

‖Knv(t)‖α =

∥∥∥∥∥∥
t∫

0

e−A(t−s)(Fn − F0)(s)v(s) ds

∥∥∥∥∥∥
α

≤ Mε‖v‖C([0,τ ],Xα) �����

��� 
  t ∈ [0, δ]�

%# &�����'
 �	����� �
�� ����� �	��� ���
�
 
 ��

��
$ � 
�� C ⊂ [δ, τ ] ���	 ��$�
��� ��

���

λ(C) ≤ ε 
�� ‖Fn(t)− F0(t)‖α,0 → 0 ������� # �� [δ, τ ] \ C�



�� ���������	 �
�����
�� ��
������� 
� �
����
��	 ��� ������������� ��

��� ����� t ∈ [δ, τ ]� �� 	
��

‖Knv(t)‖α ≤

∥∥∥∥∥∥∥
∫

[δ,τ ]\C

e−A(t−s)(Fn − F0)(s)v(s) ds

∥∥∥∥∥∥∥
α

+

∥∥∥∥∥∥
∫
C

e−A(t−s)(Fn − F0)(s)v(s) ds

∥∥∥∥∥∥
α

+

∥∥∥∥∥∥e−A(t−δ)

δ∫
0

e−A(δ−s)(Fn − F0)(s)v(s) ds

∥∥∥∥∥∥
α

≤ δ−αM̃ sup
s∈[δ,τ ]\C

‖Fn(s)− F0(s)‖α,0‖v‖C([0,τ ],Xα)

+ εM̃ ess sups∈C ‖Fn(s)− F0(s)‖α,0‖v‖C([0,τ ],Xα) + εM̃M‖v‖C([0,τ ],Xα).

��� N = N(ε) ∈ N 
��	 �	
� ��� 
�� n ≥ N

sup
s∈[δ,τ ]\C

‖Fn(s)− F0(s)‖α,0 ≤ εδα.

�� ����������� ���	 ������ �� 	
�� 
	��� �	
� ��� 
�� t ∈ [0, τ ] 
�� 
�� n ≥ N(ε)�

‖Knv(t)‖α ≤ M̃(1 + 2M)ε‖v‖C([0,τ ],Xα),

�	��� ε > 0 �

 
�����
��� �

����������� ���	 ��� ����� (x0, y0) ∈ ]−2, 2[ ×Xα� �	��� 
� � 
�
�
�� ���
����� ������

�
�� ���
�
�� (u(t), v(t)) �� ������ �	
�	 
� ������ �� J ⊂ R+ ��� ���
���� (u(0), v(0)) =

(x0, y0)�

��������� 
� J 	= R+� �	�� �	��� 
� � t0 ∈ R+ �
�	 u(t) → −2 �� t → t0−�

����
	 ��� u(t)� t ∈ [0, T [ �� �	� �
���
��� �� ��� 
������� ��

ẋ = 1− x2 x ∈ ]−2, 2[ . ���!�

�� ������
 ���� "��� #	����� $$��% �	
� �	��� �
 
 ���&�� 
������� ��

v̇ +Av = F (u(t))v t ∈ [0, T [

���	 v(0) = y0� �

����������� ��!	 ��� Fn → F0 ∈ L∞([−2, 2],L(Xα, X))� n ∈ N� ��� �
����� �	�� Fn�

n ∈ N ∪ {0}� ��� �
��
����� ����
�
�
��

�
��	��� ��� (xn, yn) → (x0, y0) ∈ ]−2, 2[×Xα �� ���
������ ��� (un, vn) : [0, Tn[ → ]−2, 2[×
Xα� n ∈ N ∪ {0}� �	� ���
����� ������ �
�� ���
�
��� �� π(A,Fn) �
�	 (un(0), vn(0)) =

(x0, y0)�

�	�� Tn → T0 ��� sups∈[0,t] ‖vn(s)− v0(s)‖α → 0 �� n → ∞ �	������ t ∈ [0, T0[�

����
	 �� ������
 ���� '��(�
����� ��� �	
� Tn → T0 
���� �	� �
���
� ���
�� ��

(un, vn) ��(���
 ���� �� un� �	��	 �
 
 
������� �� ���!��



�� �� ������	
 ��
�� �� ������ ���� 	��
��� ���������

�� ����� �� �	�
 �	� ������
����� �� �� �������� �� �������� ����� ����� t� ������ �	��∥∥e−Atx
∥∥
α
≤ M‖x‖α∥∥e−Atx

∥∥
α
≤ Mt−α‖x‖0

��� ���� M ∈ R+ ��� ��� ��� t ∈ [0, 1]� ������ ����	�� �	�� τ̃ ∈ ]0, 1] �� ����� ����
	 �	��

M

t∫
0

(t− s)−α‖Fn(u(s))‖α,0 ds ≤
1

2

��� ��� t ∈ [0, τ̃ ]�

�������� �	�� [0, τ ] ⊂ [0, Tn[ ∩ [0, T0[ ∩ [0, τ̃ ]� 
� ��
 	��� ��� ��� t ∈ [0, τ ]

vn(t)− v0(t) = e−At(vn(0)− v0(0))

+

t∫
0

e−A(t−s)Fn(u(s)(vn(s)− v0(s)) + (Fn(u(s))− F0(u(s)))v0(s) ds,

��� �	��

‖vn(t)− v0(t)‖α ≤ 2M‖vn(0)− v0(0)‖α + 2‖Knv0‖
��� ���� M ∈ R+ 
	��� Kn �� 
���� �� ����� ���� ������ �	� ������
���� �����
� �� 
�

�	�
 �	��

‖Fn(un(t))− F0(u0(t))‖α,0 → 0 �� n → ∞ ���� �� [0, T0[ . ��� !

"�� ���	 n ∈ N� 
� 	��� ���	�� un(t) ∈ {−1, 1} �� un(t) 	∈ {−1, 1} ��� ��� t ∈ R� �� �� �	��

�������� �� ������ �	�� ���	�� un(t) 	∈ {−1, 1} ��� ��� n ∈ N ��� ��� t �� un(t) ∈ {−1, 1}
��� ��� n ∈ N ��� ��� t�

�� �	� #��� ����� ��� 0 = t0 ≤ t1 ≤ · · · ≤ tl = T0 ���	 �	�� F0 ◦ u0 �� ���������� �� ���	

�� �	� ������������ ]tk, tk+1[� "�� ����� k ∈ {0, . . . , l − 1}� ����� n ∈ N ���
� ����
	� ���

������ ����� s ∈ ]tk, tk+1[� �� 	���� �	��

‖Fn(un(s))− F0(u0(s))‖α,0 ≤‖Fn(un(s))− F0(un(s))‖α,0
+ ‖F0(un(s))− F0(u0(s))‖α,0 → 0

�� n → ∞�

�� �	� ������ ����� x0 := un(0) �� ����$������ �� n� %��	 Fn �� ���������� �� � ����� ���
	&

���	��� �� x0� �� �	��� �'���� � ��(����� x
′
n ∈ ]−2, 2[ 
��	 |x′

n − x0| → 0� ‖Fn(x0)− Fn(x
′
n)‖α,0 →

0� ��� ‖Fn(x
′
n)− F0(x

′
n)‖α,0 → 0 �� n → ∞� )� 	���

‖Fn(x0)− F0(x0)‖α,0 ≤‖Fn(x0)− Fn(x
′
n)‖α,0

+ ‖Fn(x
′
n)− F0(x

′
n)‖α,0 + ‖F0(x

′
n)− F0(x0)‖α,0 → 0

�� n → ∞� �

��������� �� � ��� ��� �����	�
��� �
 ���	��
��� ��� �����

����

��! π(A,Fn) 
� � ���
��� 
�� ��� n ∈ N ∪ {0}�
�*! π(A,Fn) → π(A,F ) ���



�� ��� ���		�	 SKi
 i ∈ {−1, 0, 1, 2} ��

��� ����� �����	 ��
 N ⊂ ]−2, 2[ × Xα ��
�� 
� ����	�	 �

� ������
 
� ‖.‖R×X0 
�

�
������ π(A,Fn)��	�
��
����

������ ��� ��	
 
�� 
����	 ��� � ��	
�
����
 �� �����	�
��� ���� �� ���
�
����� �


������	 ���� �����	�
��� ��� 
��
 ��� ����� n ∈ N� πn := π(A,Fn) ���	 ��
 ������� �� N �

 ���		�!���
� ��� ������	 �	 �� 
�� ����� �� "��� ������� ��#��$ ����
� �	 	
�
�� ���� ���

	���
���	 �� 
�� 	��	� �� "��$�� �

�� ��� 	
����� SKi
 i ∈ {−1, 0, 1, 2}

%�� 
�� ��	
 �� 
��	 
���
��� ��
 �	 ��&� 
�� ��������' �		���
���	 �� ����
��� 
� 
��	� ��


�� �������	 	�

���(

�)� F : [−2, 2] → L(Xα, X0) �	 	�*
���
�� 
��
�����	+

��� A ��� A− F (1) ��� �����!���
 ��� ���� 	����� ��'�������	� ��� �� ���
� ��� ����+

��
 E±(π, e) := E±(e) := P±
e (0)X� e ∈ {−1, 1} ����
� 
�� �		�
��
�� 	�!	��
�	 ��

X� ����� P±
π,e(0) := P±

e (0) := P±(0) �	 
�� ���,�

��� ��
� 
�� 	�!	��
�	 ���
�

!����' 
� 
�� ��	�
��� ��	��

����� ��'�
��� ���
 �� 
�� 	��

��� �� L := A−F (e)�

����� π = π(A,F ) �	�� 	�

��� ���

���)� ������	 
��
 
���� ��� ���

�� 
�� �-����!���� ������ (−1, 0) ��� (1, 0)� ��� �� ���
� ���

�����!���
�

����	�
��	 ��.� /�
 SK0 := SK0(X,A) ⊂ SK([−2, 2], Xα) ����
� 
�� 	�
 �� ������ 	&��

�����

 	���0��	 ���
� �	 '���� !� π ∈ SK0 �1

�)� π �	 ����
�� !� ���� 	���
���	 �� ���)�� ���
� 	�
�	��	 
�� �		���
���	 �!���+

��� K := [−1, 1]× {0} �	 �� �	���
�� ��������
 	�
 ����
��� 
� π+

��� dimE−(1) = dimE−(−1) < ∞�

����	�
��	 ���� /�
 [−1, 1] ⊂ [a, b] ⊂ [−2, 2] ��� ��
 h : [a, b] → [−2, 2] !� � ��������2

���	� 	�
� 
��
 h(−1) = −1� h(1) = 1� /�
 SK−1 = SK−1(X,A) ⊂ SK([a, b], Xα) ����
�


�� 	�
 �� ��� 	���0��	 π ��� ���
� 
���� ���	
	 �� h ��
� 
�� �!��� ������
��	 ��� � π̃ ∈ SK0

	�
� 
��
 (h ◦ u(t), v(t)) �	 � 	���
��� �� π̃ �������� (u(t), v(t)) �	 � 	���
��� �� π�

����	�
��	 ��3� /�
 π0, π1 ∈ SK0� ���� π0 ∼ π1 �1 
���� ���	
	 � ����
���� 
��
 �	� ��

S2
��
�����	 ������ (πλ, [−1, 1]× {0})λ∈[0,1] 	�
� 
��
 ��� ��� λ ∈ [0, 1]

�)� πλ ∈ SK0� ���

��� E−(πλ,−1) ��� E−(πλ, 1) ��� 
��	
��
�

��� ���� ��	��
 �� 
��	 
���
�� �	 	
�
�� �� 
�� 
������ !����� 4��
 ������	 ��� 	������

�������5�
��� 	
��	� ��
��� �	�������	�	 �� !�����	 �	 ������ ��  �������  �� �-�������
�	

�� 
�� 	��	� �� 6����
��� ��3�

������
 ��7� h(π, [−1, 1]× {0}) = 0̄ ��� ��� π ∈ SK0�

8���� h ����
�	 
�� ����
��� ����� �	 ������ �� "��$�

������ /���� ��)) ��� /���� ��)� 	��� 
��
 
�� 
������ ����	 �� ��� ���� �� �
 ����	

��� ��� π ∈ SK2 ����
� �	 ������ !������ ��� ��	��
 ��� ������	 ���� 9�������� ����� �



�� �� ������	
 ��
�� �� ������ ���� 	��
��� ���������

�� ����� ���	
���� �� F (x)

��������� 	� �
� ���

�	���� �� 	�� ������
� ���	���� �� ���� F ∈ L∞([−2, 2],L(Xα, X0))

��� ���	��
���� 	�� ���

�	��� �� �
�����	 ���	��
�	� �� �	�������� ��	 ‖F‖ := ‖F‖∞ :=

‖F‖L∞([−2,2],L(Xα,Xα) := ess supx∈[−2,2] ‖F (x)‖L(Xα,X0)�

����� ���� ������� ��	�


��� π = π(A,F ) �� ������� �	 
��� ����
���� �� ������ A ��� F ��
���	 
�� ����
�
����

�
 
�� ��������� �� ���
��� ��

��� dimE−(1) = dimE−(−1) < ∞�

���� K := [−1, 1]×{0} �� �� �����
�� ��������
 ��
 ����
��� 
� π �� ��� ���	 �� 
�� ���������

������

�������� (x(t), y(t)) �� � ���� ������� ����
��� �� π ��
� x(0) = 0� 
��� y(t) ≡ 0�

��	 
�
	� 
������� (x(t), y(t))� |x(t)| �
 � �	��	� �����
�� �
��
� � 
������� (x(t), y(t)) �


�����
� �� ��� ���� �� �� �
 �����
� �� y ���� �
� supt ‖y(t)‖α < ∞ ��
	
 ��
 
��	
��� �


���
� ��
	 ��� t ∈ R ��	 ����� (x(t), y(t)) �
 �
��
��

������  ����

 ���� 
�
	� ���� �����
� 
������� (x(t), y(t)) ���� x(0) = 0 
���
�



y(t) ≡ 0� !
�

N := [−3/2, 3/2]×B1[0] ⊂ ]−2, 2[×Xα, ���"�

λ ∈ [0, 1]� ��� (x(t), y(t)) �
 � ���� 
������� ���� (x(t), y(t)) ∈ N ��	 ��� t ∈ R� y(t) �


�����
�� ���� �
� supt∈R ‖y(t)‖α < ∞�  ���
 ẋ(t) = 1− x2(t)� �
 ���
 x(t) ∈ [−1, 1] ��	 ���

t ∈ R� #���
	 x(t) ∈ ]−1, 1[ ��	 ��� t ∈ R� �� ����� ��

 �
 ���
 y(t) ≡ 0 �� ��
 �

�������

����
� �	 x(t) ∈ {−1, 1} ��	 ��� t ∈ R� �� ����� ��

 y(t) ≡ 0 �� ��
 ���
	�������� ��

A−F (±1)� $�
	
��	
� �
 ���
 (x(t), y(t)) ∈ K ��	 ��� t ∈ R� 
�����% ���� N �
 �� �
������%

�
�%���	���� ��	 (π,K)�

&��� 
����

 ���� K �
 �� �
����
� ����	���� 

�� ��� �
� N �
 �� �
������% �
�%���	����

��	 K�  
����% ε := inf{‖y‖α : x ∈ [−1, 1] ��� (x, y) ∈ N}� �� �
 ��
�	 ���� ε > 0� !
�

(x(t), y(t)) �
 � ���� �����
� 
������� �� π = (ξ,Φ)� '�
 �� ��
 ���
�	��� �� Φ� (x(t), μy(t))

�
 �%��� � 
������� �� π� (���
��% 0 < μ 
���� 
���%�� �� ����
 ���� ‖μy(t)‖α ≤ ε ��	 ���

t ∈ R ���� �
� (x(t), μy(t)) ∈ N � )� ������
 ���� μy(t) ≡ 0 ��� 
� y(t) ≡ 0� �

����	 ���*� ��� λ ∈ [0, 1]� ��
 πλ = π(A,Fλ) ��
���	 
�� ����
�
���� �� ��

�  �!� ���

����
� 
��
 λ �→ Fλ �� ���
�������

"� �
 ����� ��� ����	 λ ∈ [0, 1] ��� ��� ����	 ���� ������� ����
��� (x(t), y(t)) �� πλ ��
�

x(0) = 0 
��
 y(t) ≡ 0� 
��� π0 ∼ π1�

������ +
 ���
 �� 
��� ���� ��
 ������ (πλ,K) �
 S, ���������
� !
� N �
 %��
�

�� ���"�� )� ������
 �	�� !
��� ��- ���� N �
 �� �
������% �
�%���	���� ��	 [−1, 1] × {0}
	
�����
 �� πλ ��	 ��� λ ∈ [0, 1]�

$�
 ���������� ��� ����

������� �	��
	��

 �	
 � ���

.�
��
 �� (�	����	� ��/� �

!
� SK1 ⊂ SK0 �
���
 ��
 
��

� �� ��� 

��0��
 π(A,F ) ��
	
 F �
 ������� ���
���� �� �

�
�%��	���� �� {−1, 1}� ���� �
� ��
	
 
1�
�
 � δ > 0 
��� ���� ��	 ��� x ∈ ]−1− δ,−1 + δ[

�
 ���
 F (x) = F (−1) ��� ��	 ��� x ∈ ]1− δ, 1 + δ[ F (x) = F (1)�



�� �������	
�
�� 
��� 
��	������ ��� 
	������ 	��������	 ��

����� ����� ��� ����� π(A,F ) ∈ SK0 ����� 	
 � λ0 ∈ [0, 1] 
�
� ���� π(A,F ) ∼ π(A,Fλ) ∈
SK1 ��� ��� λ ∈ [0, λ0]� ����� �� 
��

Fλ(x) :=

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
F (−1) x ∈ [−1− λ,−1 + λ]

F (1) x ∈ [1− λ, 1 + λ]

F (x) ������	
�.

����	� �� ���� ‖Fλ − F0‖∞ → 0 	�
���� F 
� 
���
����� 
� � ��
��	������ ��

{−1, 1}� ���� 
� ������� ���� ��������� ��� ���� ��� �������
��� �� ���� ������� ���� !

����� "�� πλ := π(A,Fλ) ��� ���� ���� Fλ(1) ��� Fλ(−1) ��� 
������� 
� λ �� ���� ���

�����	��


�� �� ��
� �� ��� �#�
�
	�
� ��� ��� ��	���
�� E−(±1) ��� ����������

$������ ���� ��� ����� δ ∈ ]0, 1] ����� 
� � λ =: λ(δ) ∈ [0, δ] ��� � ���� 	������ �����
��

(x(t), y(t)) �� πλ �
�� x(0) = 0 ��� ‖y(0)‖α = 1� %� ���� ������� ���� ! ����� 
� � ����

	������ �����
�� �� π0 �
�� x(0) = 0 ��� y(0) 	= 0� ��

� 
����� �&
�� 
� �
�� �� "����

��' �
�
� K = [−1, 1]× {0} 
� 
������� �����
�� �� π0�

(��
�� "���� ���) 
���
�� ���� ����� �&
��� � λ0 ∈ [0, 1] ��
� ���� π0 ∼ πλ ��� ��� λ ∈
[0, 1]� �

"�� SK2 ⊂ SK1 ������ ��� ��	��� �� ��� ����� ���
*��� ��

� ���
��� ��� ������
�� ��������

�����

�
�� +
������� �� ��� ��,�
�
�� �� SK1-. ����� �&
��� � δ > 0 ��
� ���� F (x) = F (−1)

��� ��� x ∈ [−2,−1 + δ[ ��� F (x) = F (1) ��� ��� x ∈ ]1− δ, 2]�

����� ���/� ��� ����� π(A,F ) ∈ SK1� 	� ����
 ���� π(A,F ) ∼ π(A, F̃ ) ∈ SK2� ����� ��


��

F̃ (x) :=

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
F (−1) −2 ≤ x ≤ −1

F (x) −1 < x < 1

F (1) 1 ≤ x ≤ 2.

����	� "�� Fλ 	� �
��� 	�

Fλ(x) := λF̃ (x) + (1− λ)F (x).

"�� λ ∈ [0, 1] ��� ��� (x(t), y(t)) 	� � ���� 	������ �����
�� �� πλ := π(A,Fλ) �
�� x(0) = 0�

�� ���� x(t) ∈ ]−1, 1[ ��� ��� t ∈ R� ����
�� ���� (x(t), y(t)) 
� ���� � �����
�� �� π0�

���������� y(t) ≡ 0�

0��� ��� 
��
� ������� ���� "���� ���)� �

�� ����	
���
��� ��
� ����
����� ��� ��
����� ����������

"�� π0 = (ξ,Φ) ∈ SK2� ���� 
�� π0 = π(A,F ) ��� ����� 
� � δ ∈ ]0, 1[ ��
� ���� F (x) = F (−1)

��� ��� x ∈ [−2,−1 + δ] ��� F (x) = F (1) ��� ��� x ∈ [1 − δ, 2]� ��� ���� �� ��
� ��
�
�� 
�

�� ��,�� � ��		����� U 
� ��� ����� �� 1� ��
� ���� ����� �����
�� (x(t), y(t)) ��,��� ���

t ∈ R− �
�� supt∈R− ‖y(t)‖α < ∞ ���
�,�� (x(0), y(0)) ∈ U � 1� � 
����#���
�� π 
���
����

�� � �
��
� ��� �� ��� �
���� �2�� �����
� ���
*���� ��

� ��
�� ���� �����

�
��� �� π0 ��

U �����
�
���� �� ��������
��� 
������������ ��		����� +����� ������� 	� S-�

"�� E− := E−(π0,−1) ��� ��,�� U(x) ∈ L(E−, Xα) 	�

U(x)y := y x ∈ [−2,−1 + δ] y ∈ E−.



�� �� ������	
 ��
�� �� ������ ���� 	��
��� ���������

�� �������� 	
��� [−2, 2] �
 ��

����� ��� �������� ��	� ���

U(x) := U(−1 + δ)Φ(−1 + δ, tx) x ∈ [−1 + δ, 1− δ]

����� (−1 + δ)ξtx = x ������ tx�

����� ����� U(x) �� ��������	�� 
	� U ∈ C([−2, 1 − δ],L(E−, Xα))� �
��
���� U(x) ��

�	������� �
� 
�� x ∈ [−2, 1− δ]�

����	� ��� 
���	���
 �� U(x) ��

��� ���� ��� 
���	���
 �� Φ(−1 + δ, t)� ��� τ �� �����

�
 (−1+δ)ξτ = 1−δ� �� ��

��� ��	� [−1+δ, 1−δ] = ξ({−1+δ}× [0, τ ]) 	�� ��� �����������

�� ξ �� {−1+δ}×[0, τ ] �� 	 �������� ����� !���� tx �� ��

"������ ��� 	

 x ∈ [−1+δ, 1−δ]

	�� �� �	�� tx → tx0 �������� x → x0 	�� 	
�� Φ(−1 + δ, tx)y → Φ(−1 + δ, tx0)y ��� 	



y ∈ E−� �� �� �
�	� ��	� U(x) �� ������� ��� ����
 x ∈ [−2, 1− δ] ����� dimE− < ∞�

��� x ∈ [−1 + δ, 1− δ] 	�� y ∈ E− ���� U(x)y = 0� ���� ����� �� 	 ��

 ��
����� (u(t), v(t))

�� π0 ���� u(0) = −1 − δ� v(0) = y ∈ E− 	�� v(t1−δ) = 0� �� �	�� sups≤0 ‖v(s)‖α < ∞
����� v(0) ∈ E− 	�� sups≥0 ‖v(s)‖α ≤ sups∈[0,t1−δ]

‖v(s)‖α < ∞ ����� v(t1−δ) = 0� ��

��

��� ���� ����	 ��# ��	� v(0) = y = 0� �

����� ���$� P−
1 (0) ◦ U(1− δ) �� 
 �������
	�

����	� ��� y ∈ E−(−1) ���� P−
1 (0)◦U(1−δ)y = 0� �� ��

��� ��	� U(1−δ)y = Φ(−1+

δ, t1−δ)y ∈ E+(1, 0)� �� sups≥0 ‖Φ(−1 + δ, s)y‖α < ∞� %� �� ���  �������  ����� �� ��

���

���� ��� ���
	���� �� [−1, 1]× {0} ��	� y = 0� ������� ��� ��&�������
 �� P−
1 (0) ◦ U(1− δ)�

'��&�������
 ��
�� ����� dimE−(−1) = dimE−(1)� �

���������� ����� y0 ∈ E−(1)� ����� �� 	 w ∈ E−(−1) ���� P−
1 (0) ◦ U(1− δ)w = y0� (�����

	 �	��� {ηi : i = 1 . . . dimE−(1)} ��� E−(1) ���� ��	� �	�� ηi �� 	� ����������� �� L :=

A− F (1)�

)������� 
�� λi < 0 ������ ��� ��	
 ������	
�� λi ����� ������ ���� �� ηi� ��	� ��� e
−Ltηi =

e−λitηi� )�� �	�� i ∈ {1, . . . , dimE−}� ����� �� 	� η+i ∈ E+(1) ���� ηi + η+i ∈ U(1 −
δ)E−(−1)� ��� yi ∈ E− �� ����� �
 U(1− δ)yi = ηi + η+i 	�� �����

U(x)yi := ηi + e−(L−λi)(tx−t1−δ)η+i x ∈ [1− δ, 1[ i = 1 . . . dimE−.

)��	


� 
��

U(x)y := lim
x̃→1

U(x̃)y x ∈ [1, 2] y ∈ E−.


����� *� ���	� ��� �
	�������
	 
�
��� 
	� �
� U(1)E−(−1) = E−(1)�

+�	���� U 	� 	 ��� ���� �� ��� ����� �� %  ����, %� �� �	
 ��	� U �� π0 ���	��	�� ��

{(x, U(x)y) : (x, y) ∈ ]−2, 2[× E−} �� π0"���	��	���

����� ���-� U(x) ∈ C([−2, 2],L(E−, Xα)) �� ��������	�� 
	� π0��	�
��
	��

����	� ��� xn �� 	 ��.����� �� [−2, 2] ���� xn → 1−� �� �	�� tn := t1−δ+xn −t1−δ →
∞ 	� n → ∞ 	�� ���� U(xn)yi − ηi = eλitne−Ltnη+i → 0 	� n → ∞ /���	

 ��	� λi < 00

������� ��	�

U(x) → P−
1 (0) ◦ U(1− δ) 	� x → 1. /���0



�� �������	
�
�� 
��� 
��	������ ��� 
	������ 	��������	 ��

�� �� ������	� �
 ��

� ��� �	
����	�� �
� ���� ����� 
���
� yi� �����	� i ∈ {1, . . . , dimE−}
�	� r, t ≥ 0� �� ��
�

Φ((1− δ)ξr, t)U((1− δ)ξr)yi = Φ((1− δ)ξr, t)(ηi + e−(L−λi)rη+i )

= e−Lt(ηi + e−(L−λi)rη+i )

= e−λit(ηi + eλi(t+r)e−L(t+r)η+i )

= e−λitU((1− δ)ξ(t+ r))yi

��
��	� ���� Φ((1− δ)ξr, t)U((1− δ)ξr)yi ∈ U((1− δ)ξt)�

��� �	
����	�� �
� x ≥ 1 �
��
�� ��
� ����� ��	�� P−
1 (0) �� ������� ��� ��
 ����
	 
	�
 ���

e−Lt!�	
����	� �������� E−(1)� �

"
 ���� �� ��
� ��
�	 ���� U �� � �����	��� 
� [−2, 2]×Xα ������ ��#$ �	� ����� ��#%��

����� �� π0!�	
����	� ������ ��#%��

����� ��#�� ����� ����� 	
�����	� �

 �������� Sβ ∈ C([−2, 2],L(E+ ∩ Xβ , Xβ))� β ∈
[0, 1]� ���� ���� 

� ��� β ∈ [0, 1]

Sβ(x)y = S0(x)y x ∈ [−2, 2] y ∈ Xβ

���

U(x)⊕ Sβ(x) ∈ ISO(Xβ , Xβ) x ∈ [−2, 2].

����	� &����� �� ��
� ���� ����� �� � μ ∈ R \ σ(A− F (−1)) ���� ���� P−
−1(μ)U(x) ��

�	 ����
� �
� ��� x ∈ [−2, 2]� "���
�� ���� ���� �� 	
� ����� ���	 ����� ��� ��'��	��� μn → ∞
�	 R� xn → x0 �	 [−2, 2]� �	� yn → y0 	= 0 �	 E− ���� ���� P−

−1(μn)U(xn)yn = 0 �
� ���

n ∈ N� (� ��	 ������ ����
��� ���� (μn)n �� �
	
�
	� �	������	��

��� k ∈ N �� ��������� ��� )���� (� ��
�

P−
−1(μk)U(x0)y0 = lim

n→∞
P−
−1(μk)U(xn)yn

= lim
n→∞ n≥k

0

��	�� μn ≥ μk ������� ���� P−
−1(μk)U(xn)yn = 0�

*
�� �� �
��
�� ��
� ����� $�+ ���� U(x0)y0 = 0� � �
	��������
	 �
 ��� �	 ����
��� 
�

U(x0)�

��� E0 := P−
−1(μ)X� ,� ����� -�.� ����� �� � �
������	���� �����	��� S̃ ∈ C([−2, 2],L(E0, E0))

�
� P−
−1(μ)U �	 E0� ����� �� �
	��	�
�� ���������� 
� ��� 	
�� 
	 E0�

(� ��	 	
� ��)	�

Sβ(x)y := S̃(x)P−
−1(μ)y + P+

−1(μ)y x ∈ [−2, 2] y ∈ Xβ .

/	� ��� U(x)y− + Sβ(x)y+ = z �� �	� 
	�� ��

P−
−1(μ)(U(x)y1 + S̃(x)y2) = P−

−1(μ)z

P+
−1(μ)(U(x)y1 + y3) = P+

−1(μ)z,



�� �� �������	 
��
� �� �
�
�� ��
� ������� �
�
�����

����� y1 + y2 ∈ P−
−1(μ)X ⊂ X1 ��� y3 ∈ P+

−1(μ)X
β � 	�� 
��� �
������ ��� � ����������

������� ���������� �� ��� ���� ����������� ��� ��� ������ �
������ ������

y3 = P+
−1(μ)z − P+

−1(μ)U(x)y1,

����� �� ����� ���������� ���� ������� �� ‖.‖β � �

���� ����� ����� �� ������ � ������������� ��������� Sα �������������� �� U ��

Xα � ����� �� ����������� ������������ �� ��� 
������� ������ ([−2, 2]×Xα)/U � ���� ���

(x, y) �→ (x, [Sα(x)y]) ��
��� � ������������� E+ ∩Xα → ([−2, 2]×Xα)/U �

!�
�� πU := (ξ,ΦU ) ∈ SK([−2, 2]× E−) ��

U(xξt)ΦU (x, t)y = Φ(x, t)U(x)y y ∈ E− ���" 

��� πS = (ξ,ΦS) ∈ SK([−2, 2]× (E+ ∩Xα)) ��

[Sα(xξt)ΦS(x, t)y]Xα/U(xξt) = [Φ(x, t)Sα(x)y]Xα/U(xξt) y ∈ E+ ∩Xα. ���# 

����������� ���"	 U ⊕Sα �� �� �������	��� �
 ���
��� ��
 (U ⊕Sα)[πU ⊕ πS ] ∼ π0 ����

��������� ��� 
�� �	� 
����� ��� �
 �	� ����������

$� ����� �� ����� %���������� ���"� �� ���� ��� ��������� ��� �������


���
 ���#	 ��� e ∈ {−1, 1}� �	�� �	��� ����� � ����	���	��
 V �
 e �� [−2, 2]� � �����

�������	��� φe ∈ C(V,L(E+(e)∩Xα, E+(e)∩Xα)� ��
 � Be ∈ L(E+(e)∩Xα, E+(e)∩X0)

���	 Reσ(A−Be) > 0 ���	 �	�� φe(u(t))v(t) �� � ���
 �������� �


ẋ+ (A−Be)x = 0 Be ∈ L(E+(e) ∩Xα, E+(e) ∩X0) ���& 

�	��� �� (u(t), v(t))� t ∈ [0, T ]� �� � �������� �
 πS ���	 u(t) ∈ V 
�� ��� t ∈ [0, T ]�

�����	 ������� Be = F (e)� �� ���� P+
e (0)(A−Be) = (A−Be)P

+
e (0) ��� �� ��� ������

�� ��� ���'������ P+
e (0)� (��� ��� V �� ����� �� ����� )��* ���� ���� ��� ���'������

p : V × (E+(e) ∩Xα) → p(V ×E+(e) ∩Xα) ⊂ (V ×Xα)/U �U(e) = E−(e) �� +����, * 

����� �� ����� �� p(x, y) := (x, [y]Xα/U(x))� �� � ��������������

-� �����,��� V �� ���������� �� ��� ������ ���� F (x) = Be ��� ��� x ∈ V � ��� (u(t), v(t))�

t ∈ [0, T ]� �� � �������� �� ���& ��� ��� (u(t), w(t))� t ∈ [0, T ]� �� � �������� �� πS ����

[v(0)] = [S(u(0))w(0)]� 	���� �� ���# �

[v(t)] = [Φ(u(0), t)v(0)]

= [Φ(u(0), t)S(u(0))w(0)]

= [S(u(t))ΦS(u(0), t)w(0)] = [S(u(t))w(t)],

�� (u(t), v(t)) = p−1(u(t), [S(u(t))w(t)])� ���� ��� �� ��� ������ φe(x, y) = p−1([x, S(x)y])�

�


���
 ���&	 ��� (u(t), v(t)) �� � ����
�
 �������� �
 πS �	��	 �� 
����
 
�� ��� t ∈ R−�

�	�� v(t) ≡ 0�

�����	 	���� �� �� e ∈ {−1, 1} ���� ���� u(t) → e �� t → −∞� ��� φe �� ����� ��

����� ���# ��� ������ ���� ���� φe(u(t)) �� ��
��� ��� ��� t ≤ t0�

(u(t), w(t)) := (u(t), φe(u(t))v(t))� t ≤ t0� �� � ���� �������� �� ���& � ��� Reσ(A−Be) > 0

������� ���� w(t) ≡ 0� 	��� ������� ���� v(t) = 0 ��� ��� t ≤ t0� ������� ���� v(t) ≡ 0� �



�� �������	
�
�� 
��� 
��	������ ��� 
	������ 	��������	 ��

����� �� ����������	 
��
� �� �� ������ �� 	�

� ��
� ���� U ⊕ Sα �� �� ���
���

����
 �� �������� ���� ��� ������������ � ��
��
������
�

��� ����� β ∈ [0, 1]� ��� ������ ��
 E−(−1) ⊕ (E+(−1) ∩ Xβ) = Xβ ������ ����������

����������� ���� ���� �� ��� ��
�������� �������� U⊕Sβ �  � ������ 
������
� �� �������

P β , Qβ ∈ C([−2, 2],L(Xβ , Xβ) ���� ���� ��� ����� x ∈ [−2, 2] �� ����� ����

• P β(x) �� � ���������� ���� U(x) = U(x)E−�

• Qβ(x) �� � ���������� ���� Sβ(x) = S(x)(E+ ∩Xβ)� ���

• P β(x) +Qβ(x) = idXβ �

!������ ���� π0 = π(A,F )� ��� ��� πλ := π(A,Fλ)  ����  � ���

Fλ(x)y = P 0(x)F (Pα(x)y + (1− λ)Qα(x)y) +Q0(x)F (y). "��
#$

	�� (u(t), v(t)) �� � ���� ������� �������� �� πλ� �� ����� � ���� ����� �� � ���� �������

�������� (u(t), w(t)) �� πS  ���

[(u(t), Sα(u(t))w(t))]([−2,2]×Xα)/U = [u(t), v(t)]([−2,2]×Xα)/U .

%����� w(t) ≡ 0 �� 	�

� ��
&� ��� ��� ���� v(t) ∈ U(u(t)) ��� ��� t ∈ R� '�� ��
�(� 

�� U �� ��� ������� �� λ ����� Qα(x)U(x) = 0 ��� ��� x ∈ [−2, 2]� ��� �� �� ����� � ����

v(t) ≡ 0� 	�

� ��
# ������ �
����� ���� π0 ∼ π1�

)�������� ������� π1 = (ξ,Φ1)� �� ����� � ���
 "��
#$ ���� P
α(xξt)Φ1(x, t)(U(x)y1+Sα(x)y2) =

Φ1(x, t)U(x)y1 = Φ(x, t)U(x)y1 ��� ��� (y1, y2) ∈ E−(−1)× (E+(−1) ∩Xα)� *� ���� ����

Pα(xξt)Φ1(x, t)(U(x)y1 + Sα(x)y2) = U(xξt)ΦU (x, t)y1,

���

Qα(xξt)Φ1(x, t)(U(x)y1 + Sα(x)y2) = Sα(xξt)ΦS(x, t)y2

����� � �

�������� ���
 ��� ���������� �� U � '��� ��� � ���� (U ⊕Sα)[πU ⊕πS ] = π1� �

*� �������� �� ���������� πU ��� πS ������������� �� ���� ������ +���� ������� ������� ���

π = (ξ,Φ) ������ (U ⊕ Sα)[πU ⊕ πS ]� ��� E± = E±(−1)�

���� ��� ��	
�	��
 �
 Sα
�

����� ��,#� ����� ������ 	 ���
��
� πS�	�������
� ��

	���� ������
��

� �
� (πS , [−1, 1]×
{0})�

������ 	�� N ⊂ ]−2, 2[ × Xα �� � �������� π���
������� ��������� ������������ ���

[−1, 1]× {0}� *� ����

Φ(x, t)Sα(x)y = Sα(xξt)ΦS(x, t)y ∀y ∈ E+,

��� Sα([−2, 2]×E+)∩N �� �� ��������� ������������ ��� ��� ����������� �� π �� Sα(]−2, 2[×
(E+ ∩Xα))� �� ����� � ���� (Sα)−1(N) = {(x, y) ∈ ]−2, 2[× (E+ ∩Xα) : (x, Sα(x)y) ∈ U}
�� � �������� πS���
������� ��������� ������������ ��� [−1, 1]× {0}� �

����� ��,
� ����� ����� 	� ��

	���� ������
��

� N0 = [a, b] ⊂ ]−2, 2[ �
� [−1, 1] ��
	����

�
 ξ 	�� 	 �
���	�� M ∈ R+ ���� ��	� ‖ΦS(x, t)y‖α ≤ M‖y‖α �������� y ∈ E+ ∩ Xα�

xξ[0, t] �� ������ 	�� xξ[0, t] ⊂ N0�



�� �� �������	 
��
� �� �
�
�� ��
� ������� �
�
�����

������ ��� N �� ����� �	 ��

� �
�� ��� ������ N0 �
��� ������ ���� N0×{0} ⊂ N 


���� ����	 ������ ��� Ñ ⊂ N0×(E+∩Xα) ���� [−1, 1]×{0} ⊂ int Ñ ��� sup(x,y)∈Ñ ‖y‖α <

∞ �� � �������	 ��
������� ��������� ������������ ��� πS ����� �� ��� ������ ε > 0 �
���

������ ���� {(x, εy) : (x, y) ∈ Ñ} ⊂ N 


������� ���� ��� ��

� �� ��� ����
 ���� ����� ��� ��������� xn → x0 �� N0 ��� yn ∈
E+ ∩Xα ���� ‖yn‖α = 1 ��� t̃n �� R+ ���� ����

qn := sup
s∈[0,t̃n]

‖ΦS(xn, s)yn‖α → ∞.

��� ����	 n ∈ N� ����� � ���� � tn ∈ [0, t̃n] ���� ‖ΦS(xn, tn)yn‖ = qn


!���
� ���� tn 	→ ∞� ���� ��� �	 �������� ������������ �� 
�	 ����
� ���� tn → t0�

�
��	��� ���� 1 =
∥∥ΦS(xn, tn)q

−1
n yn

∥∥
α

→ ‖ΦS(x0, t0)0‖α = 0� � �������������� �������

���� tn → ∞


"	 ��
���������	� �� 
�	 ������� ����
� ���� (xn, q
−1
n yn)πStn → (x0, y0) ∈ [−1, 1]× (E+ ∩

Xα) ���� 0 	= y0 ��� (x0, y0) ∈ Inv−(N)
 ��

� �
#$ ��� �
����� ���� y0 = 0� � ������%

�������
 �

���� ��� ��	
�	��
 �
 U � &� ���� �������� �� ���� ��
����	 ��� ��
�'�� �� U �	

������������ � �������� ���
������



����	 �
��� ��� e ∈ {−1, 1}� ���� ����� �	
�� � ��

�������� V �� e 
� [−2, 2]� � �����


�������
�� �� ������� φe ∈ C(V,L(E−(e), E−(e))� ��� � Be ∈ L(E−(e), E−(e)) �
��

Reσ(A− Be) < 0 ���� ���� φe(u(t))v(t) 
� � �����
�� �� ���� ���
���� �
������
�� �����
��


� ��
�� �
����
����

ẋ+ P−
e (0)(A−Be)x = 0 x ∈ E−(e) (�
##)

�������� (u(t), v(t))� t ∈ [0, T ]� 
� � �����
�� �� πU �
�� u(t) ∈ V ��� ��� t ∈ [0, T ]�

������ ��� Be := F (e) ��� ��� P := P−
e (0) �� ����� �	 ��� �������� ����
�������� ��

A−Be (��� ���� ������� *)
 "	 ��

� !
+� ����� � ���� � ������������ V �� e (�	 �������	

�����,��� V �� 
�	 ����
� ���� F (x) = Be ��� ��� e ∈ V ) ���� ���� p : U(V ) → V ×E−(e)�

p(x, y) := (x, Py)� �� � ��
��
������



��� (u(t), w(t))� t ∈ [0, T ]� �� � �������� �� (�
##) ��� ��� (u(t), v(t))� t ∈ [0, T ]� �� � ��������

�� πU ���� (u(0), w(0)) = p(u(0), U(u(0))v(0))
 ���� �	 (�
+)

(u(t), w(t)) = p(u(t),Φ(u(0), t)w(0))

= (u(t), PU(u(t))ΦU (u(0), t)v(0))

= (u(t), PU(u(t))v(t)),

�� w(t) = PU(u(t))v(t)


���������� �� ��� ������ φe(x) := PU(x)� x ∈ V 
 �

���
���
��� �
�*� ����� �	
��� � �����
�� πU  ���
��
��� 
�����
�
 ��

�������� ���

(πU , [−1, 1]× {0})�

������ ��� N ⊂] − 2, 2[×Xα �� � �������	 π%��
������� ��������� ������������ ���

[−1, 1]× {0}
 -� ����

Φ(x, t)U(x)y = U(xξt)ΦU (x, t)y ∀y ∈ E−,



�� �������	
�
�� 
��� 
��	������ ��� 
	������ 	��������	 ��

��� U(]−2, 2[×E−)∩N �� �� ��������	 �
�	���
���� ��
 ��
 

��
������ �� π �� U(]−2, 2[×
E−)� �� ������� ���� U−1(N) = {(x, y) ∈ ]−2, 2[ × E− : (x, U(x)y) ∈ N} �� � ��
��	��

πU ����������
 ��������	 �
�	���
���� ��
 [−1, 1]× {0}� �

�
���� ���� F (x) �� �������� �� 
��� �� ��
 ���

���� [e−δ, e+δ]� e ∈ {−1, 1}� ��� �
� ae < be

���� ���� [ae, be] ⊂ [e − δ, e + δ]� ��
��

� �
� τ ∈ R+ ���� ���� b−1ξτ = a1� ��� �
��


V1 : [−2, a1]× E−(−1) → U([−2, a1]) ��

V1(x)y := ΦU (xξ(−τ), τ)φ−1(xξ(−τ))−1y

��� V2 : [a1, 2]× E−(1) → U([a1, 2]) ��

V2(x)y := φ1(x)
−1y,

��


 φe� e ∈ {−1, 1}� �� 	��
� �� �
��� �����

�
 ��� ��� �
��
 V ∈ C([−2, 2],L(E−, E−))  ���
 ���� E− = E−(−1) �� �
�������! ��

V (x)y :=

⎧⎨
⎩V1(x)y x ∈ [−2, a1]

V2(x)V2(a1)
−1V1(a1)y x ∈ [a1, 2].

"��
 ���� imV (x)E− ⊂ imU(x)E− ��
 
�

� x ∈ [−2, 2]�

��
 
�

� t ∈ R+ ���� xξ[0, t] ⊂ [−2, a1] ��� 
�

� y ∈ E−� �
 ���


ΦU (x, t)V (x)y = ΦU (x, t)V1(x)y  ��#�!

= ΦU (x, t)ΦU (xξ(−τ), τ)φ−1(xξ(−τ))−1y

= ΦU (xξ(−τ), t+ τ)φ−1(xξ(−τ))−1y

= ΦU (xξ(t− τ), τ)ΦU (xξ(−τ), t)φ−1(xξ(−τ))−1y

= V1(xξt)φ−1(xξ(−τ + t))ΦU (xξ(−τ), t)φ−1(xξ(−τ))−1y

��� ��
 x ∈ [a1, 2]� ��
 �������

ΦU (x, t)V (x)V1(a1)
−1V2(a1)y = ΦU (x, t)V2(x)y  ��#$!

= ΦU (x, t)φ1(x)
−1y

= φ1(x)
−1φ1(x)ΦU (x, t)φ1(x)

−1y

= V2(x)V1(a1)
−1V2(a1)φ1(x)ΦU (x, t)φ1(x)

−1y.

%�����

 ��
 ��������	 ����
� �� �
����
� ��&


����� 
'������� �� ]−2, 2[× E−

ẋ = 1− x2  ��#(!

ẏ =

⎧⎨
⎩G(−1)y := P−

−1(0)(−A+ F (−1))y x ≤ a1

G(1)y := V1(a1)
−1V2(a1)P

−
1 (0)(−A+ F (1))V2(a1)

−1V1(a1)y a1 < x.

�
� (u(t), v(t)) �
 � �������� ��  ��#(! ����� �� �
��
� �� [0, T ]� �� u(t) ∈ ]−2, a1] ��
 ���

t ∈ [0, T ]� ��
� u(t)ξ(−τ) ∈ ]−2, b−1[ ���

v(t) = φ−1(u(t)ξ(−τ))ΦU (u(0)ξ(−τ), t)φ−1(u(0)ξ(−τ))−1.

�� ���)������� ����  ��#�!� �
 ������

ΦU (u(0), t)V (u(0))v(0) = V (u(t))v(t),



�� �� ������	
 ��
�� �� ������ ���� 	��
��� ���������

���� ��� (u(t), V (u(t))v(t)) �� � ���	���
 �� V [π]� 
��� �	����� ���� u(t) ∈ [a1, 2[ ��� ���

t ∈ [0, T ]� �� ����

V2(a1)
−1V1(a1)v(t) = φ1(u(t))ΦU (u(0), t)φ−1(u(0))

−1V2(a1)
−1V1(a1)v(t)

���
� ������� �� ��
 ��
��	�� ����

ΦU (u(0), t)V (u(0))v(0) = V (u(t))v(t),

����� ����� ����
 ���� (u(t), V (u(t))v(t)) �� � ���	���
 �� V [π] ���
� �
������ �
 U �

���������� V −1[πU ] �� �
�	��� ��  ��� ���	���
� �� ����!��

����������� ��"!	 (ξ, πn) ∼ V −1[πU ]� ����� πn� n := dimE−� ����	�
 	�� ��� �� E−

���
� �
 ����
�� �� 
���	���
 �� ẏ = y�

����
	 #�� ����
���	�� λi� i ∈ {1, . . . , n}� �� G(1) �
� G(−1) ��� �������� ���� 
	 �����

�� ����� ��� Te ∈ ISO(Rn, E−)� e ∈ {−1, 1}� �	�� ���� G(e) �� � �����
��  ����$� 
� ���

G(e) = Te

⎛
⎜⎜⎝

λ1 0

� � �

0 λn

⎞
⎟⎟⎠T−1

e .

%�� Gν �� ��&
�� ��

Gν(e) = Te

⎛
⎜⎜⎝

λν
1 0

� � �

0 λν
n

⎞
⎟⎟⎠T−1

e .

[−1, 1]×{0} �� �
 �������� �
�����
� ��� �������� �� χν ��� ��� ν ∈ [−1, 1]� ����� χν �� �
�	���

��  ��� ���	���
� ��

ẋ = 1− x2

ẏ =

⎧⎨
⎩G(−1)νy x ≤ a1

G(1)νy a1 ≤ x.

'� ������� ���� V −1[πU ] = χ1 ∼ χ0 = (ξ, πn)� �

�� ��������	
� 
� �
� 

�
�
�� 	����

����������� ��"(	 ��	 F �� � ����
� 
��
�� ��	 π = (ξ,Φ) ∈ SK([−2, 2], F ) 
�
� 	��	

��� ([a, b], {b}) �
 �� �
���	��� ���
� ��� (ξ, [−1, 1])�

�"� 	���� ���
	
 � 
��
	��	 1 ≤ M ∈ R+ 
�
� 	��	 ‖Φ(x, t)y‖ ≤ M‖y‖ �������� xξ[0, t]
�
 ������ ��	� xξ[0, t] ⊂ [a, b]�

��� 	���� �
 � 
	������ π�����

���� �
���	��� ������������ Ñ ��� K := [−1, 1] × {0}
����	��� 	� π ��	� [a, b]× {0} ⊂ Ñ �

 ��� h(π,K) = 0̄�

����
	 %��

N1 := {(x, y) ∈ [a, b]× F : ‖Φ(x, t)y‖ ≤ 1 ��� ��� t ≥ 0 ���� xξt ≤ b}
N2 := {(x, y) ∈ N1 : x = b}.



�� ���������	
 	� ��
 �	�	�	�� �
�
� ��

������� ��	� N1 
� ��� �
���� 
� ]−2, 2[ × F � ���� ����� 
� 	 �������� (xn, yn) → (x0, y0)


� [a, b] × F ���� ��	� (xn, yn) ∈ N1 ��� 	

 n ∈ N 	�� (x0, y0) 	∈ N1� �� ���� �	��

‖Φ(x0, t0)y0‖ > 1 ��� ���� t0 ∈ R+ �
�� x0ξt0 < b� �� ��

��� ��	� xnξt0 ≤ b ��� 	



n ∈ N ����
���
� 
	���� ����������
�� �� �	�� ‖Φ(xn, t0)yn‖ > 1 ��� 	

 n 
	��� ������� 	

�����	�
��
�� �� (xn, yn) ∈ N1� N2 
� �
���� 
� N1 	�� ����� 	
�� 
� ]−2, 2[× F �

��� (x, y) ∈ [a, b] × F �
�� ‖y‖ ≤ 1
2M 	�� 
�� t ∈ R+ �
�� xξ[0, t] ⊂ [a, b]� �� ��

��� ��	�

‖Φ(x, t)y‖ ≤ 1
2 	�� ���� (x, y) ∈ N1� ����� [−1, 1]× {0} ⊂ IntN1 \N2�

��� (x, y) ∈ N2 ��	� 
�� (x, y) = (b, y)� ���� xξt 	∈ [a, b] ��� 	

 t ∈ R+ �
�� xξt �� ����

����
�� ��	� N2 
� N1!���
�
��
� 
��	�
	���

��� (x, y) ∈ N1 	�� t ∈ [0,∞[ ���� ��	� (x, y)πt 
� �� ��� 	�� (x, y)πt 	∈ N1� �� ��

���

��	� xξt > b� �� ����� 
� 	� s ∈ [0, t] �
�� xξs = b� ����
�� ��	� N2 
� 	� �"
� �	�� ��� N1�

#����������� ����� �"
��� 	� ε > 0 ���� ��	�

N1 ⊂ Ñε := {(x, ε−1y) ∈ ]−2, 2[× F : (x, y) ∈ Ñ}

�
��� sup(x,y)∈N1
‖y‖ ≤ 1� Ñ 
� 	 ������
� 	��
��
$
� 
��
	�
�� ��
��$������ 	�� �� 
� Ñε�

��
� 
��

�� ��	� ��� �
���� ��$���� N1 	�� cl(N1 \ N2) 	�� ������
� 	��
��
$
� 
��
	�
��

��
��$������� ��� (π,K)� ������ (N1, N2) 
� 	 ������
� 	��
��
$
� #%!
���" �	
� ��� (π,K)�

&� �� 	 �������� H(x, y, λ) : (N1, N2)× [0, 1] → (N1, N2) $�

H(x, y, λ) := (x, λy).

��� (x, t) ∈ [a, b]×R+ ���� ��	� xξ [0, t] ⊂ [a, b]� �� ��

��� ���� ��� 

��	�
�� �� Φ(x, t) ��	��

�
��� (x, y) ∈ N1 	�� λ ∈ [0, 1]� �� 	
�� �	�� (x, λy) ∈ N1� ����� H 
� ��

!�� ��� 	��

[(N1/N2, {[N2]})] = [([a, b], {[b]})] = 0̄.

�

��������� '�('� h(π, [−1, 1]× {0}) = 0̄ ��� ��� π ∈ SK2�

����	� �� �	�� π ∼ (U⊕Sα)[πU⊕πS ] )��� ����	 '�(*+ 	�� πU⊕πS = V [(ξ, πn)]⊕πS

)��� ����	 '�(,+� -��	

 ��	� πn 
� 
������ $� ��� �
.�����
	
 ���	�
�� ẏ = y �� E− �����

�� ��� n := dimE−� �� V [πn]⊕πS �	� $� ����
����� 	� ��� ������� �� πS �
�� πn� %��������

h([−1, 1]× {0}, πS) = 0̄ �	� $��� ������ 
� /�����
�
�� '�(0�

�� 
� ��

!1���� )��� 2�3+ ��	� 
� ��� �	�� �� ������� ���
4��� ��� �������� 
���" ���	
�

��� ��	�� ������� �� ��� 
��
��� �� 
�� �	������ ��	� 
��

h([−1, 1]× {(0)}, (πn, πS)) = Σn ∧ h([−1, 1]× {0}, πS) = Σn ∧ 0̄ = 0̄.

�





������� �

����������� �	 ���
��������

	
 ��
 ��
�
��
� �����
��� �� ��� �


 ����
 ����� �
�
� ����������
 ���������
�� ��


�������� ��
�
� �
�
� ��������
� ���� � �
�
�����
�� �������
 �� �
�� !
� u �
 ���� �

�������
� ���� ��� �
� ��
�
 
���� 
"�������� e− �
� e+ ���� u(t) → e± �� t → ±∞ #��� ����


"�������� ��$
 ��
 �������� �
�
� �% � ���
�
� ���
�
 ����
 ���

���
 �� ��
 &���
 �
�
�

�% ��
 �
��
���$
 
"��������� ��
 �
���
� ��
����� �������� H̃q(S
n) ���� ��
'��

�� �
 Z

�� 0 %�� ��� q 
��
�� %�� q = n� ��
�
 �� �� ���������� �� Z 

��
���
��
� ��
 ��
� 
���� ���������(�
�
��
� �
"�

�
 ��������
� ���� u� ��
 ��


���
�

������������ �� ���� 
���
� −1 �� 1 �� �� ������������ )��
 �����
 �% �


������* ����


���
�� ����� ��
 �
 �
�
���
�
� �� ��
 ���

�����
 �% u� �� 
�� � ����
��� �% ��
 ��������

�
�
� �% ū := cl{u(t) : t ∈ R} ��� ����
� � �
�����
 �
��


 ��� �
�
�����
�� �������
�

��


���
� ��
 ���
 ���� �% 
"�������� 

	
 ���� %������� �
 ����� ������� ��
�+�
�� �
,

 ������������ �
��


 ��


��
� �����


����
�� �
 ��
 �������� ���
���� �% ���
�
� ����
� ����� ��� � ���
�
� ���
�
 �� ��


���
������ ��
�
� �
�
� �% �
 
"��������� ���
� ���
� ���
��� ��
�
 ������������ ��



������ ���� �
��
�� �� ��
 �


� ��������
 �% ��
 ���
������ ��
�
� �
�
� �
� ���� �
��
��

�� ��������
�� ���� ��� S(��
��
���� ���
�
� �% �
��-��� 

.���
"�

���� �
 ���$
 � %������ �
����
� ��
 ��


���
� ������������ �% u �� ��
 ��
(


��������
 �% ��
 �
��-�� ���
� u )���
� ��
 �
����� �% ��
 ��
$���� �����
��* 

�� ��������	���


���� �	
������
 �� ������
�� 
����� 
�

��
� /�� ��
 ��
$

�

�
 �% ��
 �
��
��

�
 ���� �
���� � %
� ��
�
��� %��� 0�1 � ��������� ��	
�� �����	 �� � ����� ���
���� ����

����� ��$

 �
� ��� ��2
���� ��
�
 �� 
������ �

 �������� �
��


 ��
� 

#��� �
� K �
 �
 ��������� ���
����� �
� �
,

 �
���
� ���
���� [K] ��
 ��2
��� �% [K]

��
 ��� ������
����
� �% K ����� ��
 ��


��
� �����
 ����
�� !
� L �
 �
 ��2
�� �% [K] 

	
 ���� ��
�
��� � �������� �% L ���� �
 ����
� �
 ����
 	�

���	 � �������� �
��




K1 �
� K2 �
 [K] �� � %�����

(fA,B)A∈Obj(K1) B∈Obj(K2)

�% ��������� �
 K ���� ����

A
fA,B ��

��

B

��
A′

fA′,B′
�� B′

�� ���������$
 ��
�
 ��
 $
������ ������ �

��
 ��
 )�
�"�
* �


� ��������� �
 K1 �
(

��
���$
�� K2 )�
�
� �
 �� 
�� %����� 0�1 
������* 

��



�� �� ����	
�
��	 �� 
��
��
�����

��� K1 ��� K2 �� ��	�
�� �� [K]
 A ������ B� �� �� ��	�
� �� K1 ������ K2� ��� f �� �

�������� ������� A ��� B� ���� ����� �� ���
��� ��� �������� F �� K ���� f = F (A,B)�

���� �������� �� ������� �� [f ]�

��� T OP ������ ��� 
������� �� ������� ��������
�� ���
�� ��� HT ��� 
������������

�������� 
�������
 ���� ��
 ��������� �� HT ��� ���������
� 
������ �� ��������� �� T OP


���
� ��� 
���������
 ���� ����� ���������� ���������

!� ����� �� "�#
 ����� �� � �������� �������� ���
��� �� [HT ]� ��� q �� �������� ��������

�� ������� �� Ĥq �� Hq ��� ������

���� ����	
 ����
	� �� � 
��	���
� $�
��� ���� �� "�# ��� ���������	 
��	��
�����

����� �� ��%��� �� � 
����
��� ������ ������
 ��� ��	�
�� �� ���
� ��� 
������ FM  �����

����� �� �� ��������� ��� ��������� � �������� ���������� ��������� �������������

��� (X, d) �� � �����
 ���
�
 π � ���
��� ����&�� �� X
 ��� S �� ��������� ��������� ���

��������� � �������� π ���������� ��������� ������������� ���� ����� �� �� '( ����� ����

(N1, N2) ��� (π, S) ���� ��� ���������� �������� ���� cl(N1 \N2) �� �������� π ����������� )�

���� 
���
 �� ��� ���� (N1, N2) �� � �������� π ���������� ��������� ������������ ��� (π,K)�

*��� ����
 �� �������
 �� ������� ���� ��� ��+� ��� �������� ���������� ���� N1 �� ��������

π �����������

*��
 ��� ,����� ����� C(π, S) �� (π, S) �� �� ��	�
� �� [HT ] ���� "�#�� ��� ��	�
�� �� C(π, S)
��� ��� ������� ���
�� �� ��� ���� (N1/N2, {[N2]}) ����� (N1, N2) �� � �������� ����������

'( ����� ���� ��� (π, S)� )� (N1, N2) ⊂ (M1,M2) ��� �������� ���������� '( ����� ����� ���

(π, S)
 ���� ��� ��
������ ����
�� ���� "��#� �������� (N1/N2, {[N2]}) → (M1/M2, {[M2]})
�� � �������� �� C(π, S)� )�����
 ��� ��������� �� C(π, S) ��� 
��������� 
����
����-�� ��

���� �������� �� ����� �� "�
 ����� .�/#�

0� ���� ��� Hq〈π, S〉 := Ĥq(C(π, S)) �� ������ ��� �������� ,����� ����� �� (π, S) �� ��%���

�� "�
 1�%������ .�2#� ��� �������� �� π �� ��������� �������� ��� (X̃, d̃) �� ������� �����


���
�
 π̃ � ��
�� ����&�� �� X
 ��� S̃ �� �� ��������� ��������� ��� ��������� � ��������

π̃ ���������� ��������� ������������� ����
 ����� � �������� [f ] : C(π, S) → C(π̃, S̃)
 �����

�� � ������ ����
�� �������� Hq〈f〉 := Hq〈[f ]〉 : Hq〈π, S〉 → Hq〈π̃, S̃〉�

���� ���	�������	 �	������� ��� X �� � 3���
� ���
� ��� ��� π′ �� � ������ ����&��

�� X ���������� � C0 ��������� �� ������ ���������
 ���� ��
 ��� ����� t ∈ R+ ��� ���

T (t) : X → X
 T (t) := xπ′t
 �� ������� 0� ���� 
��� ��
� � ����&�� 	������

4������ ����� �� � ����
� ��� X = X1⊕X2 �� ��������� ������
��
 X1 �� %���� �����������


T (t) 
�� �� �������� �������� �� t ∈ R− �� ���� � C0 ����� �� X1
 ��� ����� ��� 
��������

M, δ ∈ R+ \ {0} ��
� ����

‖T (t)x‖ ≤ Meδt‖x‖ x ∈ X1 t ∈ R− �5�6�

‖T (t)x‖ ≤ Me−δt‖x‖ x ∈ X2 t ∈ R+. �5�7�

����� ��� ��� ����������� �� "��
 ������� )�66�6#� ������� V +(x) ��� V −(x) �� ��%���

�� �� ��� ����� �� ���� �������
 ����� ������ � ρ ∈ R+ ��
� ���� N1 := {x ∈ X : V +(x) ≤
ρ ��� V −(x) ≤ ρ} ��� N2 := {x ∈ N1 : V +(x) = ρ} ��%��� � �������� π′ ����������

'( ����� ���� (N1, N2)�

4������ ���� U ⊂ X �� �� ���� ������������ �� 0
 π � ����&�� �� U 
 ��� {0} �� ��������

��������� ��� �������� �� π ��������� � �������� π ���������� ��������� �������������



�� ��������	���
 ��

���������� ���� ��� P := Pπ : X → X1 ���	�� �
� ��	
����	� ���
 kerP = X2�

π �� ������ �������� �	�
��	��
�
 ��� 0� �� �
��� ������ �� S��	�����	�� ������ (πλ, {0})λ∈[0,1]

���
 �
��

��� π1 = π ���

��� π0 �� � ������ �����	� �	� �
��
 �
� ��������	�� ��	�� 
	�� 

�!� �	� ����� λ ∈ [0, 1]" �
��� ������ � ���#
�	�
		� U = Uλ 	� 0 ���
 �
�� ‖xn‖−1
Pxn →

0 �
������ xn ∈ Inv+πλ
(U) \ {0} �� � ��$����� ���
 xn → 0 �� n → ∞�

π′ := π0 �� ������ � �������%���	� 	� π�

&	�#
�� ����'��#" �
� ��	�� �	��	� 	� ����# ���	�#�� �������%���� 
	��� �	� 
�����	��� �$�����

��� 	� 	�� �����	��� ��	����	� �$����	���

	
��������� ���� ������
 ���� ��
 �
�	��� π �� U ⊂ Xα 	� �	�
� 
� �	�� �����	��� �� �

�
�	�	�
�� ����
��	� 
����	��

ẋ+Ax = f(x)

���� ����

��� A 	� �
����	�� ��� ��� ������� �
����
���

��� f : U → X 	� ������� �	����	��� f(0) = 0� f ��� � �����
� �
�	���	�
 Df(0) �� 0�

�!� L := A−Df(0) 	� ���
�
��	��

 �
� π 	� �������� �	�
��	��
�
�

	
���� (	� λ ∈ [0, 1]" ���

fλ(x) := (1− λ)(f(x)−Df(0)x)

��� πλ �� �
� �����	� ��)��� �� ���� �	����	�� 	�

ẋ+ Lx = fλ(x),

��� �	�� �
�� π1 = π ��� f0 ≡ 0�

*
�� (πλ, {0})λ∈[0,1] �� �� S��	�����	�� ������ +��" *
�	��� ,,�!�-.� /� ���	��" ��� X =

X1 ⊕X2" �
��� X1 ���	�#� �	 {Reσ(l) < 0} ��� X2 �	 {Reσ(L) > 0}� *
�� ���	��	����	�

	� X �� �
� ���� �	� ��� λ ∈ [0, 1] ����� Dfλ(0) = 0 �	� ��� λ ∈ [0, 1]� ��� P−(0) : X → X1

��� P+(0) : X → X2 ���	�� �
� ���	������ ��	
����	���

��� λ ∈ [0, 1] �� ��������� ��� )���� (	� ρ > 0" ���

Uρ,λ := Uρ := {x ∈ Xα :
∥∥P−(0)(x)

∥∥
α
+

∥∥P+(0)(x)
∥∥
α
≤ ρ}.

,� �	��	�� ��	� +��" *
�	��� -����. �
�� Inv+(Uρ) ⊂ S ��	����� �
�� ρ �� ����� ��	�#
�

0���" S ���	��� �
� �	��� ������ �����	�� �� ��)��� +��" *
�	��� -����.� ,� ��� ���#���

�	 X2" �
��
 ����� �
�� ‖xn‖−1
α P (xn) = ‖xn‖−1

α (xn − P+(0)(xn)) → 0 �
������ xn �� �

��$����� �� S \ {0} ���
 xn → 0 �� Xα�

*
�� ��	��� �
�� πλ �� � ��$����� �
��
 �����)�� 1�)����	� ���" �	 π �� ������ ���	�#��

�������%����� �

���������� ��!� ��� f(x) := x − a �� ��)��� �� � ���#
�	�
		� 	� a �� Xα� *
�� π ��

������ �������� �	�
��	��
�
 �� a �� f [π] �� ���	�#�� �������%�����



�� �� ����	
�
��	 �� 
��
��
�����

�� ������	��
�� 	�� �����

���������� ���	 	
�����
 �
� X �
 � �
���� 	���

 e ∈ X
 ��� π � ����� 	
����� �
��
�

�� � �
��������� �� e �� X 	��� ���� {e} �	 �� �	����
� ��������� 	
� ��������� � 	�������

π�����		���
 �	������� �
�����������

����� �����
� �����

 �
 	
� R0 = {0} ⊂ R
 D0 := {0}
 ��� S−1 := ∅� ��� n ∈ N
 Sn �	

�� ���
�� �� [HT ] �� ����
��
� 	����
 	�	�
� 
 ����� ��	 ��	
�� ���� ��
 ���
��
 ���
��

(Dn/Sn−1, {[Sn−1]})
 ��� 
!����� ��
 ������	�" ��
 ��
����� id : (Dn/Sn−1, {[Sn−1]}) →
(Dn/Sn−1, {[Sn−1]})�

���������� #�$� %� �n� ���
������� �	 �� �	������	� o : Sn → C(π, S) �� [HT ]�

&
 ���� ��� �
�
��� � �
���� ����� �	 ��	
� �� ���������	 �������	 Rn → X �� ������

���
�������	 ��
 �
�
����� �� ��
 ����� �� ��
�
 �� �
	����
 ��
�� ��
	
 �������	 ��
 ����
�

�����
 ��� ��
� ��� �� ��� ��� �����
 ���
�������	�

'
���
 �
����� ��
�
 �
 ���� ��������
 � �
� ���������� ���������� 	�������	" A/B �
���
	

��
 ���� (A/B, [B])
 ���� �	
 ��
 
!������ �������� �� ��
 ��	
����� �	 �����
� �� ���
� �� (

�

�
����� �������	 �
�����
� ��� 
�
�� �)����
! ���� (N1, N2) ��� (π, {e})
 �
��
 N−s
2 :=

N−s
2 (N1) := {x ∈ N1 : ∃t ∈ [0, s] xπt ∈ N2} ��� N−∞

2 := N−∞
2 (N1) := {x ∈ N1 : ∃t ∈

R+ xπt ∈ N2}
 ���� �	
 N−∞
2 =

⋃
s∈R+ N−s

2 �	

 ��	� *

 +����	����� $�,- �

���������� #�.� /
� n ∈ N ∪ {0}
 U ⊂ Rn
 f : U → X ���������	 ���� f(0) = e
 ���

��� 
�
�� 	������� π�����		���
 �)����
! ���� (N1, N2) �
� ��
�
 
!�	� � λ ∈ R+ 	��� ����

fλ(x) := f(λx) �	 �
��
� ��� ��� x ∈ Dn ��� fλ(x) ∈ N−∞
2 ��� ��� x ∈ Dn \ {0}� ��
� f �	

����
� � ���� ��� (π, e)�

0��
�
�
 �� ��
� �� ���	 �
������� �� �	 ��� ��
�� ��
��
� 	

�	 
!�	�� &
 ���� 	

 ���
� ��

���� 	�1��
�� ���������	 ��� ��
 
!�	�
��
 �� 	

�	 ��� ������� �����
	 ��� ��
� 
!�	�� 2��


���� U �	 �
�
		����� � �
���������� �� 0 �� f : U → X �	 � 	

��

	�

� #�,� ��� (N1, N2) �� � ���	
��
 π����������� ����
��� ���� �	� (π, {e})� λ ∈ R+�

�
� f �� � ���� ���� ���� fλ(x) �� ���
�� �	� ��� x ∈ Dn �
� fλ(Dn) ⊂ N1�

���

Ω := {g : Dn → N1 : g �� �	
��
�	�� �
� g(0) = e}
�� �������� ���� ��� ������� �������

���
 ����� �� �
 s ∈ R+ �
� � 
�����	��		� Ufλ 	� fλ
|Dn �
 Ω ���� ���� g(Dn, Sn−1) ⊂

(N1, N
−s
2 ) �	� ��� g ∈ Ufλ �

�
���� /
� τ(x, g) := sup{t ∈ R+ : g(x)πt ∈ cl(N1 \N2)}� &
 ���
 τ(x, fλ) < ∞ ���

��� x ∈ Sn−1 �
���	
 f �	 � 	

��

/
� x ∈ Sn−1 ��� ε ∈ ]0, 1] ���� fλ(x)π(τ(x) + ε) ∈ X \ cl(N1 \N2)� 3���
 X \ cl(N1 \N2)

�	 �� ��
� 	
�
 ��
�
 
!�	� �
����������	 Vx �� x �� Dn ��� Ux,fλ �� fλ
|Dn ∈ Ω 	��� ����

g(x)π(τ(x) + ε) 	∈ cl(N1 \N2) ��� ��� (x, g) ∈ Vx × Ux,fλ 
 	������ ���� τ(ξ, g) ≤ τ(x) + ε ≤
τ(x) + 1 ��� ��� (ξ, g) ∈ Vx × Ux,fλ �

4�
 �� ��
 ��������
		 �� Sn−1
 ��
�
 ��
 x1, . . . , xn ∈ Sn−1 	��� ���� Sn−1 ⊂ ⋃
k=1,...,n Vxk

�

/
����� Ũfλ :=
⋂

k=1,...,n Uxk,fλ 
 �� ������	 ����

τ(x, g) ≤ maxk=1,...,n τ(xk, f
λ) + 1 =: s ��� ��� (x, g) ∈ Sn−1 × Ũfλ � 0
��

 ��� 
�
��



�� ������	����
 	�� 
���
 ��

(x, g) ∈ Sn−1 × Ũfλ �� ���� g(x) ∈ N1 ��� g(x)πr 	∈ N1 �	
 �	�� r ∈ [0, s]
 ��	���� ����

g(x) ∈ N−s
2 � �

����� ���� ��� f : U → X� U ⊂ Rn� �� ����	�
�
� �	�
 f(0) = e� ��� �
����� �
�� �
���

��	�� � �������� π����	��	��� ���	���� ��	� (N1, N2) ��� (π, {e}) ��� � λ ∈ R+ �
�
 �
��

fλ(x) 	� ������ ��� ��� x ∈ Dn ��� fλ(Dn \ {0}) ⊂ N−∞
2 �

�
�� f 	� � �����

����	� ��� (M1,M2) �� � ��
	���� π����������� �������� ���
 �	
 (π, {e}) ��� ��� x ∈
Dn\{0}� �� 	�
 ��������	��
 ���
� ������ ��	���
 ��	������ ��� ����� ��
	���� π�����������

�������� ���
 (N1, N2) �	
 (π, {e}) ��� � λ ∈ R+ ���� fλ(Dn \ {0}) ⊂ N−∞
2 �  �� ���

N := cl(N1 \N2) �� �� ��	������ ������	
�		� �	
 (π, {e})
 ��� (Ñ1, Ñ2) := (N1∩N,N2∩N)

�� ����� � ��
	���� ���������� �������� ���
�

�� ��� !	�������� 	� f ��� ��!���� e ∈ intN 
 ���
� �� � λ̃ ∈ ]0, λ] ��!� ���� f λ̃(Dn) ⊂ Ñ1�

"� ���� N1 \N2 = Ñ1 \ Ñ2
 ��	���� ���� f
λ̃(Dn \ {0}) ⊂ Ñ−∞

2 �

#� �	��	�� �
	� $�
 ����� %�&' ���� ���
� �
� �� s ∈ R+ ��� � ��
	���� π����������� ���

����� ���
 (L1, L2) �	
 (π, {0}) ��!� ���� L1 �� �� ��	������ ������	
�		� �	
 (π, {e}) ���

(M1,M2) ⊂ (M1,M
−s
2 ) ⊃ (L1, L2) ⊂ (Ñ1, Ñ

−s
2 ) ⊃ (Ñ1, Ñ2).

"� !�� !�		��
˜̃
λ ∈

]
0, λ̃

]
��!� ���� f

˜̃
λ(Dn) ⊂ L1�

�	
 ���
� x ∈ Dn
 �� �	��	�� ���� f
˜̃
λ(x)πt 	∈ Ñ1 ⊃ L1 �	
 �	�� t ∈ R+ ��!���� Ñ1 �� ��

��	������ ������	
�		� ��� f
˜̃
λ(x) ∈ Ñ−∞

2 �	
 ��� x ∈ Dn� (��!�
 ���
� ������ �� r ∈ [0, t]

���� f
˜̃
λ(x)πr ∈ L2
 ��	���� ���� f

˜̃
λ(x) ∈ M−∞

2 � �


�	���
��� ��&� ��� (N1, N2) �� � ��
	���� π����������� �������� ���
 �	
 (π, {e})
 f �
����
 ��� λ ∈ R+ ��!� ���� fλ(x) �� ��)��� �	
 ��� x ∈ Dn ��� fλ(Dn \ {0}) ⊂ N−∞

2 �

f := fN1,N2
: Dn/Sn−1 → N1/N2 ���	��� ��� ���*�� �	
����� �� HT �	
 ���!�

N1/N
−s
2 N1/N2

⊃��

Dn/Sn−1

fλ

��
f

������������

!	������ �������
 fλ(Sn−1) ⊂ N−s
2 
 s ∈ R+�

 �� ����!
��� 	� f 
 ����	��� ���	
����
 �� 	���� 	������ ���� ��� �������� ���
 �� !���


�
	� ��� !	������


�	���
��� ��+� ��� f �� � ���� �	
 (π, e)
 ��� ��� 〈f, π, e〉 : Sn → C(π, {e}) ���	�� ���
�	
����� �� [HT ] �	
 ���!�

〈f, π, e〉((Dn/Sn−1, {[Sn−1]}), (N1/N2, {[N2]})) = fN1,N2

�������
 (N1, N2) �� � ��
	���� ���������� �������� ���
 �	
 (π, {e})�
,��!� e = f(0) �� ��� ��������	� 	� f ����� � ����
 �� ���� �	������� �
��� 〈f, π〉�

����� ��-.� ��� (N1, N2) �� � �������� ���	��	��� ���	���� ��	� ��� (π, {e})� �
�� f :

Dn/Sn−1 → N1/N2 	� ������������



�� �� ����	
�
��	 �� 
��
��
�����

������ ����� ��� ��� 	���
����� �
������ �
 ���
����
 ���� s �
� λ� ������ �� ����

��
����� s� ����
 r, s ∈ R+ ���� fλ(Sn−1) ⊂ N−r
2 ⊂ N−s

2 � ����� �� � ��

������� ������


N1/N
−s
2 N1/N

−r
2

⊃�� N1/N2
⊃��

Dn/Sn−1

fλ

��
fλ

������������

f

����������������������

�����
� ���� r �
� s �
���� ��� ��
� 
��	���
 f �

����
�� �� ������� ���
 ��

� ��� ����� ��� ���� μ ∈ ]0, λ] ����� ��� �
 s ∈ R+ �
� �


����!������ U �� fμ
|Dn �
 Ω ���� ����

N1/N
−s
2 N1/N2

⊃��

Dn/Sn−1

[fμ]

��
g

		
f

������������

�� ���
�� ��� ��� g ∈ U �
� ��

������� ���
���� g �� ��
���	�� �� [fμ]� ��
�� f μ̃(Dn) ⊂
fμ(Dn) ⊂ N1 ��� ��� μ̃ ≤ μ� �
� ��� f μ̃ ∈ U ��� ��� μ̃ ≤ μ ����� �
����� "�
��� μ �→ fμ

N1,N2

�� ������ ��
���
� �
 ]0, λ]� ����� �� ��

������ �

#��
� $��� %��	������
 &���'(� �� �� ��� �� ���� � ������ ���
��� ��� f � ��� f !� � ���� ��� (π, e)�

(N1, N2) !� � ����
�� ��
����!�� �)*�
��+ 	��� ��� (π, {e})� �
� λ ∈ R+ !� ��,���
�� �
���

���� fλ(Dn) �� ���
�� �
� fλ(Dn) ⊂ N1� ���
� f = [g]HT ����� g : Dn/Sn−1 → N1/N2�

g([x]) :=

⎧⎨
⎩[fλ(x)πs] fλ(x)π[0, s] �� ���
�� �
� fλ(x)π[0, s] ⊂ N1 \N2

[N2] ���������.

����	 ��--� ���

Ω := {g : Dn → X : g �� � ���� �	
 (π, e)}
�� ��
����� ���� ��� �����
� ���
���

���� g �→ g� �� �	������ 	� ���� �	��	����� 	� Ω�

������ ��� λ �→ gλ� [0, 1] → Ω !� ��
��
����� &� �� ��,���
� �� ���� ���� g �→ g ��

������ ��
���
��

��� (N1, N2) !� � ����
�� ��
����!�� �)*�
��+ 	��� ��� (π, {e}) �
� λ0 ∈ [0, 1]� �����

�+���� � μ > 0 ���� ����

gμλ0
(Dn) ⊂ int(N1 \N2).

"�
��� ����� �� � 
����!������ U �� gλ0 �
 Ω ���� ����

hμ(Dn) ⊂ int(N1 \N2)

��� ��� h ∈ U � . ��

� ���� ����� �� �
����� 
����!������ Ũ ⊂ U �� gλ0
�
 Ω �
� �


s ∈ R+ ���� ����

hμ(Sn−1) ⊂ N−s
2



�� ������	����
 	�� 
���
 �


��� ��� h ∈ Ũ � ��	 
���
��
�� �� λ �→ gλ ��� 
���
	� ���� ��	�	 
� � �	
��������� �� V ��

λ0 
� [0, 1] ��
� ���� gλ ∈ Ũ ��� ��� λ ∈ V � ��

Dn/Sn−1

gλ




gλ0 ��N1/N

−s
2


� �	��	� ��� 
�������
�	� ��
� ����� ���� gλ 
� 
������� �� V � �

����� ����� ��� (N1, N2) ��� (M1,M2) �� ��	
���
 ���������� �������� ���	� �
	 (π, {e})
��� f � �����

����

M1/M2
α �� N1/N2

Dn/Sn−1

f

��
f

������������

�
������� ���	� α ���
��� ��� ����	 �
	����� 
� ��� �����
	��� �
���
 ������

����	� �� �
	� �� ��� �	���  �!"� 
� 
� ��#

	�� �� ����	 ��� 
��
� 
� ��	 ��	

�� 
��	

(M1,M2) ⊂ (N1, N2)� �� ������� 
��	�
��	�� ���� ��	 �	��
�
��� �� M−s
2 ��� N−s

2 ����

M−s
2 ⊂ N−s

2 ��� ��� s ∈ R+�

$� �	��� ��%� �	 ��� 
����	 s ∈ R+ ��� λ ∈ [0, 1] ��
� ����

M1/M2
⊂ ��

⊂
��

N1/N2

⊂
��

M1/M
−s
2

⊂ �� N1/N
−s
2

Dn/Sn−1

fλ

��

id �� Dn/Sn−1

fλ

��

&��'(


� �	��	� ��� 
�������
�	� )���	*�	����� 
�����
�� ��	 �	��

�� �������

M1/M2
⊂ �� N1/N2

Dn/Sn−1

f

��

id �� Dn/Sn−1

f

��


�����	� �� +	��
�
�� ��!� �

���
���
��� ���'� ��� (πk)k∈N∪{∞} �� � �����
 
� �����
�� ���� ���� πk → π∞ := π

��� ��� (N1,∞, N2,∞)� (Ñ1,∞, Ñ2,∞) �� ��	
���
 π∞����������� �������� ���	� �
	 (π∞, {e})
���� ���� N1,∞ �� � ��	
���
 ���������� ��
������ ������
	�

� �
	 (π∞, {e})�
��	���	� ��� (N1,k, N2,k)k∈N� (Ñ1,k, Ñ2,k)k∈N �� �������� 
� ��	
���
 πn����������� ��������

���	� �
	 (πk, {e}) ���� ����

(Ñ1,k, Ñ2,k) ⊂ (Ñ1,∞, Ñ2,∞) ⊂ (N1,k, N2,k) ⊂ (N1,∞, N2,∞)

�
	 ��� k ∈ N�

������
� ��� f : Dn → X �� � �
��
� ����� ���� ��� �
	 ���	
 k ∈ N ∪ {∞} �� �
��� ���� f

�� � ���� �
	 (πk, e)�



�� �� ����	
�
��	 �� 
��
��
�����

���� ����� �� 	� n0 ∈ N �
�� ��	�

Ñ1,k/Ñ2,k

⊂ �� N1,l/N2,l

Dn/Sn−1

f

������������

f
������������

�� ��


�	���� ��� 	�� k, l ∈ N ∪ {∞} ���� k, l ≥ n0�

����� ����� ��� λ ∈ ]0, 1] �
�� ��	� fλ(Dn) ⊂ N1,k 	�� r ∈ R+� �����

��� M := Mλ,r := {(x, s) ∈ Sn−1 × [0, r] : fλ(x)π[0, s] ⊂ Ñ1,∞} �� ��
�	���

��� g := gλ : [0, r]×Dn → Ñ1,∞/Ñ2,∞�

g(s, x) :=

⎧⎨
⎩fλ(x)πs fλ(x)π∞[0, s] �� ������ 	�� fλ(x)π[0, s] ⊂ Ñ1,∞

[Ñ2,∞] ���������

�� ������
�
��

��� ����� �� 	 τ ∈ R+ �
�� ��	� g([0, r] × Sn−1) ⊂ N−τ
2,k /Ñ2,∞ ��� 	�� k ∈ N ∪ {∞}

�
�������� �	����

����	� ��� Sn−1 × [0, r] 	
 ��
����� 
� 	� 
����
 �� ����� ���� M 	
 ���
��� ���

(xk, sk) → (x0, s0) 	� M ��� s ∈ [0, s0[� �� ������
 ���� ��� ��� k ∈ N ����� ������

sk > s� 
� xkπs ∈ Ñ1,∞ ��� x0πs ∈ Ñ1,∞�  ����� !" ��� ���
����

 �� Ñ1,∞� ��

���� x0π[0, s0] ⊂ Ñ1,∞� ��� ���
 (x0, s0) ∈ M �

��� #�	
 ������
 ���
 $��� %����
	�	�� ��&��'�

��� ��� M̃ := {(fλ(x), s) : (x, s) ∈ M}� x ∈ π(M̃)� ��� ���� ���� π(M̃) ⊂ Ñ1,∞ ⊂
N1,k ��� ��� k ∈ N� (" ��� �

�
��	�� ���� N1,∞ 	
 � �
������" ��
	

	!���

	
����	�� ��	��!������ �� {e} �����	�� �� π� ����� 	
 � t = tx ∈ R+ 
��� ����

fλ(x)πt ∈ X \N1,∞� )�����	
�� ����� ����� !� � ���� 
����	�� �� π �"	�� ���	���"

	� N2,∞ ��
	�� ��� 
����� ��
	

	!	�	�"�� �������	��	�� ��� �

�
��	�� �� N1,∞

!�	�� �� 	
����	�� ��	��!�������

 ����� ����� ��� n0 = n0(x) ��� � ��	��!������ Ux �� x 	� π(M̃) 
��� ����

Uxπkt ∈ X \ N1,∞ ⊂ X \ N1,k ��� ��� k ≥ n0� *��
�+�����"� ��� ����" x ∈ Ux�

����� 	
 �� r ∈ [0, tx] �	�� xπkr ∈ N2,k� #�� ��
������

 �� π(M̃) 	
��	�
 ����

����� ��� x1, . . . , xN ∈ π(M̃) �	�� π(M̃) ⊂ ⋃
i=1,...,N Uxi � ,� ��� ����
� τ :=

maxi=1,...,N txi ��� n0 := maxi=1,...,N n0(xi)�

-	��� ��� ����" (s, x) ∈ D(g) ��� ��
 �	���� g(s, x) ∈ π(M̃) �� g(s, x) = [Ñ2,∞]�

	� ������
 ���� g(s, x) ∈ N−τ
2,k /Ñ2,∞ ��� ��� k ≥ n0�

�

����	 �	 ���
���
��� ����� ��� τ ∈ R+ !� �	��� !" ��

� ����� ��� �

�
� ����

fλ(Sn−1) ⊂ N−s
2,∞ ��� λ ∈ [0, 1] ��� s ∈ R+� �� ������
 ���� ����� 	
 �� n0 ∈ N 
��� ���� ���
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��� k ≥ n0

Dn/Sn−1
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fλ

�� Ñ1,∞/Ñ−s
2,∞

Dn/Sn−1

id

��

g(s,.)
�� Ñ1,∞/Ñ2,∞

⊂

��

⊂
��

Dn/Sn−1

id

��

g(s,.)
�� N1,k/N

−τ
2,k

id

��
Dn/Sn−1

g(0,.)




fλ

��
N1,k/N

−τ
2,k

�������	 
� HT �


�
	 	���	 ����

N1,k/N2,k Ñ1,∞/Ñ2,∞
⊃�� ⊂ �� N1,l/M2,l

Dn/Sn−1

f

�������������
f

��
f

�������������

�������	 ��� ��� k, l ≥ n0�

�� ������	 ���� ����� ���� ����

Ñ1,k/Ñ2,k

⊂ ��

⊂




Ñ1,∞/Ñ2,∞

⊂ �� N1,k/N2,k

Dn/Sn−1

f

������������

f
�������������


	 ���������
�� ��� ���	 ��	�

Ñ1,k/Ñ2,k

⊂ �� Ñ1,∞/Ñ2,∞
⊂
≈

�� N1,k/N2,k

Dn/Sn−1,

f

������������
f

��
f

�������������

����� ≈ 
��
����	 �� 
	������
	��

�
������ �� �������� ����

Ñ1,k/Ñ2,k

⊂ �� Ñ1,∞/Ñ2,∞
⊂ �� N1,l/N2,l

Dn/Sn−1

f

������������
f

��
f

�������������

�������	 ��� ��� k, l ≥ n0� �

������� ����� ��� Λ �� � ��������	 
����� 
���� ��	 ��� (πλ, {e})λ∈Λ �� �� S����������

��
��� 
��� ���� ����� ���
�
 � ��

�� 
��	 f : Dn → X�

�� ����� ���
�
 � λ0 ∈ Λ 
��� ���� 〈f, πλ0
, e〉 �
 �� �
�
�����

� ���� 〈f, πλ, e〉 �
 �� �
�
���

���

 ��� ��� λ ∈ Λ�



�� �� ����	
�
��	 �� 
��
��
�����

������ ��� χ : Λ → {0, 1} �� ������ ��

χ(λ) :=

⎧⎨
⎩1 〈f, πλ, e〉 	
 �� 	
�
����	



0 ������	
�.

�� ������
 ���
 ���� ������
 ������� ��� �����
	�	�� ���� ���� χ 	
 ������� ���
���� �� Λ�

��	�� 	
 � ��������� 
���	� 
����� �

�� �����	
	��� ��� 
��� ����	� �� ����
���
��� ��������

���� !�� � ��	
 
���	��� ��� X �� � "����� 
���� ��� π, π′ �� 
����!�� �	����	#���� 
�
	$��


������ 	� � ��	!�������� �� 0� %����&��� 
 ���
� ���� π′ 	
 � �	���� 
�
	$��� ��� ���

n = dimX1� '����� ���� ��� 
 �
����
 X1 = PπX ������
 �� ��� 
�
	$�� π� (� �	��  
�

��� �����	�� 	����� ��� 	� ��� ������������	 
���	���

����	 ���)� 
�� f : Dn → X �� 
��������	� f(0) = 0� ��� 0 < θ ∈ R+ 	�
� ����

‖Pπ ◦ f(x)‖ > θ‖f(x)‖ *��+,

��� ��� x 	= 0 �� � 	��
������ 	���� ������������ �� 0�

���� f �	 � 	��� ��� (π, 0)�

������ - ���
� ���� f 	
 ��� � 
����

"� .���	�	�� ���� ����� �/	
�
 � ��	!�������� U �� 0 
 �� ����

‖yn‖−1
Pπ(yn) → 0 *��0,

�����&�� yn 	
 � 
�1 ���� 	� Inv+(U) \ {0} �	�� xn → 0 �
 n → ∞�

��� (N1, N2) �� � 
����!�� ��
	

	��� 2%3	���/ ��	� �	�� N1 ⊂ U � "� ��

� ���� ����� 	


� 
�1 ���� 0 	= xn → 0 
 �� ���� f(xn) ⊂ Inv+(N1) ⊂ Inv+(U) ��� ��� n ∈ N�

(� ��&� f(xn) 	= 0 ��� ��� n ∈ N �� *��+,� -	��� π 	
 
����!�� �	����	#����� 	� ������
 ���


*��0, ����

‖f(xn)‖−1
Pπ ◦ f(xn) → 0,

� �������	��	�� �� *��+,� �


��	�� �� *��+, ����	 �� f(x) ∈ X1 ��� ��� x ∈ X� ��������� *��+, ��	� ����	 �� f ��	 �

���
�������������� Df(0) �� 0 ���� kerP ◦Df(0) = {0}�

����

	�� ����� 
�� f : Dn → X1 �� 
��������	 ��� ����
���� ���� f(0) = 0�

�������� ��� Λ �� � 
����
��� �����
 	 �
� ��� ��� (πλ)λ∈Λ �� �� S�
��������	 ������ ��

	������� �������!���� 	���"��	 ���� X1 = X1(πλ) ����� 
��	�����

���� f �	 � 	��� ��� (πλ, 0) ��� ��� λ ∈ Λ� ������������ �� ����� �	 � λ0 ∈ Λ 	�
� ����

〈f, πλ0 , 0〉 �	 �� �	���� ��	�� ���� 〈f, πλ, 0〉 �	 �� �	���� ��	� ��� ��� λ ∈ Λ�

������ f 	
 � 
��� ��� �&��� πλ �� ��

� ���) ��� ��� ��
��4 ����������� �� 
� ���

���	
 ������
 ���
 ������
 ���0� �

����������� ���5� 
�� (N1, N2) �� � 	������� π′�����		���� �������#  ��� ��� (π′, {0})�
��� ��� f : Dn → X1 �� ����
���� ��� 
��������	 ���� f(0) = 0�

���� f : Dn/Sn−1 → N1/N2 �	 �� �	���� ��	� �� ��� ������ � 
������� ��  ������ 	 �
�	�
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�

������ ��	� �������� �� � 	
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����� �� 
	 	���� 
� ��
 ����� �� ���� ��
��
� ������� ���� ��
�
 
�
	�	 �� 
	����
��

����� B = B1 ⊕B2 �
��

B1 = {x ∈ X1 : V +(x) ≤ 1}
B2 = {x ∈ X2 : V −(x) ≤ 1}

��� B− = ∂B1 ⊕ B2� B1/∂B1 
	 � 	����� �
������
�� �
�����
�� �� B/B−� ���� 
	� ��



����	
�� 
����
� ����
��

(B1/∂B1, [B1])
⊂ ��(B/B−, [B−])


	 �� 
	������
	� 
� ��
 �������� ���
���� �� ��
��
� 	���
	�

��
�
 
�
	�	 � λ ∈ ]0, 1] 	��� ���� fλ 
	 
��
��
 
 ��� fλ(Dn) ⊂ intB1� !��
� 
�� ��
�
 
	

� ����
����	 �����
���� ρ : Dn \ {0} → R+ �
�� fλ(x)π′(ρ(x)) ∈ ∂B1 ��� ��� x ∈ Dn \ {0}
"	

 ���� #
��� $�%�&�

'
(�
 g : [0, 1]×Dn → X1 ��

g(μ, x) :=

⎧⎨
⎩fλ(x)π′(μκ(x) ρ(x)) x 	= 0

0 x = 0,

��
�
 κ : Dn → [0, 1] 
	 ����
����	� κ(x) = 1 ��� ��� x ∈ Sn−1� ��� ��
�
 
	 � �

���������

U �� 0 
� Dn �
�� κ(x) = 0 ��� ��� x ∈ U � ��
	 
	 
���	����
� 
� )
���
 *��+ ��
 ��
� ��
�

	���	 ��
 
���
 �� fλ� ��
 �����	 
��
���
 ��
 ,�� �� B1� #
��� *��- ��� ��
 �
����

��
�
���
� 
���� ���� g(μ, .) 
	 � 	

� ��� 
 
�� μ ∈ [0, 1]� �� ������	 ���� #
��� *��� ����

f = g(0, .) = g(1, .)�

.��� 	���
	� Dn/Sn−1 ��� B1/∂B1 ��
 ���
������
� �� Sn� #
� h �
 
����
� �� ��


������
�� ��������
 
 �
����� 
� ��
 ���
���� �� ��
��
� 	���
	� ��
�
 ��
  
��
��� �����	

�
���
 
	������
	�	+

(Dn/Sn−1, 0)
g(1,.)

��

≈
��

(B1/∂B1, 0)

≈
��

(Sn, o)
h �� (Sn, o).

o ∈ Sn ��� �
 ���	
� ���
����� �	 ���� �	 ��
 �����
	�	 ��
 ��	
��
��/��
	
� 
���

0
 ��� �� 
 h−1({o}) = {o}� 1
��
 κ(x) = 0 
� � �

��������� �� 0� ��� �� ��
 
��
��
 
��

�� f � ��
�
 
	 �� ��
� �

��������� �� V �� o 
� Sn 	��� ���� h|V 
	 
��
��
 
� h(V ) 
	 ��
�



�� �� ����	
�
��	 �� 
��
��
�����

�� ��� ���	
�	��� �
 ���	��� �� h �� 	 ���	� �������
����� 	� o� ���
�
�
�� deg h = ±1

�� ���� �
��������� �������� �� 
������ ��	� [h]HT �� 	� �����
����� ���� ���� ����
��

����� �� �!� ���
�
�
�� f = [g(1, .)]HT �� 	��� 	� �����
������ �

�� �� ��� ��
	�"��
�
�	
� �� 
�
�#�	�� ��� 
�������"

����������� $� %	 ��� f : Dn → X1� f(0) = 0� �� ����	��
� ��� 	
�����
���

���� f �� � ���� �
� (π, 0)� ��� 〈f, π, 0〉 �� �� 
��������
� �
� (π, 0)�

����
	 &���� π �� ��
��"�� ����	
�'	���� ���
� �� 	� S(������#�#� 
	���� (πλ, {0}) ����
π1 = π 	�� π′ := π0 ����" ����	
�

�� 
������ 

�� �
��������� $� ) ��	� 〈f, π′, 0〉 �� 	� �����
������ *���" +�
���	
� $� $ 	��

��� ��,������ �
 ��
��" ����	
�'	������� ��� ���	��� ��	� 〈f, π, 0〉 �� 	��� 	� �����
������ �

������
�� $���	 ��� f : Dn → X ���� f(0) = 0� ������ ���� ��� ���	��������
���
�

Df(0) ������ ��� P ◦Df(0) : Rn → X1 �� �� ��
�
�������

���� f ��� P ◦Df(0) ��� ����� �
� (π, 0)� ��� 〈f, π, 0〉 = 〈P ◦Df(0), π, 0〉 ��� 
��������
���

����
	 -� .���	 $� /� gλ : Dn → X�

gλ(x) := λf(x) + (1− λ)P ◦Df(0)x,

�� 	 ���� 
�
 ���
� λ ∈ [0, 1]� 0� �	�� g0 = f � g1 = P ◦ Df(0)� �� �� 
������ 

�� .���	

$�  ��	� gλ �� �����	���

1��	���� 〈P ◦Df(0), π, 0〉 �� 	� �
����	���� �� �
��������� $� %� �

2�� ��"�� �3���� ��	� 	� �
����	���� �� ��
��� 	 ������ �
 	 �	��� 
�
 X1� ��� 
��	��������

������� �
����	����� ����#��� �� ��� 	���� �����! 	�� �	��� �� ���	������� �� ��� 
�������"

�
���������� ����� ��	��� ��	� ����	����� �	��� ���#�� ��� �	�� �
����	���� 	�� ���� ��
�	�

����������� $�� 	 ��� Φ1,Φ2 ∈ L(Rn, X1) �� ���
�������� ���� 〈Φ1, π, e〉 = 〈Φ2, π, e〉 ��

��� 
��� �� detΦ−1
2 Φ1 > 0�

.�� E 	�� F �� ,����(���������	� ��
��� ��	���� 1�
 A,B ∈ ISO(E,F ) ��� A ∼ B

����������! �4 ���
� �3���� 	 
	���� (Cλ)λ∈[0,1] �� ISO(E,F ) �#�� ��	�

� ! C0 = A5

��! C1 = B5

��! λ �→ Cλ �� ������#�#��

�� �� ���� 6���� ���� �
��������� %��/� ��	� A ∼ B �
 	�� ���� �
 detA · detB > 0�

����
	 ��� �	�� n = 0 �� �
���	�� �� �� �	� 	��#�� ��	� n ≥ 1� &#����� ��	�

detΦ−1
2 Φ1 > 0� ����� ���
� �3���� H ∈ C([0, 1], ISO(Rn, X1)) �#�� ��	� H(0, .) = Φ1

	�� H(1, .) = Φ2�

�� 
������ 

�� .���	 $� / ��	� H(λ, .) �� 	 ���� 
�
 	�� λ ∈ [0, 1] 	�� 

�� .���	 $�  

��	� 〈Φ1, π, 0〉 = 〈Φ2, π, 0〉�
�� �
��
 �� �
��� ��� ����(�
 �	
�� �� �� �#7����� �� ���� ��	� ���
� 	
� Φ1� Φ2 ����

〈Φ1, π, 0〉 	= 〈Φ2, π, 0〉� .�� Φ1 ∈ ISO(Rn, X1) �� 	
���
	
� 	�� ��,�� Φ2(x1, . . . , xn) :=

Φ1(−x1, x2, . . . , xn) �� ��	� detΦ
−1
2 Φ1 = −1� 1#
���
� ��� (N1, N2) �� 	 ��
��"�� π(	���������

18(����3 �	�
 
�
 (π, {0})� λ ∈ ]0, 1]� 	�� s ∈ R+ �#�� ��	� Φλ
1 (D

n, Sn−1) ⊂ (N1, N
−s
2 )�



�� ��� ������ �� ��	��	�
���
	
 ��

������� α(x1, . . . , xn) := (−x1, x2, . . . , xn)� �� �	

	�� �
��

Dn/Sn−1

α

��

Φλ
1 �� N1/N

−s
2

Dn/Sn−1

Φλ
2

������������

�����

�� � �	��������� ������� �� �
� �����	�� 	� �	����� �	�	
	����
 ������� ������ ������� �����

�	 �����
�� 
	�	
	��� �� 	����� −1 = Hn(α) = Hn

(
Φλ

2

)−1

◦Hn

(
Φλ

1

)
���� ���� ����	
� �
��

�
� ��� �
������	
� 
� Hq(α)�
 ��	� ��
�� ���� 〈Φ1, π, 0〉 	= 〈Φ2, π, 0〉
 �

�� ��� ����	 
� �
��
�

������

���������� �
��� �
� ����� q ∈ Z� ���

μq : Z → Hq(Sq)

�� �� 	�
�
���	�� ��� μ := (μq)q∈Z
 �����  	��� �� ���	����� �
���	�� f : Hq+k[Sq+k] →
Hq(Sq)� k ∈ Z� ����� 	� � ��	!�� ������ θ(f) := θ(f, μ, q, k) ���� ���� f◦μq+k = θ(f, μ, q, k)·
μq


"��	� ������� �
�	��� �� �	�� �
�# �	�� � $%�� ��� ���	����� �
�����	
� μ 
� 	�
�
���	���


&�� X ��� Y �� '����� ������ ��� ��� π �� � ���
� �� �	����(	���� �
��� ���	)
� 
� X
 *�

	� ��� ����	
�� ����	
�� ��� X1 = X1(π) �� ��$��� �� 	� ��� ��$�	�	
� 
� ���
� �	����	(��	�	��

��� ��

�� n := dimX1
 &�� U ⊂ X �� � ��	 ��
��

� 
� 0 	� X� V ⊂ Y ��� f : U → V

� �
��
�
���	��
 "�	� 
�	�����	
�� o1 : Sn → C(π, {0}) ��� o2 : Sn → C(f [π], {f(0)})�
��� ���	
� 
� f ��� �� �����	��� �� 	�� 	������ ���	
� f∗ 
� Sn� ��
�� �	� ���� �
�
�
 �

��� �� �%������� �� � ������ θ ∈ Z


���������� �
�+� &�� o1, o2 �� 
�	�����	
�� �
� (π, 0) ����
 (f [π], f(0))


f∗ := f∗
o1,o2 ��� ��
� ��� ������	�� ���� �
 �
����	
� ��� ��	��� ���
��� ��� ��	!�� �
�,

��	�� 	� HT �
� ��	��

Sn
o1 ��

f∗

��

(π, {0})

〈f〉
��

Sn
o2 �� (f [π], {f(0)})

	� �
������	��


-
��
���� ��� θ(〈f〉) := θ(〈f〉, μ, o1, o2) := θ(Hn(f
∗
o1,o2), μ, n, 0)


.�  ������� ��� �
���	�� Hq(f
∗) ������� 
� o1 ��� o2
 /
������ 	� �� ������ ���� X = Y �

f(0) = 0� f 	� ��0����,�	1�����	���� 	� 0� ��� ���� Df(0) 	� �� 	�
�
���	��� ���� Hq(f
∗)

������� 
��� 
� Df(0)2

	
��������� �
�3� ������� ��	� Df(0) = idX 
 	�� 
�� o : Dn → X1 �� ��������� 	��

���������� ���� o(0) = 0�

����

�4� o �� 	 ���� ��� π 	�� f [π]�

��� 〈o, π〉 	�� 〈o, f [π]〉 	�� ������	������



�� �� ����	
�
��	 �� 
��
��
�����

��� θ(〈f〉, μ, 〈o, π〉, 〈o, f [π]〉) = 1�

������ ������	

gr(x) := r(f−1 ◦ o(x)) + (1− r)o(x),

�
��� �� 
 ���	
���
��� U �� 0 �� Rn ���
 �

�

‖Pgr(x)‖ ≥ ‖P (o(x))‖ − ‖P (f(o(x))− o(x))‖ ≥ 1

2
‖o(x)‖ > 0

��� 
�� x ∈ U \ {0} 
�� 
�� r ∈ [0, 1]�

�� ������� ���� ����������� ���� �

� gr �� 
 ���� ��� (π, 0) ��� 
�� r ∈ [0, 1] �
��
 ������� 
�

������
���� 〈gr, π〉� �� ���� �� ����
 ����� 〈gr, π〉 ���� ��� ������ �� r�

 �������� ����� gr �� 
 ���� ��� (π, 0)� f ◦ gr �� 
 ���� ��� (f [π], 0)� !� �
�� 

�� 〈o, f [π]〉 =
〈f ◦ g1, f [π]〉 = 〈f ◦ g0, f [π]〉 = 〈f ◦ o, f [π]〉�
!� ���� �� �
�� �

�

Sn
〈o,π〉

��

[id]

��

C(π, {0})

[f ]

��
Sn

〈o,f [π]〉
�� C(f [π], {0})

�����

�� ������
�����

��� (N1, N2) �� 
 �����	�" π#
��������� $ #����% �
�� ��� (π, {0})� &
�� �
��� 
�� λ ∈ ]0, 1]


�� s ∈ R+ ���
 �

�

Dn/Sn−1 oλ ��

id

��

N1/N
−s
2

f

��
Dn/Sn−1

(f◦o)λ
�� f(N1)/f(N

−s
2 )

�� ������
���� �� T OP� '���� o �� 
 ���� ��� f [π]� �� �
� 
����� ���
��� ���� �� 	����
���"
��
�����	 λ 
�� s �
�	� ����	
� �

�

Dn/Sn−1 oλ ��

id

��

N1/N
−s
2

f

��
Dn/Sn−1 oλ �� f(N1)/f(N

−s
2 )

�� ��(���� �� �������� ���
��� 〈f ◦ o, f [π]〉 = 〈o, f [π]〉 
� �� 

�� 
���
�" �����
'���� f ������� 
� �������
��� N1/N

−s
2 → f(N1)/f(N

−s
2 ) ��HT � �� ������� �

� 〈o, f [π]〉 =

〈f ◦ o, f [π]〉 �� 
� ������
����� �

�� ������ �	�
 ���
��� ������
�

!� ���� 
���" �
� 
����
�
 �� ������
����� ��������� �� �
� �������� �������� �� ��������
�

�)�� ������� ����*��� 
� ���������� �� +

���� , �����	 �
� �
�� ���
������ �� �
������
��

��� n = dimE−(−1) = dimE−(1)� -��
�� �

� �
� �����
��� E±(x) ���������� �� �
�

������
� ���� {Reσ(A − F (x)) > 0} 
�� {Reσ(A − F (x)) < 0}� .�������
��"� �� ���� ���
E+,α(x) := E+(x) ∩Xα�

���� ������ ��
�� �������������



�� ������ 	
�� ��
���� 	�����
�	 ��

����� ����� ��� π = (ξ,Φ) ∈ SK−1([a, b], α,X,A) ��� ��� Ψ−1,Ψ1 ∈ L(Rn, Xα)�

	
�� ���� P−
−1(π, 0)Ψ−1 ��� P−

1 (π, 0)Ψ1 �
� �	���
���	�	�

����

��� o−1(x, y) := (−1,Ψ−1y)� (x, y) ∈
]
− 1

2 ,
1
2

[
×Rn� �	 � 	��� ��
 (π, (−1, 0))� ���

��� o1(y) := (1,Ψ1y)� y ∈ Rn� �	 � 	��� ��
 (π, (1, 0))�

����	� �	

��
 ���� π = π(A,F )�

��� �
� U := B1/2[(−1, 0)] ⊂ [−2, 2]×Xα� ��� �
� (N1, N2) �
 � �������� π����������


������
� 
���  �� (π, (−1, 0)) !��� N1 ⊂ U � ���"
 Inv+(U) ⊂ {0} × E+,α(−1)�

��  ����!� ���� o−1(x, y) ∈ N−∞
2  �� ��� (x, y) ∈ D(o−1) \ {0}� #�!� �
��� ���

��
��
� ���� o−1 �� � �

�  �� (π, (−1, 0))�

��� �
� X1 := {0} × Xα ��� (N1, N2) �
 � �������� π����������
 ������
� 
���  ��

(π, (1, 0)) !��� N1 ⊂ B1[(1, 0)] ⊂ R×Xα� $�
� (X1 ∩N1, X1 ∩N2) �� � ��������

π����������
 ������
� 
���  �� (π̃, 0)� !�
�
 π̃ �� ���	"
� �� ���� ���	����� � ��


���
�� 
%	�����

ẋ = 0 x ∈ {0}
ẏ +Ay = F (1)y y ∈ Xα.

&�  ����!�  ��� '�������� ���( ���� o1 �� � �

�  �� (π̃, 0)� ���� ��� ��
�
 �� � λ ∈ R+

�	"� ���� oλ1 (y) = o(λy) ∈ N−∞
2  �� ��� y ∈ Rn \ {0}� )� �
 ��
� �� �

��"����� � 

�
��� ��� 
��*
� ���� o1 �� � �

�  �� (π, (−1, 0))�

�

+����  	���
� ����"
� �
� μ �
 ��*
� �� ,
-������ ����� π ∈ SK−1� Ψ−1 ∈ ISO(Rn, E−(−1))�

Ψ1 ∈ ISO(Rn, E−(1))� ��� o1 ��� o−1 �
 �
-�
� �� �
��� �����


�	���
��� ���.�

θ̄(π) := θ̄(π, μ,Ψ−1,Ψ1) := θ(Hn−1〈o1〉−1 ◦ ∂n ◦Hn〈o−1〉, μ, n, 1)

!�
�
 ∂q : HqC(π, {(−1, 0)}) → C(π, {(1, 0)}) �
���
� ��
 q��� "���
"���� �����
���� � 

��
 ���� 
��"� �����"�����


��
� �
%	
�"
 �� ����	��� �������� !��"� �� ����"���
� !���

(π, [−1, 1]× {0}, {(1, 0)}, {(−1, 0)})�

����� ����� ��� πk → π∞ �� � 	��
���� �� SK0 	
�� ���� ��� �		
������	 �� ��� ����

�
�� ���� ���� �������
 Ñ �	 � ��
���� �������
���� �� [−1, 1] × {0}� �
���	� ����

〈o−1, πk, (−1, 0)〉  
�	�� 〈o1, πk, (1, 0)〉! �	 �� �
��������� ��
 ��� k ∈ N ∪ {∞} 	
"������#

��
���

���� θ̄(πk) = θ̄(π∞) ��
 ��� k ∈ N 	
"������# ��
���

����	� /� 0�� $�
��
� ��12� ��
�
 ��
 �������� ���������
 ������
� ���
�
�

(N1,k, N2,k, N3,k)� (Ñ1,k, Ñ2,k, Ñ3,k)  �� (πk, [−1, 1], {−1}, {1}) ��� (M1,M2,M3)� (M̃1, M̃2, M̃3)

 �� (π∞, [−1, 1], {−1}, {1}) �	"� ����  �� ��� k ∈ N �	3"�
���� ����


(Ñ1,k, Ñ2,k, Ñ3,k) ⊂ (M̃1, M̃2, M̃3) ⊂ (N1,k, N2,k, N3,k) ⊂ (M1,M2,M3).

4
 "�� ���	�
 ���� M1 �� ��	��
� �� X �� ���� �� �� �������� π∞����������
 �� '��������

.�5�



�� �� �����	
	��� �� 	�
��
	�����

�� ������� ���	 
���������
 ���� ����

Dn+1/Sn
o−1 ��

id

��

N1,k/N2,k

⊂
��

Dn+1/Sn
o−1 �� M1/M2

�����

�
�

Dn/Sn−1
o1 ��

id

��

N2,k/N3,k

⊂
��

Dn/Sn−1
o1 �� M2/M3

�����

��� ��		������� ��� ��� k ∈ N ������
��� ������

 �������! ����� �� � ��		������� ������

�� Hq+1[N1,k/N3,k] ��

⊂
��

Hq+1[N1,k/N2,k]
∂̃q+1 ��

⊂
��

Hq[N2,k/N3,k] ��

⊂
��

�� Hq+1[M1/M3] �� Hq+1[M1/M2]
∂q+1 �� Hq[M2/M3] �� ,

����� ∂q �
� ∂̃q ��
��� ��� ���������� q"�� ��

����
� ��	�	������	�

�� ������� ���� θ̄(πk) = θ̄(π∞) ��� ��� k ������
��� ������ �

����������� ��#�	 〈oν , π, (ν, 0)〉 �� �� ����������� 	�� �
��� π ∈ SK0� ν ∈ {−1, 1}
 �����

�
��� 	�� ��� π0, π1 ∈ SK0� �� ����� ���� θ̄(π0) = θ̄(π1) �����
�� π0 ∼ π1 �� ��� ����� �	

�������� �
�


����
	 $����! ����	� ���� π ∈ SK1! ��� ν ∈ {−1, 1}! m = n ��� ν = 1 �
� m = n+1 ���

ν = −1� %��
 ����� �� � 
����&������ U �� (ν, 0) �
 ]−2, 2[×Xα ���� ���� ��� ����������


�� π �� U �� �
����� &� 	��� �������
� ��

ẋ = 1− x2

ẏ +Ay = F (ν)y.

�� ������� ���	 '�������� ��#( ���� 〈oν , π〉 �� �
 ����
�����
�
)��! ��� π ∈ SK0� *� +�		� ,���! ����� �� �
 S"��
��
��� ��	��� (πλ, {(ν, 0)}) ���� ����
π1 ∈ SK1! π0 = π! �
� E−(πλ, ν) ��� ��
���
�� -�
��! oν �� � ���� ��� (πλ, (ν, 0)) ��� �����

λ ∈ [0, 1]� �� ������� ���	 %�����	 ���. ���� 〈oν , π〉 �� �
 ����
�����
 ��� (π, {ν})! �����
�
��� /��� ����	�

�
 ����� �� ���� ��� ����
� ����	! ��� π0, π1 ∈ SK0 ���� π0 ∼ π1! ���� ��! ����� �0���� �
 S"
��
��
���� ��	��� (πλ, [−1, 1]×{0})λ∈[0,1] ���� ���� E

−(πλ,−1) �
� E−(πλ, 1) ��� ��
���
��

%��������! �� ��
 ������ Ψ1 �
� Ψ−1 ���� ���� o−1 ������ o1� �
����� ����
�����
� ���

(πλ,−1) ������ (πλ, 1)� ��� ��� λ ∈ [0, 1]�

1������ ���� θ̄(πλ) �� 
�� ��
���
�� %��
 ����� �� � ��2��
�� λn → λ∞ �
 [0, 1] ����

θ̄(πn) 	= θ̄(π∞)! ����� �� ��� πn := πλn ! n ∈ N ∪ {∞}� %��� �� � ��
���������
 �� +�		�
��#�! �����
� ���� θ̄(π0) = θ̄(π1)� �



�� ������ 	
�� ��
���� 	�����
�	 ��

���� ��� ���	
��� ������
��� ��� ����� π ∈ SK2� �� 	
�� ���
�� 

 �
�
��

�

�����
��� U �� [−2, 2]×Xα� ��� (N1, N2, N3) �� 

 
�����
�� ����
��� �
�� ��� (π, [−1, 1]×
{0}, {(1, 0)}, {(−1, 0)})� ��� �� �	� �
�
��

�� �� U � (M1,M2,M3) := (N1∩U,N2∩U,N3∩U)

�� 

 ����
��� �
�� ��� π| imU ����
�� �	
� �� 	
�� 
���
�� ���
�� 
� ������� πU �


E−(−1) � �	��	 ��
���� �	� ����������
 �� π �� U �

!	� �
������
 (M1,M2,M3) ⊂ (N1, N2, N3) �
����� 
 ������
���� �
���� �
 ��
"��
� 	��

����"�� 

����

�� Hq[M1,M3] ��

⊂i

��

Hq[M1,M2] ��

⊂k

��

Hq−1[M2,M3] ��

⊂l

��
�� Hq[N1, N3] �� Hq[N1, N2] �� Hq−1[N2, N3] �� .

�#�$% 

����� #�&'� ��� ����� π ∈ SK2� 〈oν , π| imU 〉� ν ∈ {−1, 1}� �	
���
 �	 ����	�����	 ���

(π| imU , {(ν, 0)})�

����	� F (x) �� ��
��

� ��� 
�� x �
 
 
��"	���	��� N±1 �� ±1� !	�������� U(±1) =

E−(±1)� 

� �� o−1 

� o1 �

 �� ���
�� �� ����
 #�&(� )� ������� ���� *�����
�� #�&%

�	
� 〈oν , π, (ν, 0)〉 �� 

 ����
�
���
 ��� ����� ν ∈ {−1, 1}� �

����
 #�&' "�
�

���� �	
� θ̄(π| imU ) �� ���
�� 

� �� �� �
� ������
�� �	� �������
"

���
���
��� #�+%� ��� ����� π ∈ SK2 �� ���

 ���� θ̄(π) = θ̄(π| imU )�

����	� ��� ν ∈ {−1, 1} 

� (N1, N2) �� 

 
�����
�� ����
"�� 
��������� ����
���

�
�� ��� (π, {(ν, 0)})� !	�
 (N1 ∩ U,N2 ∩ U) �� 
 ����
"�� 
��������� ����
��� �
�� ���

(π| imU , {(ν, 0)})
,� ����
 #�&'� �	��� �� 

 s ∈ R+ 

� 
 λ ∈ [0, 1] ���	 �	
� oλν (S

m−1) ⊂ N−s
2 ∩U ⊂ N−s

2 �

�	��� m = n ��� ν = 1 

� m = n+ 1 ��� ν = −1� !	��������

Dm/Sm−1
oλν ��

oλν

���������������
(N1 ∩ U)/(N−s

2 ∩ U)

⊂
��

N1/N
−s
2

�� ������
���� �
 T OP 

� �	�� 
���

Dm/Sm−1
oν ��

oν

���������������
(N1 ∩ U)/(N2 ∩ U)

⊂
��

N1/N2

�
 HT �

-��� ��� (N1, N2, N3) �� 
 ����
"�� 
��������� ����
��� ������ ���

(π, [−1, 1] × {0}, {(1, 0)}, {(−1, 0)})� )� ������� �	
� Hq(i) 

� Hq(l) ����
�� �
 �#�$%  


�� �������	���� ��
�� oν �� 

 �������	��� �� .���������
 #�&/ ������������ ����
 #�&'�

!	�������� �	� ������
������ �� �#�$% ������� �	
� θ̄(π| imU ) = θ̄(π) 
� ��
����� �

!	� ���
����


sgnΨ−1,Ψ1
U := sgn detΨ−1

1 U(1)U(−1)−1Ψ−1



�� �� ����	
�
��	 �� 
��
��
�����

����� U � ����� 	� 
���� �
� ������� �� �� ��������� ��
 ���������� 
�����
��� A ∈ L(E,F )

�� imA ⊂ F � �
� 
�������� �� sgnU ����� ����� �������

• imΨ−1 = E−(−1) = imU(−1) ��


• imΨ1 = E−(1) = imU(1)�

�������������� ��� ��� ���
 �
� �������� �� �
� ����� �������� �� ���� ��������� �� �
�� �����

sgnΨ−1,Ψ1
U �� ���� 
����
 ��
 ������ ���
 �
� ���� 
���������

!����� �
�� �
� 
�������� �� θ �������� � �
���� �� ���������� μ = (μq)q∈Z� "����
�� �
�

��������� ������

ẋ = 1− x2

ẏ = y

�� ��
����� 
�#�������� ��������� �� ]−2, 2[ × Rn� �
�� 
���� � ����$�� χn� �
��
 ��

��������� � ������ ���� ���
��� ����$��� �
�� ��� χn ∈ SK2([−2, 2],Rn)� %�� Uχn

�����

�
� ������
�� U �
��
 �� 
����
 ���
 ������� �� χn &�� ����� Uχn
= [−2, 2]×Rn'�

���������� (�)*� %�� μ̃0 : Z → H0(S0) �� ���������� ��
 ��� μ = (μq)q∈Z �� ���
 �
��

μ0 = μ̃0

��
 ��� ��� n ∈ N

θ̄(χn, μ, idRn , idRn) = sgnidRn ,idRn Uχn .

�� �� ����� �
�� μ �� ���� 
����
� ��
 �
� ��������� ����������� �
��� �
�� �
� 
��������

����� ������

	
��������� (�)+� ��� ����� π ∈ SK2� ��� ����� Ψ−1 ∈ ISO(Rn, E−(−1))� 	
� ��� �����

Ψ1 ∈ ISO(Rn, E−(1))� �
 ����� 
�	


θ̄(π, (μq)q∈Z,Ψ−1,Ψ1) = sgnΨ−1,Ψ1
Uπ 	= 0.

	
���� !����� �
�� �� ,���������� -�+.� �
��� �� �� �������
��� �� ���
��� V := VπU

���
 �
�� χ̃ := V −1[πU ] ∼ χn�

�� ������ ��� o1 ��
 o−1 �� ����� �� %���� (�+/� �
�� ��� ���
� ��� �� ����������� ���

(−1, 0) ������������ (1, 0)� 0�������� ô−1 := (−1, 0) + idRn �� � ���
 ��� (χ̃, (−1, 0)) ��


ô1 := (1, 0) + idRn �� � ���
 ��� (χ̃, (1, 0))�

%�� α �� 
����
 ��

Sn+1
〈o−1〉 �� C(π| imU , {(−1, 0)})

Sn+1
〈ô−1〉 ��

α

��

C(χ̃, {(−1, 0)})

〈U◦V 〉

��

��
 β ��

Sn
〈o1〉 �� C(π| imU , {(1, 0)})

Sn
〈ô1〉 ��

β

��

C(χ̃, {(1, 0)}).

〈U◦V 〉

��



�� ������ 	
�� ��
���� 	�����
�	 ��

�� ������� ���	 
���������
 ���� �
� ��������� ���� ����

α = sgn det

(
1 0

0 Ψ−1
−1 ◦ U(−1) ◦ V (−1)

)

= sgn detΨ−1
−1 ◦ U(−1) ◦ V (−1)

�
�

β = sgn detΨ−1
1 ◦ U(1) ◦ V (1).

��
�� sgn detV (1) ◦ V (−1) = sgn detV (1) ◦ V (1) ��� ��	������ V �� � ��
��
���� ��	��� ��

���	������	��� �� ������� ����

β ◦ α−1 = sgnΨ−1,Ψ1
U,

����� �� ��
��� ��� 	����
 � �� ����� 	����
 �� ����

�
 ��
 ���� ��	��� �� ��� ��������!� ���������"�������� ��#��
��� ��$
� � ��		�����!� ���"

 ��	%

Hq+1〈π| imU , {(−1, 0)}〉
∂q+1 �� Hq〈π| imU , {(1, 0)}〉

Hq+1〈χ̃, {(−1, 0)}〉
∂̃q+1 ��

Hq+1〈U◦V 〉

��

Hq〈χ̃, {(1, 0)}〉

Hq〈U◦V 〉

��

�� ������� ���	 
���������
 ���& �
� ��� ������ �� μ ���� ���� θ̄(χ̃, μ, idRn , idRn) = θ̄(χn, μ, idRn , idRn) =

1�

'� �����
 � ��		�����!� ��� ��	

Hn+1(Sn+1)
θ̄(π| imU )

�� Hn(Sn)

Hn+1(Sn+1)
1 ��

·α

��

Hn(Sn),

·β

��

�����
 ����

θ̄(π| imU ) = αβ = sgnΨ−1,Ψ1
U.

�

���� �������	
 ��	�����	��� (�� Ψ−1 ∈ ISO(Rn, E−
−1) �
� Ψ1 ∈ L ∈ ISO(Rn, E−

1 )

�� ��������� ��� $)�� �� �
 ��� ���!���� ������
� '� ���� ��$
� �  ��	����� ����
�����


��� �!��� π ∈ SK2 �
� ���
 ���� ���� ����  ��	����� ����
�����
 �� ����"��$
�� ��� �!���

π ∈ SK0 �
� ���
����� ���� ��� ���
��� �
��)� ����
�����
 �� ��� ���!���� ������
�

���������� ��**� +�� �!��� π = (ξ,Φ) ∈ SK−1� ��� sgnπ ∈ {−1, 1} ��
��� ��� �
�#��


�	��� ��� �����

sgnπ := sgn(π,Ψ−1,Ψ1) := lim
(x,xξt)→(−1+,1−)

sgn detΨ−1
1 PΦ(x, t)Ψ−1,

����� P = P−
1 (0) ��
���� ��� �
�#�� ���,�����
 P : X → E−(1) ���� kerP = E+(1)�

-��� ���� ��� �!��� t ∈ R+� ��� ������ E−(1) �
� E+,α(1) ������ E−(−1) �
� E+,α(1)� ���

Φ(1, t)"�
!����
� ������ Φ(−1, t)"�
!����
�� ����������



�� �� �����	
	��� �� 	�
��
	�����

����� ����� ��� π = π(A,F ) ∈ SK1 ��� δ > 0 ��	
 �
��

F (x) = F (−1) x ∈ [−1,−1 + δ]

F (x) = F (1) x ∈ [1− δ, 1].

�
��

sgnπ = sgn detΨ−1
1 PΦ(−1 + δ, t0)Ψ−1 	= 0,

�
�
� (−1 + δ)ξt0 = 1− δ�

�� ��
��	���
� sgnπ �� ����������� ��
 ���
� π ∈ SK1�

����	� ��� x ∈ ]−1, 1[ �	
 t ∈ R+ ��
� ���� x ∈ ]−1,−1 + δ] �	
 xξt ≥ 1− δ� ���	

����� ��� t−1, t1 ∈ R+ ��
� ���� xξt1 = −1 + δ� �	
 (1− δ)ξt1 = xξt� �� ����

PΦ(x, t) = PΦ(1− δ, t1) Φ(−1 + δ, t0) Φ(x, t−1)

= PΦ(1− δ, t1) PΦ(−1 + δ, t0) Φ(x, t−1).

PΦ(1− δ, t1)Φ(−1 + δ, t0)Φ((−1 + δ)ξ(−λt−1), λt−1)Ψ−1 �� �	 ���������� ��� ��� λ ∈ [0, 1]�

���������� ����� ����
 �� � 0 	= ỹ ∈ E−(−1)� �	 x̃ ∈ ]−1,−1 + δ]� �	
 � t̃ ∈ R+ ����

x̃ξt̃ ≥ 1 − δ �	
 Φ(x̃, t̃)ỹ ∈ E+(1)� ���� ������� ���� ����� ������ � ���� ���	
�
 �������	

������� (x̃, ỹ)� ���
� 
�	���
�
�� ��� ��������	 �� [−1, 1] × {0} �������� �� π ���� �����

 �!"#�

�� ���� ����	 ����

sgn detΨ−1
1 PΦ(x, t)Ψ−1 = sgn detPΦ(1− δ, t1)P PΦ(−1 + δ, t0)Ψ−1.

$ ������� ������	� ������� �� PΦ(1 − δ, s)P � %� �� �	 ����������� ��� ��� s ∈ [0, t1] �	


��������
 �� ��� �
�	���& �	 E−(1)� �����	� ����

sgn detΨ−1
1 PΦ(x, t)Ψ−1 = sgn detΨ−1

1 PΦ(−1 + δ, t0)Ψ1.

�

��� �������	� ����������	 ������ �	 '���������	 ���(�

���
���
��� ���)� ��� π ∈ SK1� �
�� sgnπ = θ̄(π) 	= 0�

����	� *�
��� ���� ��� ����& π ∈ SK1 ����� �� � δ = δ(π) > 0 ��
� ����

F (x) = F (−1) x ∈ [−1,−1 + δ]

F (x) = F (1) x ∈ [1− δ, 1],

�	
 �� ���� U(x) = E−(−1) ��� ��� x ∈ [−2,−1 + δ]�

%	������&� ������� ���� π ∈ SK2� ��� x ∈ ]−1,−1 + δ[� t ∈ R+� �	
 πU = (ξ,ΦU )� �� ����

Φ(x, t)y = U(xξt)ΦU (x, t)U(x)−1y ���!!#

��� ��� y ∈ E−(−1)�



�� ������ 	
�� ��
���� 	�����
�	 ��

��������� �� �	�� sgn detΦU (x0, t0) = 1 
��
� ΦU (x, t) ∈ ISO(E−(−1), E−(−1)) ��� 	��

(x, t) ∈ D(ΦU )� �� ������
 ���� ������ ��	�

sgn detΨ−1
1 PΦ(x, t)Ψ−1 = sgn detΨ−1

1 PU(xξt)U(x)−1Ψ−1. ������

�	���� ������ �� ��� ����� (x, xξt) → (−1, 1)� �� ���	��

sgnπ = sgnU,

������� �� 
�����
���� ����  ����
����� ��!� ��	�

sgnπ = sgnU = θ̄(π).

"���	 #��� 
�	��
 ��	� ��� ����$ π0 ∈ SK1 ����� �
 	 π1 ∈ SK2 ���� π0 ∼ π1� �� ������


����%�	���$ ���� ��� %�&������	� �'�	���� ����� ����� ��	� sgnπ0 = sgnπ1� ���������

 ����
����� ���( ������
 ��	� θ̄(π0) = θ̄(π1)� ���
 �����
 ��� 
�	�� ��� ����$ π ∈ SK1� �

����� ��!#� ��� Ψν,k� ν ∈ {−1, 1}� �� � ���	�
�� �
 ������������� �
 L(Rn, X1) ����

Ψν,k → Ψν,∞ ∈ ISO(Rn, E−(ν)) �� k → ∞�

���
 
�� ����� π = (ξ,Φ) ∈ SK0 �
� ���

lim
(x,xξt,k)→(−1+,1,∞)

sgn det(PΨ1,k)
−1PΦ(x, t)Ψ−1,k = θ̄(π,Ψ−1,∞,Ψ1,∞) 	= 0. ����!�

����	� �� �
 
��	� ��	� Hk := Ψ−1,kΨ
−1
−1,∞P−

−1(0) + P+
−1(0) → idXα �� L(Xα, Xα) 	


k → ∞� 
� ��� �	��� k� Hk �
 	 �������	� �
�������
� ���
� �	��
 E−(−1) = imΨ−1,∞ ��

imΨ−1,k�

"�� xk → −1 �� [−1, 1]� tk ∈ R+ ���� xkξtk → 1� π0 = π(A,F ) ∈ SK0� 	�% πk := π(A,Fk)

����

Fk(x) :=

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
HkF (−1)H−1

k −2 + xk ≤ x < xk

F (1) xkξtk ≤ x < 2− (xkξtk)

F (x) �������
��

)� �	�� Fk → F 	
 k → ∞ �� L∞([−2, 2],L(Xα, X))� ��������� ����� �
 	 
������$

	%��

���� �
��	���� �����������% ��� [−1, 1] × {0} ���	���� �� π� 
� �� 
	� 
���
� k0 ∈ N


�
� ��	� [−1, 1]×{0} �
 	� �
��	��% ���	��	�� 
�� ���	���� �� πk ��� 	�� k ≥ k0� *��
�'�����$�

��� �	
 πk ∈ SK1 ��� 	�� k0 ≤ k < ∞� ��������� �� 
	� 	

��� �������� ��	� PΨ1,k �
 	�

�
�������
� ��� k ≥ k0�

�� (u(t), v(t))� t ∈ [0, T ]� �
 	 
������� �� π0 ���� xk ≤ u(t) ≤ xkξtk ��� 	�� t ∈ [0, T ]� ���� ��

�
 	�
� 	 
������� �� πk� +��
�� �� ������
 ���� "���	 ��!, 	�%  ����
����� ��!- ��	� ��� 	��

k0 ≤ k < ∞
sgn det(PΨ1,k)

−1PΦ(xk, tk)Ψ−1,k = θ̄(πk,Ψ−1,k, PΨ1,k).

.
 
���� �� ��� ����� ��  ����
����� ���(� ����$ π̃ ∈ SK1 �
 
������$ ����	��/	��� �� ���


��
� �� 0�1������ ��� �� �	
� �� ��
 �'�������	� ���
� �� ������
 ���� *�����	�$ ���2 	�%

 ����
����� ���� ��	� ����� �
 	 k1 ≥ k0 
�
� ��	�

θ̄(πk,Ψ−1,k, PΨ1,k) = θ̄(πk,Ψ−1,∞,Ψ1,∞)

��� 	�� k2 ≤ k < ∞�

3��	��$� �� ���� �� "���	 ����� ����� �
 	 k2 ≥ k1 
�
� ��	�

θ̄(πk,Ψ−1,∞,Ψ1,∞) = θ̄(π,Ψ−1,∞,Ψ1,∞)



�� �� �����	
	��� �� 	�
��
	�����

��� ��� k3 ≤ k ≤ ∞� �

�� 	

��	�
� ����������� �� ��

� ���� 	�

��������� ����� sgnπ �� ��������	�� 
�� �
��� π ∈ SK0 �	� �� ��
� θ̄(π) = sgn(π)�

��������� ����� ��� π = (ξ,Φ) ∈ SK−1([a, b], α,X,A)� ���	 sgnπ �� ��������	�� �	� ��

��
� sgnπ = θ̄(π)�

�����
��� ����� ���� ����� 
�� �
��� π ∈ SK−1�

����	� ������	�� 
� ����	
	�� ���� 
���� 	� � ��
	��� π̃ = (ξ̃,Φ) ∈ SK0 ���� 
��


(h(u(t)), v(t)) 	� � ����
	�� �� π̃ �������� (u(t), v(t)) 	� � ����
	�� �� π�

��	� ����� 	

��	�
�� 
��
 sgnπ 	� ����!������ ��� sgnπ = sgn π̃� "
 	� ���� ����� 
��


Dn+1/Sn
o1 ��

id

��

Ñ1/Ñ2

h×id

��
Dn+1/Sn

o1 �� M̃1/M̃2

	� ��

�
�
	�� �������� (Ñ1, Ñ2) 	� � �
����� π!��
	��	#�� $%!	���& '�	� ��� (π, {(1, 0)})
��� (M̃1, M̃2) = (h× id)(Ñ1, Ñ2)�

(	��� h 	� ��������	� �
�	�
� 
���
��� 	������	���

gλ(x) := λ(h× id) ◦ o−1(x) + (1− λ)o−1(x)

��
	���� gλ(x) 	= (−1, 0) ��� ��� x ∈ Dn \{0}� )	��� �� ��#	
��� λ ∈ [0, 1]� 	
 	� � �
��	��
���!

���� �&
���	�� �� ��

� ��*+ 
��
 gλ 	� � ���� ��� (π, {(−1, 0)}) ��� (π̃, {(−1, 0)})� ,�����
# ��

� ��--�

Dn+1/Sn
o−1 ��

id

��

gλ

��										
N1/N2

h×id

��
Dn+1/Sn

o−1 �� M1/M2

��

�
�� 	� HT ��� ��� λ ∈ [0, 1]� ����� (N1, N2) 	� � �
����� ��
	��	#�� $%!	���& '�	�

��� (π, {(−1, 0)}) ��� (M1,M2) = (h× id)(N1, N2)�

���������� �� ���� θ̄(π) = θ̄(π̃)� ��� ���
 ���� �	�� �� .��-�/ 	� ���0��
�� # h� ����	��


��
 
�� ���
��� �
	�� ������ �

�� ��������	
	� �����	�
�

1����� 
�� ����
'
	��� �� 
�� #��	��	�� �� 
�� 
�� '���	��� ���
	��� "� '��
	����� ��
 u :

R → Xα #� � ����
	�� �	
� u(t) → e± �� t → ±∞� "
 ������� ���
 ������
 ��* 
��


‖u(t)− e+‖−1
α (u(t) − e+) → η ∈ X1 �� t → ∞� η 	� �� �	������
�� �� A − Df(e+) ��	��

#������ 
� �� �	�������� λ > 0�

��
 E ⊂ X #� �� A!	����	��
 ��� A−Df(e+) 	����	��
 ��#�'���� �	
� X = E ⊕ {η}� 2 
E = E1 ⊕E2� �� 
��� 
��
 E1 ��� E2 ��� ������ �	���� ��#�'���� �� E �	
� E1 ∩E2 = {0}
��� E = E1 +E2� ��� �����	��� '��3��
	�� P : E1 ⊕E2 → E1 	� �	��� # P (e1 ⊕ e2) := e1�

����� ��� ��	�
� �� �����
�� �
 �������� A ������������
�



�� �������	
�
� ��	
�
��� ��

��� �� ��� ����	
���
��� �� A−Df(e+)� ���	� �� � ��
���������� E = E−(−1)⊕ E+(−1)�

���	� E−(−1) �	���� E+(−1)∩X1� �� � A−Df(e+) ����	���� ��
���
� ��� ��� 	���	�
����

Ã− �� A−Df(e+) �� E−(−1) �	���� Ã+ �� A−Df(e+) �� E+(−1)� �������� Reσ(Ã−) < 0

�	���� Reσ(Ã+) > 0��

�� ������� �	�� ����	�� ��� �	����
������ �	�������� ���� ���
� �� 
���� ���� ���� ���� 

	��� ���� ���	� �!���� � ��"����	����� G : Xα → ]−2, 2[ × Eα� ���
� �� ������ �� �

���#�
�	���� �� u := cl{u(t) : t ∈ R} ��� ��������

��� G(e+) = (1, 0)� G(e−) = (−1, 0)$

�%� G(u(t)) ∈ ]−1, 1[× {0} ��	 ��� t ∈ R$

�&� DG(x)y = (0, y) ��	 ��� y ∈ E ��� ��	 ��� x �� � ���#�
�	���� �� e+�

'��� ���� Eα = E ∩Xα 
�		������� �� Xα �� ��� �	������ ��
�����

(�� ��� ������ �� ����)��� (πλ)λ∈[0,1] 
� #���� 
� ��������� *��� ��
� ���� G ◦ u �� �

�������� �� π1� �� ������� �	�� ����	�� *��% ���� (πλ, G ◦ u)λ∈[0,1] �� S 
���������� ���� ��

��	��
���	� ���� π0 ∈ SK−1�

+������� �� ������� �	�� ����	�� ,�- ���� ��� �������� ����! �� (π0, G ◦ u) �� 
����� ��
���

�� ��� .�	� ��
����� ���� ��� R × {0}� �� 0̄� /�����	� �� ���� ��� ��0� ��	�
� ��� �� ����

����	��� ���
� �� � ��	���� 
�	����	� �� ����	�� 1��% �� ��� ����� ���� �	��������� ,�%*

��� 2�	����	� ,�%, 
�� 
� 	����
�� 
� ��� �	#������ 
���� �� ��	 �� ��� ���#���	 ������#�

����� 
��3
����� �� Z� �� ��� �������� ����! �� 
��
�	����

���������� 1�&4� (�� {x1, . . . , xn+1} 
� � 
���� ��	 E−
X(e−) 
��������# �� ��#����
��	� ��

A − Df(e−)� ��� {y1, . . . , yn} 
� � 
���� ��	 E−
X(e+)� ��� ��� Ψ−1 := (x1, . . . , xn+1) ���

Ψ1 := (y1, . . . , yn) ������ 
�		��������# ���	�
��� ���
� �� ����	����� �� �����	������

Rn+1 → E−
X(e−) �	���� Rn → E−

X(e+)��

(�� P (t) ������ ��� 
�����
�� �	�5�
����

P (t) : E−(−1)⊕ span{u̇(t)} ⊕ E+(−1) → E−(−1).

P (t) �� ���� ������ ��	 ��	#� t ∈ R�

�����

ν(u) := ν(u,Ψ−1) := (−1)i+1 sgn ν̃,

Ψ̂ = (x1, . . . , xi−1, xi+1, . . . , xn+1) ,

���

sgnu := ν(u) · lim
(t,t+Δ)→(−∞,∞)

sgn detΨ−1
1 P (t+Δ)DΠΔ(u(t))Ψ̂

���	� u(−t)‖u(−t)‖−1
α → ν̃xi‖xi‖−1

α �� t → ∞ ��� Πtx := xπt�

�� �� 
���	 ���� sgnu ������� �� ��� �����	������ Ψ−1 ��� Ψ1� ���� ��� sgnu = sgn(u,Ψ−1,Ψ1)�

u = cl{u(t) : t ∈ R} �� �� �������� ����	���� ���� ��� (u, {e+}, {e−}) �� �� ���	�
��	 	������	

��
���������� �{e+} ������� ��� ���	�
��	�� ���	� �� � ���# �!�
� ��6���
� �� ���#���	

������#� ����
����� ���� ��� ���	�
��	 	������	 ��
����������� (�� (∂q)q∈Z ������ ���

������ �� 
����
���# ������	������ �� ���� ��6���
�� ���� ��� ∂q+1 : Hq+1〈π, {e−1}〉 →
Hq〈π, {e1}〉 ��	 ��� q ∈ Z�

���������� 1��7� (�� θ 
� #���� 
� ��������� 1�%%� μ 
� ��������� 1�&�� ��� ���

θ̂(π, u) := θ̂(π, u,Ψ−1,Ψ1) := θ(Hn〈ô1〉 ◦ ∂n+1 ◦Hn+1〈ô−1〉, μ, n+ 1, 1),



�� �� �����	
	��� �� 	�
��
	�����

����� �� ���

ô−1(y) := e− +Ψ−1(y) y ∈ Rn+1

��	

ô+1(y) := e+ +Ψ+1(y) y ∈ Rn.


� ��

��� ���� ����������� ��� ���� π �� ������
� 
���������
� �� e+ ��	 e−� �� �����������

���� ���
��� ���� ôi� i ∈ {−1, 1}� ��	���� �� ������������ ����� θ̂ �� 	����	�  �� p1 :

R × E → R !����� p2 : R × E → E"� p1(x, y) := x !����� p2(x, y) := y"� 	����� ���

���#������ ���� ��� ���� !����� �����	" ����������

����������� ��$�	 θ̂(π, u,Ψ−1,Ψ1) = ν(u,Ψ−1) · θ̄(π0, Ψ̃−1, Ψ̃1)� ����� �� ���

Ψ̃−1 := p2 ◦DG(e−) ◦ Ψ̂

�	


Ψ̃1 := p2 ◦DG(e+) ◦Ψ1. !���$"

%��� ���� ��� ����������� �� ��� ��������� �� ���� ������� ���
� ���� (0, Ψ̃1y) = (DG(e+)◦
Ψ1)y ��� �

 y ∈ Rn�

����
	 &����

o−1(x, y) := (−1 + x, Ψ̃1(y)) (x, y) ∈ R×Rn

o1(y) := (1, Ψ̃1(y)) y ∈ Rn

�� ��  ���� ���' ��	 �����	�� ��� ��

����� ���������(� 	������

Hn+1〈π, {e−1}〉
∂n+1 ��

Hn+1〈B−1〉
��

Hn+1〈G〉





Hn〈π, {e1}〉

Hn〈B1〉
��

Hn〈G〉

��

Hn+1〈B−1[π], {(−1, 0)}〉

Hn〈id〉
��

Hn〈B1[π], {(1, 0)}〉

Hn〈id〉
��

Hn+1〈B−1[π], {(−1, 0)}〉

Hn+1〈GB−1
−1〉

��

Hn〈B1[π], {(1, 0)}〉

Hn〈GB−1
1 〉

��
Hn+1〈π1, {(−1, 0)}〉

δn+1 �� Hn〈π1, {(1, 0)}〉,

����� �� ���

B−1(e
− + x) := (−1, 0) +DG(e−)x

B1(e
+ + x) := (1, 0) +DG(e+)x.

δq : Hq〈π1, {(−1, 0)}〉 → Hq−1〈π1, {(1, 0)}〉 �� ��� ���������� ������������ ���������	

���� (π1, [−1, 1]× {0}, {(1, 0)}, {(−1, 0)})�



�� �������	
�
� ��	
�
��� ��

�������� �	�
�������
� �
 ������ ��	 i ∈ {−1, 1}

Z
Hm〈ôi〉◦μm ��

·1
��

Hm〈π, {ei}〉

Hm〈B1〉
��

Hm〈G〉

��

Z
Hm〈Bi◦ôi〉◦μm ��

·αi

��

Hm〈Bi[π], {(i, 0)}〉

Hm〈id〉
��

Z
Hm〈oi〉◦μm ��

·βi

��

Hm〈Bi[π], {(i, 0)}〉

Hm〈GB−1
1 〉

��
Z

Hm〈oi〉◦μm �� Hm〈π1, {(i, 0)}〉,

��
	
 �
 

�

m :=

⎧⎨
⎩n+ 1 i = −1

n i = 1.

�� ������
 �	�� �	���
����� ���� ���� β−1 = β1 = 1� �
 ���
 ���
 �	
�����
 �� ��




�	�
�������
�

θ̂(π, u, ô−1, ô1) = α1α−1θ̃(δn+1),

��
	
 �
 

� θ̃(δ) := θ(Hn〈o1〉−1 ◦ δ ◦Hn+1〈o−1〉, ν, n+ 1, 1)�

��
 ��
 α1 = 1 �
 ��

 B1 ◦ ô1 = o1� !� �	���
����� ���" �
 ��	��
	 ���


α−1 = sgn det
(
Ψ−1

1 ◦DG(e−1)
−1 ◦ (1, Ψ̃−1)

)
,

��
	
 (1, Ψ̃−1)(y1, y2) = (y1, Ψ̃−1y2)�

#�� 
 (u(t) − e+)‖u(t)− e+‖−1
α → ν̃xi‖xi‖−1

α �� Xα �
 t → −∞� ��
 ��
 DG(e−)(ν̃xi) =

(c, 0) ��	 
��
 0 < c ∈ R� 
� �	���
� �
 ���	� 

 �

Ψ−1
−1DG(e−)−1((1, 0), Ψ̃−1) ∼ (ν̃x̃i, x̃1, . . . , x̃i−1, x̃i+1, . . . x̃n+1).

$
	
� x̃k := Ψ−1xk %
���

 ��
 k&�� ����� �
 ��	 �� Rn+1� ��% ���
� C,D ∈ ISO(Rn+1,Rn+1)�

�
 �	��
 C ∼ D �' detC detD > 0� (��
 
���
 ���� α−1 = (−1)i+1ν̃ = ν(u)�

�� ������
 �	�� �	���
����� )�") ���� (πλ, [−1, 1])λ∈[0,1] �
 S& ��������
 ��% ��	 
�
	� λ ∈
[0, 1]� ([−1, 1], {1}, {−1}) �
 �� ���	� ��	&	
�
��
	 %
 ����
����� 	
�����
 �� πλ� *
�

δλn+1 : Hn+1〈πλ, {(−1, 0)}〉 → Hn〈πλ, {(1, 0)}〉 %
���
 ��
 �

� ���
%  ���
 ���� ������	&

���
� �� 
������	 ���������

�
 ���� 
��� ���� λ �→ θ̃(δλn+1) =: θ̃λ �
 �� ����  ��
����� ���
	��

� ��
	
 �
 � 

+�
� 


λk → λ0 �� [0, 1] 
� � ���� θk := θ̃(δλk) 	= θ̃(δλ0) =: θ0� �� ������
 �	�� ,�� (�
�	
� ��-.

���� ��	 ��� k ��	�
 
������ ��
	
 �	
 
�	����� �%��

���
 /0&��%
1 �	���

 (N1,k, N2,k, N3,k)

��% (Ñ1,k, Ñ2,k, Ñ3,k) ��	 πk := πλk
� k ∈ N ∪ {0} 
� � ���� ��
 ��������� %���	�� ���
 	��


�(y1, . . . , yn)(x1, . . . , xn) := x1 · y1 + · · ·+ xn · yn ��� (x1, . . . , xn) ∈ Rn



�� �� �����	
	��� �� 	�
��
	�����

�� ����� ��	 � 
��� �� ��	 �	�
	���
	 ���� 	���� ��������� �	
	��	� �	��	��	 �� ���������

Hq+1[N1,k/N2,k]
δkq+1 ��

⊂
��

Hq[N2,k/N3,k]

⊂
��

Hq+1[Ñ1,0/Ñ2,0]
δ0q+1 �� Hq[Ñ2,0/Ñ3,0]

�� �	��	�� ���������
	� ��� ��� 
	������ ������ �	���	 ������
�������

���� ���
������� ���� ��
��	� ���� θk = θ0 ��� ��� k ∈ N �� ��	���� ����	� � ��������������

��� �� θ̄(π0, Ψ̃−1, Ψ̃1) = θ0 = θ1 = θ̃(δn+1)� �

������� ��!"� sgnu := sgn(u,Ψ−1,Ψ1) �� ��������	�� 
	�

∂q+1 ◦Hq+1〈ô−1〉 ◦ μq+1 =

⎧⎨
⎩sgnu ·Hq〈ô1〉 ◦ μq q = n

0 ��
������.

���	 ���� ��	 �		�� ô±1 ��� ��	 ���� �� u �	
	�� �� Ψ±1�

����	� #	� v(t) := p1 ◦ u(t)� #	��� $��% �	���	� ��	 �	������
� Πt �� ��	 ���	�� �&	�


������ �	��'�� π0 = (ξ,Φ)� ���	��

p2DΠ̃Δ(v(t)) = Φ(v(t),Δ)p2,

��	�	 �	 �	�

Π̃tx := G(xξt)ΠtG(x)−1 = xπ1t.

(� w : [0, T ] → Eα �� � �������� �� Φ(v(t), .)� ���� ��� w(t) = Φ(v(t), t)w(0)� ��	� w �� � ����

�������� ��

ẏ +Ay = F (t)y

���� F (t)y = p2D(DG(u(t)) ◦ f ◦ G−1(v(t)))(0, y)� )�� ����	 t ∈ R� ��	 ��� F (t)y =

Df(u(t))y�

*	���� ���� +	������� ���� �	��	� �� � �
	���� 
��,	����� P � (� 
�	� �� ��	 
�	
���� �	���&��

�� �� ��	�� ���� P �� ��	 ��������� 
��,	����� P : E−(−1)⊕ E+(−1) → E−(−1)�

#	� P (t) -	 ��
	� -� +	������� ���.� /���������� �� R× E� �	 �-����

P̃ (t) := DG(u(t))P (t)DG(u(t))−1.

0	 ��
	

P (t)DG(u(t))−1(x, y) = P (t)x̃u̇(t) + Py

��� ���	 x̃ ∈ R� �� �	 ��� ���
 ��	 �������� �� t ���� ��� P̃ := P̃ (t)� ��	�	 t �� ����	 1�� ����

P (t) �� �	��	�� -��� �
��� ���� ����� ��-�������

���� �������	
� 	���
�	�� 	��
��� �����	�� 	� ��� �������� �������� �� ��	���� ������ 	� � ��������

��
	
������ ��� ��������� 	��
��� �� 	�������	�� 	� �	��
��� ���������
�Πtx := xπt



�� �������	
�
� ��	
�
��� ��

�������

Ψ̃1,t := DG(u(t))Ψ1

Ψ̃1 := DG(e+)Ψ1

Ψ̃−1,t := DG(u(t))Ψ̂

Ψ̃−1 := DG(e−)Ψ̂

�� �	
���
 �
�� Ψ̃1,t = Ψ̃1 ��
 
�� t ∈ R ���� |t| �	�������� �

��� 
�� Ψ̃−1,t → Ψ̃−1 
�

t → −∞�

�� ������� �
�� ��
���

� ���� ��
�

sgn det(p2Ψ̃1)
−1PΦ(v(t),Δ)p2Ψ̃−1,t → θ̄(π0, Ψ̃−1, Ψ̃1) 	= 0 ���� !


� (t, t+Δ) → (−∞,∞)�

"�
 �#�� $


����
� t 
�� Δ� ��� �
�

PΦ(v(t),Δ)p2 = P̃ DΠ̃Δ(v(t)),

�� �� ������� �
�� ���� ! ��
�

sgn det Ψ̃−1
1 P̃ DΠ̃Δ(v(t))Ψ̃−1,t → θ̄(π0, Ψ̃−1, Ψ̃1) 	= 0.

%� �
��

Ψ̃−1
1 P̃ DΠ̃Δ(v(t))Ψ̃−1,t = Ψ−1

1 P (t)DΠΔ(v(t))Ψ̂,

������� ��
� sgn(u,Ψ−1,Ψ1) �� ������� &���� '
�$������� ��(��

sgn(u,Ψ−1,Ψ1) = θ̂(π, u,Ψ−1,Ψ1).

)�������� ��� ��������� �� θ̂ ������ ��� ��
�� �� ���� ����
��� �





������� �

����� ������	


�	
� �	
���� �������� �����
� ���	�
�
� �	������ �	
�	 
���� ��� �	� ����
�
�� �� �����

��������� �� 
���
��� 
��
�

�� �����

�� ���� �� ��		
���	
 �������������

�� �	� ����
��� �	
����� �� 	
�� �������� 	������! 
�� 	�����"! �� �	� �����! 
����


���" ����

� 	�������
�
� �����
��� �� ���
�
��
� �
�
#��
� �$�
�
���� �� ��� ����
���� 
��

�����
��� �������
�" 
 "
��� ������ �� �$�
�
#�

 �	�
� �������
�" 	�������	
�� 
� �	� ���

�� �	� 	�������	
��� 
����

��� �
�	 �
�	 �
�"�� 
���
��� �������
�" ��#
��

%	
� �� 	
�� �����
#�� 
� �	� �
������ ����
#�� 
���
�
�
�� �� ������
�
�� ��&� �� 	
�

#��� �	��� #! ������ '�� �	����� (�)* 
� �	� ������� �� +��� �� ���
��! ����
�� ����
�

��
����

�	���"	��� �	
� ����
�� ��� π #� 
 ���
+�� �� 
 ����
� ��
�� (X, d) 
�� ��� i ∈ {1, 2} Ki


� 
���
��� 
��
�

�� ��� 
��
��
�" 
 �����"�! π,
��
��
#�� 
���
�
�" ��
"	#��	���� -���	��

��� (A,A∗) #� 
� 
���
����,�������� ��������
�
�� ��� #��	 
��
�

�� ����. K1 
�� K2 
��

������� �	
� �	��� 
� 
 ��
"	#��	��� I �� A∗ �
�	 K1 ∩K2 ∩ I = A∗�

��� 
��
��� 
�� 
���
�
�" ��
"	#��	���� 
�� �� #� ���������� ���
�
�� �� �	� ���
+�� π 

�	
�	 
� ��� ����
���� ����
�
��!�

%� ����
��� �
�"��
� 	�����"! �
�	 ���/�
���� 
� 
� 
#��

� "���� G 
�� ������ �	�

	�����"! ������� #! Hq q ∈ Z�

���������� ��0� 1�� U ⊂ X 
�� f : U → R #� ����
������ %� �
! �	
� f 
� ���
��! ���
���!

�������� 
����
�
�" 
���" π 
� α 
� �	��� 
� 
 ��
"	#��	��� V �� α 
� R ���	 �	
� f ◦ σ 
�

���
���! ������� 
����
�
�" 
���" ����! �����
�� σ �� π �
�	 imσ ⊂ U 
�� im f ◦ σ ⊂ V �

	�

� ��(� ��� B �� �� ��	
����� �
	�
� α ∈ R� ��� f : B → R ������
� �	�	�	�� ����������

�
	�� π �� α�

���� {f ≥ α} := {x ∈ B : f(x) ≥ α} ��� {f ≤ α} := {x ∈ B : f(x) ≤ α} ��� ��	
�����

�
	�
��

�
���� 1���
�" x ∈ ∂{f ≥ α} 2����� {f ≤ α}3 
� ������� �	
� x ∈ ∂B �� f(x) = α�

1�� δ1 ≥ 0 δ2 > 0 
�� σ : [−δ1, δ2] → X #� 
 �����
�� �� π �
�	 σ(0) ∈ ∂B� �	�� π


� ��
������
� �� ∂{f ≥ α} 2����� ∂{f ≤ α}3 �	
� 
� �	��� 
� 
 ��
"	#��	��� V �� 0 
�

[−δ1, δ2] ���	 �	
� σ(V ) ∩ ∂{f ≥ α} = {σ(0)}�

�� ����� �� �	�� �	
� {f ≥ α} 2����� {f ≤ α}3 
� 
� 
���
�
�" #���4 �� ���� �� ����� �	
�

�	� ������
�" �
��
�
�� �
���� �����. δ1 > 0 
�� σ([−δ1, δ2]) ⊂ {f ≥ α} 2����� {f ≤ α}3�

5������ �	
� �� 
�� "
��� ���	 
 �����
��� �	�� σ(0) ∈ intB �	
� 
� �� �
� 
�����

������"� �	
� σ([−δ1, δ2]) ⊂ intB� �	
� 
���
�� �	
� f(σ(0)) = α �� ��� s > 0 ��/�
����!

��



�� �� ����� 	���
���

������ f(σ(s)) > α ����	
 ��� s < 0 �
�������� ����� f(σ(s)) < α�� � �������������
 �����

�� ���� 
��� ��� ���� ���� f �� ������� �������� �������� ���������� ����� π �� α
 �

����� �
�� ��� N ⊂ X �� � ����	
�� π
���������� �������	
 	��
�������� ��� K�

���	 ����� ��� �	 �������	
 ����� B ��� (π,K)� α < β ∈ R+� �	� � ��	��	���� ��	����	

V : B → R+ ���� ����

��� π �� ������� 
�����	�
���� ���� ������� �� V �	 ����� ξ ∈ [a, b]�

��� V (x) < α ��� ��� x ∈ A∗� V (x) > β ��� ��� x ∈ A�

��� {α ≤ V ≤ β} = D1∪̇D2� ����� Ki ∩Dk = ∅ ���	���� {i, k} = {1, 2}� D1 �	� D2

��� 	�� ��		������

��� ������
����� �� B ��� V ��  ���� �
� �� ��	����� �� !��
�� �
�


A∗

A

D1 D2

B V
0

0

α

β
η

η

���	
� ���� "�����#�� ������
����� �� B ��� V



���� $����� ���� ����� �� � �����%������ I �� A∗ ���� K1 ∩ K2 ∩ I = A∗
  ��

Ñ ⊂ N %� �� ��������� %���& ��� A∗ ���� Ñ ⊂ I ��� K0 := K ∩ Inv−(Ñ)
 ����� �� ��

�	�� �����%������ L �� K \K0 �
�� ���� L ∩K0 = ∅ ��� ˜̃N := Ñ \ L �� ����� � ���������

�������%��� ��������� �����%������ ��� A∗


 �� g−, g+ : Ñ → R+ %� ��'��� �� �� ��� 	���� �� (��� ������� "
)
�*
 ����� �
�������

��� ������
�
�� ��� g−(x) = 0 ��� ��� x ∈ K ∩ ˜̃N ⊂ Inv−(Ñ)
 !�� η > 0 ����� ���
��� ��

���� Hη ⊂ int ˜̃N � �����

Hη := cl{x ∈ Ñ : g+(x) < η ��� g−(x) < η}.

����� �� � ������ (Bδ)δ∈[0,1] �� ��������� %���&� ��� K ���� supx∈Bδ
d(x,K) → 0 �� δ → 0


+� ����� ���� ����� �� � δ0 > 0 �
�� ����

g−(x) < η/2 ��� ��� δ ∈ ]0, δ0] x ∈ Bδ ∩Hη. ��
��

,��������� ����� �� � ��-
���� xn ∈ Hη ⊂ ˜̃N ���� d(xn,K) → 0 �� n → ∞ ��� g−(xn) ≥ η/2

��� ��� n ∈ N
 �������� ��� ��� g−(x) = 0 ��� ��� x ∈ K ∩ ˜̃N ⊂ Inv−(Ñ)




�� ���� �� ����	�
��� 
�������
���� ��

���������� ����	
�� δ0 	
��
����� 	����� �� ���� g
+(x) = η ��� ��� x ∈ (∂Hη) ∩Bδ0 � ��
��

�����	 
	 �� ����� ����
�
�
	 �����	
��	 Vδ : Bδ → R+ ��

Vδ(x) :=

⎧⎨
⎩g+(x) x ∈ Hη

η x ∈ Bδ \Hη, 0 < δ ≤ δ0.

π 
	 ������� ����
�����
�� �
�� ��	���� �� Vδ 
� ξ ��� ��� ξ ∈ ]0, η[ ��� ��� δ ∈ ]0, δ0]�

��� 0 < α < β < η ��� D := Dδ := {α ≤ Vδ ≤ β}� ����	
�� δ ∈ ]0, δ0] 	���� ���
��� 
�

������	 ���� D∩K1 ��� D∩K2 ������ �
� 
� ��� 	��� ��������� ��������� �� D�  �����
	��

����� ��
�� �� � 	�!
���� xn → x0 ∈ K1 ∩K2 ∩ I ⊂ A∗ �
�� Vδ(xn) = Vδ0(xn) ∈ [α, β] ���

��� n ∈ N� � �������
��
�� 	
��� Vδ0(x0) ∈ {0, η}� �

"
� 	��� β̃ ∈ ]α, β[ ��� ��� V �� �
��� �� ����� #�$� %� ��� 	�!
��� �� �
�� ���
��� 
	�

���� {V ≥ α} ��� {V ≥ β̃} ��� 	������� ���
		
��� "&�
���� ��
�	 '������ 
� ����� #�()�
&�������� �� {V ≥ α} �����

Ṽ (x) :=

⎧⎨
⎩V (x) x ∈ D1

β ������
	�.

%� ������	 ���� {Ṽ ≥ β̃} = D2 ∪ {V ≥ β̃} 
	 �� 
	����
�� ������ *������
	��� ��� ����
�	
���� D1 ∪ {V ≥ β̃} 
	 �� 
	����
�� ������

����� #�+� ��� B1 ⊂ B2 �� ����	��
� ����
� ���� ��	� B1 �� B2����������� �
�	��	
��

���
 B−
1 ⊂ B−

2 �

����	� "�� ����� x ∈ B−
1 � ����� 
	 �� ε > 0 	
�� ���� xπ ]0, ε[∩B1 = ∅� %� ������	 ����

��� ��	
�
�� 
����
���� ���� ����� 
	 �� s ∈ ]0, ε[ �
�� xπs 	∈ B2� 	���
�� ���� xπr ∈ B−
2

��� 	��� r ∈ [0, ε[� ,� ���� 	���� ���� ��� ����� ε > 0 ����� 
	 � t ∈ [0, ε[ �
�� xπt ∈ B−
2 �

��
�� 
	 ���	��� 	� x ∈ B−
2 � �

����� #�-� ��� B1 ⊂ B2 �� ����	��
� ����
� ���� ��	� B1 �� B2����������� �
�	��	
��

���
 (B2, B1 ∪B−
2 , B−

2 ) �� 	
 ����
��� ������ ���� Inv(B1 ∪B−
2 ) = InvB1�

����	� ,� ���� �� 	��� ���� (B1 ∪B−
2 , B−

2 ) 
	 �� "&�
���� ��
��

'.) ��� x ∈ B−
2 ��� t ≥ 0 	
�� ���� xπ[0, t] ⊂ B1∪B−

2 � %� ������	 ���� t = 0 	
��� �����


	 �� ε > 0 	
�� ���� xπ ]0, ε[∩B2 = ∅� ��
	 	���	 ���� B−
2 
	 B1 ∪B−

2 ���	
�
����


����
����

'() ��� x ∈ B1 ∪B−
2 ��� t ≥ 0 	
�� ���� xπ[0, t] 
	 ������ ��� xπt 	∈ B1 ∪B−

2 � /
���

B1 ∪ B−
2 
	 B2���	
�
���� 
����
���� ����� 
	 �� s ∈ [0, t] �
�� xπs 	∈ B2� B

−
2 
	 ��

��
� ���� ��� B2� 	���
�� ���� B
−
2 
	 ��	� �� ��
� ���� ��� B−

2 ∪B1�

'$) ,� ���� Inv(B1 ∪ B−
2 ) ⊂ InvB2� 	���
�� ���� Inv(B1 ∪ B−

2 ) = Inv(B1) 	
���

Inv(B2) ∩B−
2 = ∅�

�


�	���
��� #�0� ��� K �� �� 
	������ 
����
��� 	�� ���
��
�� � 	������� ���
		
��� 
	����
��

��
���������� H∗〈π,K〉 ������	 ��� ������ ���
�� (Hq〈π,K〉)q∈Z �� ��� q��� �������� ��

��� ������ 
����� ��
�� 
	 ������ 
� 1�� 2���
�
�� +�$3 '	�� ��	� ��� ���
��
�� �� �������

4)�



�� �� ����� 	���
���

�� ��� �����	
��� 
�� ������

�� �����
	� �		��
�
�� �

� (K,A,A∗) �	 � �����
	� ��

������ −1 
� 
�� ��
����� �� ������ ������	� 
��
 
	� ∂ : H∗(A∗) → H∗(A) �

� ∂ = (∂q)q∈Z�

����� ��� ���� q ∈ Z� ∂q : Hq(A
∗) → Hq−1(A) 
	 
�� q�
� ������

�� ���������
	� ������

�� 
�� �

���
����������� 	��������

����������� ���	 ��� ∂ : H∗〈π,A∗〉 → H∗〈π,A〉 ������ ��� �������	�
 �������
�	�� ���

(K,A,A∗) ��� ��� i ∈ {1, 2} ��� ∂i : H∗〈π,A∗〉 → H∗〈A〉 ������ ��� �������	�
 ���
�	��

��� (Ki, A,A
∗)� ���� ∂ = ∂1 + ∂2�

C1 C2


����
 �	�	 C1 ��� C2 
� 
�� ����� �� �����	


�� ���

�����	 ��
 B� α, β ∈ R+� D1, D2� ��� V : B → R+ �� �
��� �� ����� �� � ��


��

B1 := {V ≤ α}� �� ���� B−
1 \ B− = C1∪̇C2 ����� �� 	�
 Ci := (B−

1 ∩Di) \ B−� !�������

C1 ⊂ D1 ��� C2 ⊂ D2 ��� ��
 ������
�� 
� B−
1 "
�
	 
	 ���


������ 
���	
��
�� 
� #
����

��$%�

&����� "	�� '��( �� '�(% 
��
 � 	������� �� ���
� ���	

Γ1
i ��Γ2

p ��Γ3


	 ������ ������ ����� 
� ker i = 0� p◦ i = 0� ��� 
�� 
������ ����
�� Hq(Γ2/ im i) → Hq(Γ3)


	 �� 
	������
	� ��� ��� q ∈ Z�

)
 
	 ����� 
��


0 ��ΔB−
1 /ΔB̃− ��ΔB1/ΔB̃− ��ΔB1/ΔB−

1
��0


	 �*��
� ����� Δ ����
�	 
�� ����
�� ��
�� ��		�	 � 
������
��� 	���� 
� 

	 	
������ ���
�

������* ��� B̃− := B− ∩B1�

+�� 
����	
�� B−
1 ⊂ B1 
	 � ������

�� '��� +������  ��(� 	� 

 ������	 ���� '��� �����	


��

$�$$( 
��


ΔB−
1 /ΔB̃− ��ΔB1/ΔB̃− ��Δ(B1/B

−
1 )/Δ(B−

1 /B−
1 ) "��$%



�� ���� �� ����	�
��� 
�������
���� ��

�� ������ �	�
��


��
� C1 ��� C2 ��� ��� 
����
���� ����� ��� 
����� ������������� Ω1,1 ������ Ω2,1� �� C1

������ C2� �� B−
1 ��
� ���� Ω1,1 ∩ Ω2,1 = ∅ ���

Hq(B
−
1 , B̃−) ≈ Hq(Ω1,1,Ω1,2)⊕Hq(Ω2,1,Ω2,2) �����

����� �� ��� Ωi,2 := Ωi,1 ∩B− ��	
�������

��������� ����� ��� ������ ��� ������� � ���� �	�
� �� ���
�

��Hq+1[B1/B
−
1 ]

δq+1 ��Hq(Ω1,1,Ω2,1)⊕Hq(Ω2,1,Ω2,2) ��Hq(B1, B̃
−) �� .

!�� {i, k} = {1, 2}� B2,i := B1 ∪ Di ∪ {V ≥ β̃}� ��� B3,i := Di ∪ {V ≥ β̃}� "��� ����

Ωi,2 ⊂ B− ��� Ωi,1 ⊂ B2,1 ∩ B2,2� #����$��� ��� x ∈ Ωi,1 \ B− ��� ��� xπs ∈ Di ��� �����

s� �� xπs 	∈ B2,k� ������� ���� Ωi,1 ⊂ B−
2,k� ����� {i, k} = {1, 2}�

!���� ��% ������� ���� (B2,i, B3,i ∪B−
2,i, B

−
2,i) �� �� &#'����	 ������ ��� (π,Ki, A

∗, A)� (�

��
������ ������ ���)�
������ �� ������ � 
��������$� �������

Hq+1[B2,i/(B3,i ∪B−
2,i)]

∂̃i
q+1 �� Hq[(B3,i ∪B−

2,i)/B
−
2,i]

�� Hq[B2,i/B
−
2,i]

Hq+1[B1/B
−
1 ]

δq+1 ��

≈

��

Hq(Ω1,1,Ω1,2)⊕Hq(Ω2,1,Ω2,2) ��

ji,q⊕0

��

Hq(B1, B̃
−)

��

*� ��$� Φ(∂̃i
q+1) = ∂i

q+1� ����� Φ ������� ��� ���
��� ���
� ������ �� &#'����	 ���� ����

��� �������� ������ ����	�

!�������� �� ������ � �������� ������� ∂q+1 = Φ(∂̃q+1) ��� δq+1� ������

Hq+1[B/(B3,1 ∪B3,2 ∪B−)]
∂̃q+1 �� Hq[(B3,1 ∪B3,2 ∪B−)/B−] �� Hq[B/B−]

Hq+1[B1/B
−
1 ]

δq+1 ��

≈

��

Hq(Ω1,1,Ω1,2)⊕Hq(Ω2,1,Ω2,2) ��

k1,q⊕k2,q

��

Hq(B1, B̃
−).

��

+� ������� �� ���� ���� ki,q = Hq(αi) ◦ ji,q ��� i ∈ {1, 2}� ����� αi : (B3,i ∪ B−
2,i)/B

−
2,i →

(B3,1 ∪ B3,2 ∪ B−)/B− ������� ��� ����� ��������� ,��� �� 
���� ���
� (B3,i ∪ B−
2,i, B

−
2,i)�

(B3,i, B
−
3,i)� ��� (B3,1 ∪B3,2 ∪B−, B−) ��� &#'����	 ����� ���

(B3,i ∪B−
2,i)/B

−
2,i

αi

��
B3,i/B

−
3,i

⊃�� ⊂ �� (B3,1 ∪B3,2 ∪B−)/B−

(Ωi,1,Ωi,2)

ji

��












⊂

��
ki

����������������

�� 
��������$� ���� �������� �� ��� ��������� ��� ���  ������� ���
�� ��� �� ������ ���������

�



�� �� ����� 	���
���

�� ����� ��	
���

��� (X, d) �� � �����	 
��	� ��
 π �� � 
������ �� X� ������� ��� N ⊂ X �� � 
�������

π��
��

���� �
������� �����������
 ��� K := InvN � �����

En := {e ∈ K : e �
 �� �
�����
 ����������� ���� h(π, {e}) = Σn}

�� �� ��� 
�� �� ��� ���������� �� 
����� n� ��� 	����
���
��� 
�� �� 	����	���� �����


Cn ⊂ K

�
 ����� �� x ∈ Cn �� ����� � �
�
 � ���� 
������� u : R → K ���� u(0) = x 
�	� ���� �����

��� ���������� e− ∈ En ��
 e+ ∈ Em! 0 ≤ m < n! ���� u(t) → e+ �
 t → ∞ ��
 u(t) → e−

�
 t → −∞�

����� "�"� E :=
⋃

n∈N En �� ������ ��	 
���� En = Cn = ∅ �
� ���
�� ��� n ∈ N�

����	� #��	� K �
 	����	�! �� ������
 ���� E $���	� �
 	��
�
% �
 	����	�� &�	� e ∈ E

�
 �
�����
! ���	�! ����� � �
�
 �� ���� 
�� Ue ⊂ E 
�	� ���� Ue ∩ E = e� {Ue : e ∈ E} �


�� ���� 	�������! 
� ����� �
 � ����� 
��
�� E0 ⊂ E ���� E ⊂ ⋃
e∈E0

Ue! ���	� ������
 ����

E ��
��� �
 ������ �

��� N := max{n ∈ N : En 	= ∅} ��
 �

��� ���� (E1, . . . , EN ) �
 � '��
� 
�	����
�����

�� K� (� ������
 ����
������ )
�! ������� (((�*�+, ����

K =
⋃
n∈N

En ∪
⋃
n∈N

Cn.

��� ����� n ∈ Z! 
����

Kn :=
n⋃

k=0

Ek ∪
n⋃

k=0

Ck.

��� n ≥ 0 ��


Kn = ∅
��� n < 0�

��� e ∈ En ��
 f ∈ Em! ��
 
�� e < f �� ��
 ���� �� n < m� ���
 
����
 � ������� ��
�� ��

E! ��
 ({e})e∈E �
 � <���
���
 '��
� 
�	����
������ ���
 ������
 ���� ��� �

������� ��

(E1, . . . , EN ) ����� � '��
� 
�	����
������ -��� ���� ���
 ������
 �� �����	���� ���� �����

e− ∈ En+1 ��
 e+ ∈ En! ��� 
��

Ke−,e+ := {x ∈ K : ∃ ���� 
������� σ ������� x ���� σ(t) → e± �
 t → ±∞} ∪ {e−, e+}

�
 �� �
�����
 ��������� 
�� �
������� � 
������� �
��

���� �
������� �����������
� ������

����! Ke−,e+ �
 	����	��

����� "�.� ��� K �� � �
����� ��������� ���� ��	 ��� σn : R → K �� � �������� 
� ����

�
����
���

�
�� �
��� �� � �
����
� ���� �
����
� σ : R → K ��	 � ����������� σn(k) ���
 σn(k)(t) →
σ(t) �� k → ∞ �
� ��� t ∈ R�

����	� ��� �� ��� 	����	���

 �� K! �� 	�� 	���
� � 
��
�����	� a1,n �� (σn)n ����

supk,l≥n d(a1,k(0), a1,l(0)) ≤ 1
n ��� ��� n ∈ N�



�� ����� ���	
�� �


������� ��	� 
� 	�� �
��� 	 �������� (am,n)n 

��

d(am,k(−m′), am,l(−m′)) ≤ 1

n

��� 	�� k, l ≥ n� 	�� n ∈ N� 	�� 	�� m′ ∈ {0, . . . ,m}� ��� (am,N(n))n �� 	� 	��
��	��

����������� �� (am,n)n� ���� N(n) ≥ n ��� 	�� n ∈ N� ��

d(am,N(k)(−m′), am,N(l)(−m′)) ≤ 1

n

��� 	�� k, l ≥ n� 	�� n ∈ N� 	�� 	�� m′ ∈ {0, . . . ,m}�
������
����� 
� ���	
� 	 �	�
�� (am,n)(m,n)∈N×N ���� ��	� ��� 	�� m′ ∈ {0, . . . ,m} 	�� 	��

k, l ≥ n

d(am,k(−m′), am,l(−m′)) ≤ 1

n
. ���� 

��� bn := an,n� t ∈ R �� 	��
��	��� 	�� ������ m ∈ N 

�� −m ≤ t� bn(−m) 
� 	 !	����

�������� �� ���� � �� bn(−m) → x0 ∈ K 	�� bn(t) = bn(−m)π(t + m) → x0π(t + m) ��

����
��
��� ��� �	�� 	������� ���
� ��	� σ(t) := limn→∞ bn(t) 
� 	 �����
��� �

����� ��"#� ��� e−, e+ �� �� �����	 �
� ��� σn : R → Ke−,e+ �� � ��
��
�� �� �������
�

���� σn(t) → e± �� t → ±∞�

���
 ����� �� � ��
��
�� tk �
 R	 � �������
 σ : R → Ke−,e+ ���� σ(t) → e± �� t → ±∞	

�
� � �����
��
�� σn(k) ���� supt∈R d(σn(k)(t+ tk), σ(t)) → 0 �� k → ∞�

����	� ��� ε > 0 ���� ��	� d(e−, e+) > 2ε� 	�� ��� tn := sup{t ∈ R : d(σn(t), e
−) ≤ ε�

�� �
�
 �� ����	 ��$� ����� �%
�� ������������ σn(k) 	�� tn(k)� 	�� 	 ���� �����
�� σ : R →
Ke−,e+ 

�� σ̃k(t) := σn(k)(tn(k) + t) → σ(t) 	� k → ∞ ��� 	�� t ∈ R� �
��� σ(0) ∈ Ke−,e+



�� d(σ(0), e−) ≥ ε 	�� d(σ(0), e+) ≥ ε� 
� 
� ���	� ��	� σ 	≡ e− 	�� σ 	≡ e+� �����

σ(t) → e− 	� t → −∞ 	�� σ(t) → e+ 	� t → ∞�

��� δ ∈ ]0, ε[ �� 	��
��	�� ��� &%��� '� ��	
� ��	� ����� 
� 	 t0 ∈ R ���� ��	� d(σ̃k(t), e
−) ≤

δ ��� 	�� t ≤ t0 	�� 	�� k ∈ N� (����

�� ����� 
� 	 �������� sk → −∞ 	�� 	 �	��
��

n(k) : N → N 

�� d(σ̃n(k)(sk), e
−) > δ ��� 	�� k ∈ N� '� �	� 	����� 
������� ��	�

σ̃n(k)(sk) → x0 ∈ Ke−,e+ � �� �����
� ��	� d(x0πt, e
−) = limk→∞ d(σ̃n(k)(sk + t), e−) ≤ ε ���

	�� t ∈ R+� �� x0 = e−� )�
����� d(x0, e
−) ≥ δ� 	 �����	�
��
���

)����� ����� �%
��� 	 τ ∈ R− ���� ��	� ��� 	�� t ≤ τ 	�� 	�� k ∈ N

d(σ̃k(t), e
−) ≤ δ

d(σ(t), e−) ≤ δ.

��� π̃ ������ ��� �����
��
�� �� π �� Ke−,e+ � �� 
� 	�	
� 	 ���
*�
� �� 
� �����
� ���� +���

!�����	�� ,�,- ��	� ����� 
� 	� 
���	�
�� ����. B ��� e+ 

�� B− = ∅ 	�� d(e+, B) ≤ δ�

!����
�� T ∈ R �	��� ������� 
� �	�� σ(t) ∈ intB ��� 	�� t ≥ T � ���������� σ̃k(t) ∈ B ���

	�� k �	��� ������� )����� ��� 	�� t ≥ T 	�� 	�� k �	��� ������� ��� �	�

d(σ̃k(t), e
+) ≤ δ

d(σ(t), e+) ≤ δ.

�� 
� �	�� �� ����� ��	� σ̃k → σ ��
������ �� [τ, T ]� '� �	�� ���
� ��	� σ̃k → σ ��
������


� t� �



�� �� ����� 	���
���

���������� ����� Γ ⊂ Ke−,e+ �� ����	
 �� �
��� �� ��	
	 	����� � ���� �������� σ : R → Ke−,e+

���� ���� σ(t) → e± �� t → ±∞ ��
 σ(R) = Γ�

	�

� ����� ������� ��	� 
�� ����
 ����� Γ� Γ ∪ {e−, e+} �� 	� ����	��� ���	��	�� ����

���� ����� 	�� ������
 �	�
 ������ Γ1, . . . ,Γn ���� ��	� Ke−,e+ = {e−, e+} ∪ Γ1 ∪ · · · ∪ Γn�

�
���� ������	 ���� ��	 �	��� �� ��� �
�	� ��	� ��	
	 �� � �	��	��	 �� ���
���	


������� �
���� Γn� �	� σn �	 � �	��	��	 �� ��������� ���� Γn = σn(R)�

�	� σ ��
 tk �	 ���	� �� �	��� �����  � ��
 �����������! K0 := {e−, e+} ∪ σ(R) �� ��

������	
 ����
���� �	�� "	��	! ��	
	 �� �� ��������� �	�����
���
 Ñ �� K0� �	��� ����

�����	� ���� ��	
	 �� � ����	��	��	 σn(k) ���� σn(k)(t) ∈ Ñ ��
 ��� t ∈ R� ����! �	 ���	

Γn(k) ⊂ K0 ��
 ��� k ∈ N� �	� k ∈ N �	 �
���
�
� ��� #�	
 ��
 �	� σ̃ := σn(k)�

�	� τ0 ∈ R ���� ���� σ̃(τ0) 	∈ {e−, e+}� $�
 	�	
� τ ≤ τ0! ��	
	 �� � t = t(τ) ���� ����

σ̃(τ) = σ(τ − t)� �	� σ̃(τ1) = σ(τ1 − t1) ��
 σ̃(τ2) = σ(τ2 − t2) ���� τ2 < τ1 ≤ τ0� %� �������

���� σ(τ1 − t1) = σ(τ2 − t2 + (τ1 − τ2))! �� σ(τ1 − t1) = σ(τ1 − t2)� ������	 �������� ����

δ := t2 − t1 > 0� %� ������� ���� ��
 ��� k ∈ N σ(τ1 − t1) = σ(τ1 − t1 + kδ) → e+ �� k → ∞!
�������� ���� σ(τ1 − t1) = σ̃(τ1) = e+! � ����
�
������ �� τ ≤ τ0� &	 ���	 �
��	
 ����

σ̃(τ) = σ(τ − t) ��
 ���	 t ∈ R ��
 ��� τ < τ0! ��
 ����	��	���� ��
 ��� τ ∈ R�

��	
	��
	! Γn(k) = σ(R) ��
 ��� k ∈ N! ����� ����
�
���� ��	 ���������� �� ��� Γn �	���

���
���	 
�������� �

���������� ���'� �	� (A,R) �	 �� ���
����
(
	�	��	
 
	����������� �� �� ����
���� �	� S!

�����	 ���� ��	
	 	����� � ��
����� π(�
�������	 $)(��
	� �
���	 ��
 (π, S,A,R)! ��
 
	#�	

��
 ��� q ∈ Z

Hq〈S,A〉 := Hq〈R〉,
��	
	 Hq〈R〉 
	���	� ��	 �������
 �����
 ����� �� R *�		 +�! ,	#������ -�'./�

�	� o ≤ m ≤ n ��
 �	� (Kn,Km, Rn,m)! (Kn,Ko, Rn,o)! ��
 (Km,Ko, Rm,o) �	 ���
����
(


	�	��	
 
	������������ *
	���	
 �� ��	 �

	
0 ����
���� �	�! ���
����
! 
	�	��	
/� ��	�

(Rn,o, Rm,o, Rn,m) �� ���� �� ���
����
(
	�	��	
 
	������������ "	��	! ��	
	 �� � ���� 	����

���
����
(
	�	��	
 �	��	��	 �� ��������

��Hq〈Rm,o〉 ��Hq〈Rn,o〉 ��Hq〈Rn,m〉 �� ,

����� *,	#������ ���'/ ��� ���� �	 �
���	� ��

��Hq〈Km,Ko〉
iq ��Hq〈Kn,Ko〉

pq ��Hq〈Kn,Km〉 �� . *��1/

�	� n, n′,m,m′ ∈ Z ���� m ≤ m′ ≤ n ≤ n′� ���� 	
��� 
���� �������������

Hq〈Kn,Km〉
iq ��Hq〈Kn′ ,Km〉

���

Hq〈Kn,Km〉
pq ��Hq〈Kn,Km′〉,

����� ������ �� n,m, n′,m′ ��� ����� ��� �������� ���� ��� ���� ������� ���� ��� ����

������
 ������������� �� ���
 ����� ������������������ ��������� 	��� ��� �� ��� !������

" �� ���� �� � ������� ���� �� ��� ������������� �� ��� ������
� ����� #���� ��������� ������



�� ����� ���	
�� �


��� ��� q ∈ Z� ��� δq+1 	� 
����
 	
 ��� ��������� ������� �� ��� ���� ����� ��������

��Hq+1〈Kq+1,Kq−1〉 ��Hq+1〈Kq+1,Kq〉
δq+1 ��Hq〈Kq,Kq−1〉 ��

�� ������� ���� ��� ������������
 �� 
������ ����� ��  �! ���� δq ◦ δq+1 = 0 ��� ��� q ∈ Z�

���� ��� δ = (δq)q∈Z �� � 	���
��
 �"������ ��


WN := (Hq〈Kq,Kq−1〉, δq)q∈Z

�� � ����� ���"���� #�� HWqN 
����� ��� q$�� �������
�

��� ����
 n ∈ N� (Kn−1, En) �� �� ���������$��"����� 
����"������� �� Kn� %����� �� �������

����
�����
 ���� &�������� '�() ����

����� '�(*�

Hq〈Kn,Kn−1〉 = Hq〈En〉 ≈

⎧⎨
⎩G#En n = q

0 n 	= q.

+�� ��������� "��"������� ��
 ��� ��	������� ������ ��� �� �
�"���� �� ���"��� ,�( ��  �!

�� -���� 
����"���������

���	�
����
 '�(.� ����� �� �� ��	
	�����


Θ : HWN � H〈K〉.

����� '�(�� Hq〈Kn,Km〉 = 0 �	� n ≥ m ≥ q 	� q > n ≥ m


������ +�� "���� �� ����� 	
 ��
������ �� n −m� ��� n −m = 0� (Kn,Kn, ∅) �� ��

���������$��"����� 
����"�������� �� �� ����

Hq〈Kn,Kn〉 ∼= Hq〈∅〉 = 0 ∀q ∈ Z.

/�� ��� n − m > 0 ��
 (Kn,Km, Rn,m) ��
 (Kn−1,Km, Rn−1,m) 	� ���������$��"�����


����"�������� ����� 
���� Rn,m ��
 Rn−1,m� ��� (Rn,m, Rn−1,m, En) �� �	���� ��

���������$��"����� �������� �� �������


��Hq〈Rn−1,m〉 ��Hq〈Rn,m〉 ��Hq〈En〉 �� ,

����� ��� ���� 	� ������� ��

��Hq〈Kn−1,Km〉
iq ��Hq〈Kn,Km〉 ��Hq〈Kn,Kn−1〉 �� . �'���

+�� ���� �������� �� �����
 ��� ���� ����� �������� �� ��� ���"�� (Kn,Kn−1,Km)�

0�""��� ���� n > m ≥ q �� q > n > m� �� 	��� ������ �� ������� ���� #���� '�(* ����

Hq〈Kn,Kn−1〉 = 0� ��
 �� �'��� ��"���� ���� Hq〈Kn,Km〉 = 0 ����� iq �� �� �"����"����

��
 Hq〈Kn−1,Km〉 = 0 	
 ��
������� �

����� '�(1� Hq〈Kn,Km〉 ∼= Hq〈K,Km〉 ��	����� n ≥ m ≥ q


������ 2����
�� ��� ���� ����� �������� �� ��� ���"�� (K,Kn,Km) �� 
����
 �� ���

"���� �� #���� '�(�

��Hq〈Kn,Km〉 ��Hq〈K,Km〉 ��Hq〈K,Kn〉 �� .

�� ������� ���� #���� '�' ���� ����� �� �� r ≥ n ���� K = Kr� 3� ��
 ���� �����
��

��Hq〈Kn,Km〉 ��Hq〈Kr,Km〉 ��Hq〈Kr,Kn〉 �� .



�� �� ����� ����	�
�

�� ��� ���� Hq〈Kr,Kn〉 = 0 	
 ����� 
���� ������� ����

Hq〈K,Km〉 = Hq〈Kr,Km〉 ∼= Hq〈Kn,Km〉.

�

����� �� ����������	 
��
� ��� q ∈ Z� m < q − 1� ��� �������� ��� ���� �����

�������� �� ��� ������ (Kq+1,Kq,Km)

��Hq+1〈Kq+1,Kq〉
∂1
q+1 ��Hq〈Kq,Km〉 ��Hq〈Kq+1,Km〉 ��0,

����� ��� 0 �� ����� �� 	
 ����� 
���� !�� ��������� ������� ���� Hq〈Kq+1,Km〉 ∼=
Hq〈Kq,Km〉/ im ∂1

q+1�

"��� �������� ��� ���� ����� �������� �� ��� ������ (Kq,Kq−1,Km)

��0 ��Hq〈Kq,Km〉
pq ��Hq〈Kq,Kq−1〉

∂2
q ��Hq−1〈Kq−1,Km〉 �� ,

����� ��� #��� �� ����� ����� �� 	
 ����� 
���� $� ������� ���� Hq〈Kq,Km〉/ im ∂1
q+1

∼=
im pq/ im(pq ◦ ∂1

q+1) ��� im pq/ im(pq ◦ ∂1
q+1) = ker ∂2

q/ im(pq ◦ ∂1
q+1) 	
 ��� ��������� �� ���

����

%�����
� �������� ��� ���� ����� �������� �� ��� ������ (Kq−1,Kq−2,Km)

��0 ��Hq−1〈Kq−1,Km〉
p̃q−1 ��Hq−1〈Kq−1,Kq−2〉 �� ,

����� ��� #��� �� ����� ����� �� 	
 ����� 
���� &����� p̃q−1 �� � ������������� �� �	����

ker ∂2
q/ im(pq ◦ ∂1

q+1) = ker(p̃q−1 ◦ ∂2
q )/ im(pq ◦ im ∂1

q+1)�

'
 ��� ������������
 �� ������� (��)* �� +�, (��� 	����*� �� ����

HWqN = ker δq+1/ im δq = ker(p̃q−1 ◦ ∂2
q )/ im(pq ◦ ∂1

q+1)
∼= Hq〈Kq+1,Km〉,

����� ����� �� ����������� ���� ����� 
��- ����

HWqN ∼= Hq〈Kq+1,K−2〉 = Hq〈Kq+1〉 ∼= Hq〈K〉 ��� ��� q ≥ 0.

.�����
� ��� q < 0 �� ���� HWqN = 0 ��� Hq(K) = 0� �

����������	 
��
� ��� ��� n ∈ N ∪ {0} ��� ��� q ∈ Z�

(�* 	
��� �
 �� �
�����
�
� ιn,q : Hq〈En〉 ∼=
⊕

e∈En
Hq〈{e}〉 
��
 	
�	

()* ιn,q ◦δn◦(ιn,q)−1 =
(
∂(e,f),q

)
(e,f)∈En×En−1

� �
��� ∂(e,f),q ����	�
 	
� q�	
 ������	�

��� 
�������
�
� �� 	
� �		���	����������� 
������� ��� (Inv−K{e}∩Inv+K({f}), {f}, {e})
�� 
������� 
��������

������ ��� En = {e1, . . . , em} ������� �� m ������	���� !��� ��� ����
 δ > 0� ����� ��

�� ��������� 	���/ B ⊂ N ��� En ���� B ⊂ ⋃
e∈En

Bδ(e) < δ� ��� 0 < δ0 < min{d(e, f) :
e, f ∈ En}� ��� ��� {Ci : i ∈ I} ������ ��� �����
 �� ��������� ���������� �� Bδ0 � 0���

Ci �� �� ��������� 	���/� ��� B̃ :=
⋃

En∩Ci 
=∅ Ci �� �� ��������� 	���/�

��� C(e) ������ ��� ��������� ��������� �� B̃� ��� ����� e ∈ C(e)� ��� ��� ie,n : C(e)/C(e)− →
B̃/B̃− 	� ��������� �������� ��� p̃i : C(e) → C(e)/C(e)− ��� p̃ : B → B/B− 	� ��� �����1

���� ������������ ��� ji : C(e) → B 	� ����������� ��� ��� j̃i : C(ei)/C(ei)
− → B/B− 	�



�� ����� ���	
�� �


��������� �����	�
 ��	�

⊕m
i=1 Hq(C(ei), C(ei)

−)
Hq(j1)+···+Hq(jm)

��

Hq(p̃1)⊕···⊕Hq(p̃m)

��

Hq(B̃, B̃−)

p̃

��⊕m
i=1 Hq[C(ei)/C(ei)

−]
Hq(j̃1)+···+Hq(j̃m)

�� Hq[B̃/B̃−]

�� ��

������	� ��� Hq(p̃1 ⊕ · · · ⊕ p̃m) ��� Hq(p̃) ��	 ���
������
� ��	 �� ��	 �����	 ��

��������� ������
 ����� � ���	����	����� �	��	��	� ��	 ��� �������	 ���� Hq(j1) + · · · +
Hq(jm) �� �� ���
������
 ��� ���� ���� Hq(j̃1) + · · ·+Hq(j̃m)
 ���� ����	� �� 


!� �����"� ���
 #	

� $
% ����

(N1, N2, N3) := (B̃, C(ei) ∪ B̃−, B̃−)

�� � �������� ��
������	 &�����	' �����	 ��� (En, {ei}, En \ {ei})
 ��	 �����"��� ������


��

��	� �	����	 ��� 
������
� ��	 ��������� �����	�(

Hq[C(ei)/C(ei)
−]

Hq(α)

��

Hq(ji)

��������������

�� Hq[N2/N3] �� Hq[N1/N3] �� Hq[N1/N2] �� .

)���	 α �� �� ���	� 
������
 �� C({e})� "	 ���	 ���"� ���� Hq〈ji〉 : Hq〈{ei}〉 → Hq〈E〉
	����� iei,n "���� �� ���	� �� ��	 �����"��� �����������	�	��	� �	��	��	(

��Hq〈{ei}〉
iei,n ��Hq〈En〉 ��Hq〈En \ {ei}〉 �� .

#	� (e, f) ∈ En × En−1
 *� ��	 ��

��������� �� ��	 ��
����� ���	' ����� +�,�

Hn〈{e}〉

ie,n

��

∂̃



�����������

Hn〈En〉
δn �� Hn−1〈En−1〉,

���

Hn〈{e}〉
∂(e,f),n ��

∂̃



�����������
Hn−1〈{f}〉

if,n−1

��
Hn−1〈En−1〉,

��	 ��

������	
 ����� ��
������ ��	 ��	����� �"� ������
�� "	 ������ �����	� ��

��

�����	 ������


Hn〈{e}〉
∂(e,f),n ��

ie,n

��

Hn−1〈{f}〉

if,n−1

��
Hn〈En〉

δn �� Hn−1〈En−1〉,
"���� ���"� �- 
 �





�������� �

������� ���	
� ��
����

��	
��

 ��� ����� ���	����� ��� 	
� ��	��� �� � ���	�� ������ �� ������ �� ����� 	
�� �����

����	� � ���
� ����
��� ��� 	� ��������� ����� 	
� �	���	��� �� 	
� ���	�� ������� ���� 
���

�� ����	����� ��� ��! "
�������� �����	���� ���	���	�� 	� 	
� ��� ���� ���� �� 
����!

#�	 [a, b] ⊂ R �� �$�� ��� ��	 E,F ����	� ����	���� %����
 � ����! &� ���� ���	� E =

E1 ⊕ E2 �' E1 ��� E2 ��� ������ ������ ���� ���� �� E ��	
 E = E1 + E2 ��� E1 ∩ E2 =

{0}! (���� � ������ ���� ��� E1 ⊂ E� ���	
�� ������ ���� ��� E2 �� ������ � 	� ���
����

��� �����	 �' E = E1 ⊕E2! ��  ��	������� ���
 � ��� �����	 �$��	� �� ��	
�� dimE1 < ∞
�� codimE1 < ∞!

���������� �!)� � *	������+ ������ �� 	
� ���	�����  �����	 [a, b] × E �,��  �� ��	
 	
�

 �����	 ��	���!

"�-��
 *	������+ ������� �� ��.��	� �� � ��	�
��� B = B([a, b])� ��� ����� 	� ����� ��� 
����/

���������� �!0� � ��� 
��� �� B �� � ���	������ ��  ��
 G : [a, b] → L(E,F )! G ��

������ � ��������� �� ��� ����� x ∈ [a, b]� G(x)E 
�� � 	� ���
���� ��� �����	 �� F !

(���� ������� [a, b]×E ��� [a, b]× Ẽ ��� � ��� 
��� F ��	���� 	
��� F ��� �� �  ����

	� [a, b]× E �� 	
� ��������
 ���/ F̂ (x, η) := (x, F (x)η)!

�� F1, F2 ��� ��� 
����� 	
�� (F1◦F2)(x) := F1(x)◦F2(x) �� �
��� � ��� 
���! ��  ��	�������

� ��� 
��� F �� �� ������ 
��� �' ��� ����� x ∈ [a, b] F (x) ∈ L(E,F ) �� �� ������ 
���

��� �' 	
� ������� ��  ��
 F̂ �� � 
������� 
���!

	�

� �!1� �	� G ∈ C([a, b],L(E,F )) 
�� ����
�	 ��
� G(x0) �� 
� ��
�
������ ��

L(E,F )� ��	� ��	�	 �� 
 �	����
��

� U 
� x0 �� [a, b] ���� ��
� G(x) �� 
� ��
�
������

�
� 
�� x ∈ U � �
�	
�	�� G(x)−1 �� �
�����
�� �� x �
� 
�� x ∈ U �

�
���� �� �� ��	 Hx := (G(x0) − G(x))G(x0)
−1� 	
�� �	 ������� ����
 	
� �������

������ 	
�	 G(x0)G(x)−1 =
∑∞

n=0 H
n
x �
������ ‖Hx‖ < 1! "
� ��	 U := {x ∈ [a, b] :

‖Hx‖ < 1} �� � �� ���
∑∞

n=0 H
n
x �� ���� ���	�������� �� x� �
����
 	
�	 G(x)−1 ��

���	������ �� U ! �

��
����
� �!2� G ∈ C([a, b],L(E,F )) �� 
� ��
�
������ �� 
�� 
��� �� �
� 	�	�� x ∈ [a, b]

G(x) �� 
� ��
�
������ �� L(E,F )�

���������� �!3� � �����	 U ⊂ [a, b]×F �� ������ � ��������� �� 	
��� �$��	� ���	
�� ������

[a, b]×E ��� � � ��		��
 ������� 
��� G : [a, b]×E → [a, b]×F ���
 	
�	 U = Ĝ([a, b]×E)!

	�

� �!4� Ĝ : [a, b]×E → U �� 
 �
�	
�
������� 
�� ��	 �
��� 
� ��	 ��	�� 
�	 	�����


�	��� ��
� ��� ��	�	 
�	 �
���
��� m,M ∈ R+ ���� ��
� 0 	= m 
�� m‖η‖E ≤ ‖G(x)η‖F ≤
M‖η‖E �
� 
�� (x, η) ∈ [a, b]× E�

��



�� �� ������	 �
���� 
���	
�

������ �� ������� ���	 �
� ���
 	����
� �
����	 �
�� G(x) �� �
 ���	���
��	 ��� ���

x ∈ [a, b]� ��� x0 ∈ [a, b] �
� ��� P : F → G(x0)E ��
��� � ���������
� �� ��		� ����

�
��� ������ � 
���
���
��� V �� x0 ���
 �
�� ��� ��� x ∈ V � (PG(x))−1 ∈ L(PG(x)E,F )

�
� G(x)−1 = (PG(x))−1P � �
�� ��� G(x)−1 �� �
� ����������
 �� �
� �������� �
 ����

(PG(x))−1P ∈ L(F,E) �� G(x)E� !� 
� � (PG(x))−1P → G(x0)
−1 �
 L(F,E) �� x → x0�

"
�� �
��� �
�� G(xn)
−1yn → G(x0)y0 �
�
� �� (xn, yn) → (x0, y0) �
 U � #�
��� Ĝ(x) ��

� 
�	��	���
��	�

!� 
� � M := supx∈[a,b] ‖G(x)‖ < ∞ �
� m−1 := supx∈[a,b]

∥∥(PG(x))−1P
∥∥ < ∞ ��

��
��
����� �
��
 �
��� �
� �$�� ���
�� �� 
��	�� �

%� �
 � �������
� 	�
�	���
��	 U : [a, b]× E → [a, b]× F � �
� ��
 ����& �� � �����
����

���
�����
� U ���
 ��� �	��� Û([a, b]× E)� "
�
 �
� '���� ��� �� �
 �� U(x) := U(x)E ���

x ∈ [a, b]� �� V ⊂ [a, b]� �
�
 �� ����� U(V ) :=
⋃

x∈V {x} × U(x)�

����	 ��(� ��� U : [a, b]× E → [a, b]× F �� � ������	
�� 
�� x0 ∈ [a, b] ��	 
�� P : F →
U(x0) �� � �
�����
�� ��
�����
� 
��
 U(x0)� ���� ����� ������ � ������
��

	 V 
� x0 ��

[a, b] ���� ���� p : U(V ) → V × U(x0)� p(x, y) = (x, Py)� �� � �
��
�
������ ��	 ���

�
��� 
� ��� ����� ��� ������
���� ���� ��� ����� ��� �
������� m,M ∈ R+ ���� ���� 0 	= m

��	 m‖η‖ ≤ ‖Pη‖ ≤ M‖η‖ �
� �

 (x, η) ∈ U(V )�

������ )�'
� Hx ∈ L(E,U(x0)) �� Hx := PU(x)� �� ������� �� �
 �
� ����� �� ��		�

��* �
�� �
��� �� � ������ 
���
���
��� V �� x0 ���
 �
�� Hx �� �
 ���	���
��	 ��� ��� x ∈ V �

��		� ��� �	����� �
�� H−1
x ����
�� ��
��
������ �
 x� "
������� �
� �� ��		� ��*�

P (x) := HxU(x)−1 �
� P (x)−1 = U(x)H−1
x y ��� ���	���
��	� �
� �
� 
��	� �� P (x) �
�

U(x)H−1
x ��� ���
��� �
 V � �

�� ������� ��� U : [a, b]×E → B �� � �����
���� �
��� B := [a, b]×F � )�'
� �
� $�����
�

��
��� B/U �� �� �
� ������
� �
��
 �� �
� $�����
�� �
 �
� '����� �
�� ���

B/U :=
⋃

x∈[a,b]

{x} × (F/U(x)).

�� �� 
������ �� �
��� B/U ���
 �
� $�����
� �������� �
� �� �����
 �� ���
 '��� �
� 
��	

‖[y]‖F/U(x) := inf{‖y − z‖F : z ∈ U(x)} y ∈ F.

����	 ��+� ��� E = E1⊕E2 ��	 
�� U : [a, b]×E1 → B = [a, b]×E �� � ������	
�� ����

����� ������ ��
���� ������	
� S : [a, b]×E2 → [a, b]×E ���� ���� U⊕S : [a, b]×(E1⊕E2) →
E� ����� �� 	����	 �� (U ⊕ S)(x)(y1 ⊕ y2) = U(x)y1 + S(x)y2� �� �� ��
�
�������

��������
��� �� E = U(ξ) ⊕ E2 �
� �
�� ξ ∈ [a, b]� ���� �� ��� ������ ���� S(x) = idE2

�
� �

 x �� � ��������
� ���

 ������
��

	 
� ξ �� [a, b]�

� ��
��$��
�� �� �
� ��� ���� ��		� �� �
�� B/U �� ����
 � 	����� ,	����-����. ������

�
��
 ������ ��� ���	��� �� ��
����� �
� /�
��� �
��� �
 B/U �

����	 ��0� ��� ��� ��������
�� 
� �����  �! �

	� ��	 
�� x0 ∈ [a, b]� �
� ����� x0 ∈
[a, b] ����� �� � �����
��

	 V 
� x0 ��	 �� �������
� Ūx0

∈ C(V,L(E1 ⊕ E2, E) ���� ����

�
� ����� x ∈ V � Ūx0
(x) �� �� ��
�
������ ��	 Ūx0

(x)|E1
= U(x) �
� �

 x ∈ V �



�� ������� ��	�
� ��
���� ��

������ ��� Ẽ �� � ������	
��� ��������
� ��� U(x0)� ���� 
�� E = U(x0)⊕ Ẽ� �����


� � Φ ∈ ISO(Ẽ, E2) �

�� E2
∼= E/E1

∼= E/U(x0) ∼= Ẽ� ���� ��� y1 ⊕ y2 ∈ E1 ⊕ E2 �
�

���
� Ū(x)(y1 ⊕ y2) := U(x)y1 + Φ(y2)� Ū(x0) 
� �
 
�������
��� �� �� ����� ��� �����


� � 
�
	�������� V �� x0 ���� ���� Ū(x) 
� �
 
�������
�� ��� ��� x ∈ V � �

����	 ����� ����� ��� �		
���
��	 �� ����� ���� ����� 
	 �� 
	������
	�

Ū ∈ C([a, b],L(E,E) 	
�� ���� Ū(x)|E1
= U(x) ��� ��� x ∈ [a, b]�

�
���������� 
� E = U(ξ)⊕ E2 ��� 	��� ξ ∈ [a, b]� ���� �� ��� �		
�� ���� Ū(x)y = y ���

��� y ∈ E2 ��� ��� x 
� � 	
��
����� 	���� ��
��������� �� ξ 
� [a, b]�

������ �� ����� �� �
� ��� �������
��� �� [a, b]� ����� 
� � ��������
�
�
 a =

a0 < a1 < · · · < an = b �� [a, b] �
�� ξ 	∈ {a1, . . . , an} �
� ��� �!��� k ∈ {1, . . . , n} � �����

�"��
�
�
 Ūak
∈ C([ak−1, ak],L(E,E))�

#� ���!� ��� ���
� �� 

����
�
 �
 n� �� �� ��� ������ ���� ����� 
� �
 �"��
�
�
 Ū−1 ∈
C([a, an−1],L(E,E))� $��
�

Ū(x) :=

⎧⎨
⎩Ū−1(x) x ≤ an−1

Ūan
(x) ◦ Ūan

(an−1)
−1 ◦ Ū−1(an−1) x ≥ an−1.

#� ��!� Ūan
(an−1) ◦ Ūan

(an−1)
−1 ◦ Ū−1(an−1) = Ū−1(an−1)� �� Ū 
� ����%���
�� �
�

��
�

����� &����!��� ��� ��� y ∈ E1 �
� x ≥ an−1� �� ��!�

Ū(x)y = (Ūan
(x) ◦ Ūan

(an−1)
−1 ◦ U(an−1))y

= (Ū(x) ◦ U(an−1)
−1 ◦ U(an−1))y

= Ū(x)y = U(x)y,

�� Ū 
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�
	�������� [ã, b̃] �� ξ ���� ���� U(x)⊕ idE2

� �
 
�������
��

��� ��� x ∈ [ã, b̃]� '����� � ��
�

���� ����

	 ρ : [a, b] → [ã, b̃] �
�� ρ(x) = x ��� ���

x ∈ [ã, b̃]� ����������

Ũ(x)(y1 ⊕ y2) := Ū(x) ◦ Ū(ρ(x))−1(U(ρ(x))y1 ⊕ y2)

���
���� Ũ(x)y2 = y2 ��� ��� y2 ∈ E2 �
� ��� x ∈ [ã, b̃]� �

����� �� ����	 
��� ��� ��� �����
�� S : [a, b] × E2 → [a, b] × E �� ���
�� ��

�����
��
�
 �� Ū � ���� 
�� S(x)y := Ū(x)y� y ∈ E2� �

����

	�� ����� ��� ��� �		
���
��	 �� ����� ��� ����� ��� U ��� S �� �
��� �� ����

������ ��� ��� ��� �����
��� �������
�� p : S → B/U �� ������ �� p(x, y) := (x, [y])�

 ��� p ◦ S : [a, b] × E2 → B/U 
	 � ����������
	�� ��� ��� ����	 �� ��� ����	

��� �!

������� ���� 
	� ����� ��� ���	����	 m,M ∈ R+ 	
�� ���� 0 	= m ��� m‖η‖E ≤
‖[S(x)η]‖E/U(x) ≤ M‖η‖E ��� ��� (x, η) ∈ [a, b]× E2�

������ )�� �!��� x ∈ [a, b]� �
� ��� E/U(x) ∼= S(x)� �� p ◦ S 
� � �
*���
�
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��� q(x, y1 ⊕ y2) := (x, y2) ������ ��� �	���
�	� �
�����
��� ��� ������
�� �
	�
	�

[a, b]× E
(U⊕S)−1

��

p

��

[a, b]× (E1 ⊕ E2)

q

��
([a, b]× E)/U

(p◦S)−1

�� [a, b]× E2


� ������	�
�� 	�� q ◦ (U ⊕ S)−1 
� ����
������ ����� p ◦ S−1 
� ����
����� �
��� ���

����
��� �������� 
� ��	� �
�� 
������ �� ��� �
�����
���

�� �	�� ‖[S(x)y]‖ = d(S(x)y, U(x)) ≤ ‖S(x)‖‖y‖ ��
 	�� (x, y) ∈ [a, b] × E2� �� ��� �	�

������ M := supx∈[a,b] ‖S(x)‖ < ∞�

������� ���
� 	
� ��������� xn → x0 
� [a, b] 	�� yn ∈ E2 �
�� ‖[S(xn)yn]‖E/U(x) → 0

	� n → ∞ 	�� ‖yn‖ = 1 ��
 	�� n ∈ N� ����� ���
� 
� 	 �������� (wn)n 
� E1 �
��

‖S(xn)yn − U(xn)wn‖ → 0 	� n → ∞� �� ����	 �� � �� �	�� supn∈N ‖wn‖ < ∞�


����
�� ��	� ‖S(x0)yn − U(x0)wn‖ → 0� ��	� 
�� ‖[S(x0)yn]‖E/U(x0)
→ 0 	� n → ∞�

!� ������� ��	� (p ◦ S)(x0, yn) → (p ◦ S)(x0, 0) 	�� �� yn → 0 
� E2 "��	��� p ◦ S 
� 	

�������
��
��� ��
� ����
	�
��� ��� 	������
�� ��	� ‖yn‖ = 1 ��
 	�� n ∈ N�

#����� ���
� �$
��� 	 �����	�� m ∈ R+ �
�� 0 	= m 	�� m‖y‖ ≤ ‖[S(x)y]‖E/U(x)� �

����� ��%&� ��� U : [a, b]× E1 ⊕ E2 → [a, b]× E �� � ������	
�� 
�� x0 ∈ [a, b] ��	 
��

E = U(x0)⊕ Es.
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��� ������ � ����
���
��	 V �� x0 �� [a, b] ���
 �
�� p : V ×Es → p(V ×Es) ⊂ B/U �

p(x, y) = (x, [y]) �� � 
��������
���� ��	 �
� ����� �� �
� ����� ��� ������
���� �
�� ���

�
��� ��� ��������� m,M ∈ R+ ���
 �
�� 0 	= m ��	 m‖η‖ ≤ ‖[η]‖E/U(x) ≤ M‖η‖ ��� �



(x, η) ∈ V × Es�

����	� ��� S(x) "� �
��� "� ����	 ��'� !� �
�� �� (�
���	
� ��%%� 
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 ��� ��
��
�� G = G(x)� ��
�� 
� ������ "� ��� ������
�
��

[a, b]× Es

p ��p([a, b]× E)
(p◦S)−1

�� [a, b]× E2.

!� 
� ���	
 ��	� G(x0) 
� 	� 
����
��
�� 
� L(Es, E2)� !� 
� ���� 	 ����������� �� ����	

��* ��	� G(x) 
� 	� 
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��
�� 
� 	 ������ ��
��"�
���� V �� x0� ����
�� ��	� ���
� 	
�

�����	��� m,M ∈ R+ ���� ��	� 0 	= m 	�� m‖η‖ ≤ ‖G(x)η‖ ≤ M‖η‖ ��
 	�� (x, η) ∈
V × Es� �



���������	
�

�� �� �����	
�� 
�� 
� �
������ ��������	
� ���
��
�� �� ���


���� ����	�

� ���	
���� �� ���
	���

���������
� ���
����� �� ���� !� �� "�#$�

�� �� �
��
%
 
�� �� &����'���� �������� �� ����� ����
���� (��)�� ��
��	�� *�'�������� ���+�

$� *� �����,��� 
�� *� *��
���� ��� ���������
� ��������� �� � �����
� �����
����
���
�� �����
�� 
�

�
���� ����� �
����
���� �� ���������
� ���
����� ��� ��--#!� ��-"�.��

+� /� 0� 0
�'��
��� 
�� (� *� 1�'
��)���� ����
��� 
���� 	��
�� 
� 
���
����
����
���
 ���
�� 
����

������� 
�2���%��
� /������ �������
� ��
�� �� ���� !� $ "#+�

 � � ��� �������
�� 
�������
�� ��� ����
��� 
���� 	��
��� 
�2���%��
� /������ �������
� ��
��

�� ����3!� �--"�$$�

3� �� �� 0�����%��� 
�� �� 4�,������ ������ �� ���
���� �
������
�
 �����
���� /�5�
)6&���� ��) 7����

�-  �

#� �� �� �
����� � ���
�� 
���� ��
��
��
��� ����� ����� /
��� 8�� �� ����-!�  ��" ���

.� �� ����� �������� �� �
��	��
� ����
���� 82���%��69���
%� �-- �

-� ��6
�� �%����� ��� 
�� ��
��� �� �����
��� ������	
��� 0�	2��� ������ ��'��	
�
���� ��� �:
���� ��

�;��
�:	�� ��� �������� ��� ��-��!� �++"�+3�

��� �� <����� �
������ ����
�� ��� 
���
����
����
���
 ����� ������� �����
� �= ���������
� 5��	���� ��

��-.-!� ��#"����

��� 1� �� <�
�>��
� ��� �������
�� ����
� ������ ��� ����� ��������
�
���� 
�
��� �	��� /
��� 8��� ���

��-.-!�  3�" -��

��� �� &
������ �
��	��
� ����
���� 0
	'���%� ?��,������ *����� �����

�$� �� &�����  ������
� ������ �� ���


���� ����	�

� �����
���!� 4������ ����� �� /
���	
����� .+��

������6&�����'��%6��) 7���@ 82���%��69���
%� A9� $+. 2�� �-.��

�+� 8� 4
�%� "���������
� �� �
������
�
 ��������� 5�
��
�� 
�B�� �� /
���	
����@ �-�� ��) 7����

82���%���� �---�

� � �� /� 4��� #��������
�� �� ������ ���
��
��� 5�
��
�� 
�B�� �� /
���	
����@ ��.� 82���%���� ���$�

�3� 0� /�0���� ��� �������
�� ��� ��� ��������������

�� ��
��� 
�
��� �	��� /
��� 8��� ��� ��-..!�

�- "��$�

�#� 9� C� /�����,� $� ��� ����
	
� ���� �� ����� �� 
���
�� �� ��
��
��� �� ������ ����� ����
�
 �
������
�


�����
���� /
��� ?881 8'����� �� ��--�!� $+$"$3��

�.� (� *� 1�'
��)���� ��� �������� 
���� ��� ����
�
 �
������
�
 �����
���� 82���%��� �-.#�

�-� � �� �	������ �������� �� ���������� �� 
�%��
��� ���
��
��� �22���
'�� ��
�� 	
 ��--$!� ��-"

� ��

��� �� 8
�
	��� &���� ������' ��� ���
�� 
���� ��� (��� ����
���� ����� 4����� /
��� 8��� �� ��--�!�

��� 5� 1� 8��� 
�� 7� 7��� )����
�� �� �%�
��
����� �����
���!� �22���� /
���	
���
� 8������� �+$� ��)

7���� 82���%��� B���� 3#� 2�� �����

��� 
� 
�	 ������ ����
��
�� �� 5������� �--��

��




